EVT0004716
Page 10

SPECIFICATIONS

1. These contracts are established to obtain Stationary Impact Attenuators and Repair Parts to the Kansas Department of Transportation (KDOT).

2. Contract Period:  January 1, 2017 through December 31, 2021 unless prematurely terminated as provided for below.

3. Termination:   Either party may terminate the contract, without cause, on the anniversary date, December 31, with sixty (60) Days written prior notice, to the Procurement Officer.

4. Attenuators shall reasonably comply with the attached specification PR 111611 dated 11/18/2011.

5. Shipping and F.O.B. Point:  Prices are F.O.B. DESTINATION TO ANY LOCATION IN KANSAS, PREPAID AND ALLOWED (included in the contract price), which means delivered to a state agency's receiving dock or other designated point without additional charge.  Shipments shall be made in order to arrive at the destination at a satisfactory time for unloading during regular working hours between 8:00 a.m. and 4:30 p.m., Monday through Friday, except holidays.

6. Industry Standards:  If not otherwise provided, materials or work called for in this contract shall be furnished and performed in accordance with best established practice and standards recognized by the contracted industry and comply with all codes and regulations which shall apply.

7. Indefinite Quantity Contract:  This is an open-ended contract between a vendor and the State to furnish an undetermined quantity of a good or service in a given period of time.

8. Prices:  Prices shall remain firm for the entire contract period. Prices shall be net delivered, including all trade, quantity and cash discounts.  Any price reductions available during the contract period shall be offered to the State of Kansas.  Failure to provide available price reductions may result in termination of the contract.

9. Warranty:  Standard Manufacturer's Warranty, for all equipment bid, is to be considered a part of these conditions.  All defective items shall be replaced free of charge.

Contractor shall provide a ONE (1) year PARTS AND LABOR warranty on all devices and/or labor provided.

The contractor will be the sole point of contact on any problems with the equipment or systems during the warranty period.

The contractor shall be responsible for all work put in under these specifications.  The contractor shall make good, repair and replace, at the contractor's own expense, as may be necessary, any defective work, material acceptance, if in the opinion of agency and/or Division of Purchases said defect is due to imperfection in material, design, or workmanship for the warranty period specified.

10. Certification of Materials Submitted:  The response to this IFB, together with the specifications set forth herein and all data submitted by the contractor to support the response including brochures, manuals, and descriptions covering the operating characteristics of the item(s) proposed, shall become a part of any contract between the successful bidder and the State of Kansas. Any written representation covering such matters as reliability of the item(s), the experience of other users, or warranties of performance shall be incorporated by reference into the contract.



STATE OF KANSAS
KANSAS DEPARTMENT OF TRANSPORTATION

SPECIFICATIONS
FOR
STATIONARY ATTENUATOR
(CRASH CUSHIONS) and/or REPAIR PARTS

The following specifications shall apply to purchases of STATIONARY ATTENUATOR (CRASH CUSHIONS) and/or REPAIR PARTS for the Kansas Department of Transportation. The State reserves the right to waive minor technicalities under this specification. Federal and State laws supersede any conflicting part of this specification.

The unit shall be a current model, new and unused, under standard production by the manufacturer.  Parts shall be available for older models which are still in service.  All parts utilized on the unit shall be new and unused.  Parts need to be delivered within 10 business days.  Provide a list of parts that will exceed 10 business days delivery.

The bidder agrees, if his proposal is accepted, to guarantee the design, material and workmanship of the unit bid according to the standard factory warranty, or for one year, whichever is greater. A copy of the warranty shall accompany the bid. Warranty coverage shall include costs of transporting the unit to and from dealer's shop, when outside a 150 mile radius of the delivery point.

Complete specifications and literature and repair parts list on the unit bid shall accompany the bid. Any exceptions to these specifications shall be indicated on the bid or on a separate attachment to the bid, labeled as such.

Any “equal” or “equivalent” items for brand specified components shall be listed with the bid package. Complete description and literature on the “equal”/“equivalent” components shall be supplied for consideration by the KDOT.  The burden of proof regarding “equal”/“equivalent” items shall be upon the vendor.

TECHNICAL SERVICE:  The services of a competent technician, thoroughly trained in the installation, operation and servicing of the unit, shall be furnished for a minimum period of one working day for each delivery point. The technician shall instruct the KDOT personnel in the proper installation, safety, operation and preventive maintenance of the unit and to test the unit for satisfactory performance. This training would be by request per Area Crew.  There are 26 Area Crews located across the state such as Kansas City and Wichita.  This instruction shall be performed on a date to be agreed upon by the District Superintendent.

PRINTED MANUALS:  One shop manual, and parts manual shall be supplied with each unit. The manuals shall fully and clearly cover all components of the unit.  

STATIONARY ATTENUATOR
(CRASH CUSHIONS) and/or REPAIR PARTS

SHOW MFG. & MODEL OFFERED _________________________________________

		EXCEPTIONS TO
MFG. CODE	 SPECIFICATION	SPECIFICATIONS

GENERAL:


[bookmark: OLE_LINK1][bookmark: OLE_LINK2]_____________	_____________	This specification describes a Multi Award Contract to supply the Stationary Attenuator Repair Parts and/or Stationary Attenuator (Crash Cushion) System for permanent installation or temporary work zones.

_____________	_____________	KDOT has several different models of Stationary Attenuators in service.  KDOT needs to be able to purchase repair parts for these proprietary systems.

 _____________	_____________	This system shall provide impact protection to the motorists from the exposed ends of concrete barriers, fixed objects, or other obstacles.

_____________	_____________	The Stationary Attenuator Repair Parts and /or Stationary Attenuator (Crash Cushion) System shall have successfully passed, both the required and optional tests that fall under the guidelines of NCHRP Report 350 Test Level 3, and/or MASH 350. 

_____________	_____________	Certified test results and associated test reports and films produced in compliance with NCHRP report 350 and /or MASH 350 report not listed on KDOT prequalified list shall be submitted with bid

PRODUCT MODELS

_____________	_____________	KDOT has the following Attenuators (Crash Cushions) and Barrel systems in service:
		G-R-E-A-T (Trinity)
		TRACC (Trinity)
		CAT – 350 (Trinity)
		TREND (Energy Absorption)
		REACT (Energy Absorption)
		Quad Guard (Energy Absorption)
		Quad Guard II (Energy Absorption)
		ACZ-350 (Energy Absorption)
		ABSORB  350 (Highway Safety Corp.)
		TAU-II (Highway Safety Corp.)
		SCI (SMART CUSHSION) 
		(Work Area Protection Corp.)

GALVANIZING:

_____________	_____________	All exposed steel surfaces on the Attenuators shall be galvanized. Galvanizing shall be applied after the proper preparation of all steel components. The metal preparation shall include cleaning, degreasing the metal surface. 
STRIPING:

_____________	_____________	The surface of the Impact Frame facing oncoming traffic, shall display a black on yellow inverted “V” chevron pattern.  Color bands are recommended to be (4 in.) wide.



		EXCEPTIONS TO
MFG. CODE	 SPECIFICATION	SPECIFICATIONS

DESTINATIONS:

_____________	_____________	Deliveries are to be made to the Kansas Department of Transportation location noted on each Purchase Order.

_____________	_____________	A complete list of the vendors repair parts and pricing for their models shall be provided.

_____________	_____________	A complete list of the vendors Attenuator system units and pricing shall be provided. 



Contract #42559

Contractor:	Trinity Industries, Inc.
	dba Trinity Highway Products, LLC
	2525 North Stemmons Freeway
	Dallax, TX  75207-2401
	Vendor ID:	0000162105
	FEIN:	42-1642965
	Contact Person:	Tom J. Aslin
	E-Mail	tommy.aslin@trin.net
	Toll Free Telephone:	800-527-6050
	Local Telephone:	214-631-4220
	Fax:	214-559-8423



PRICE SCHEDULE

COMPLETE ATTENUATORS (PURCHASE)

MFG	MODEL	UNIT PRICE

Trinity Highway Products	CAT-350	$3,335.00

Trinity Highway Products	TRACC	$14,430.00

Trinity Highway Products	SHORTRACC	$10,500.00

Trinity Highway Products	FASTRACC	$17,510.00

ATTENUATOR REPAIR PARTS

Trinity Highway Products	CAT-350

Trinity Highway Products	TRACC

Trinity Highway Products	SHORTRACC

Trinity Highway Products	FASTRACC


Click here for pricing





Exceptions

Regarding Page 3 of KDOT’s contract document, #EVT0004716, Trinity Highway Products, LLC (“THP”) notes the following exception(s):

4th Specification: “The Stationary attenuator Repair Parts and/or Stationary Attenuator (Crash Cushion) System shall have successfully passed, both the required and optional tests that fall under the guidelines of NCHRP Report 350 Test Level 3, and/or MASH 350.”  

Exceptions:
1)  The reference to “MASH 350” should be corrected to read “MASH,” as NCHRP Report 350 and MASH represent separate testing guidelines/criteria.

2)  THP currently sells the TRACC and CAT systems to KDOT under this contract. Please note that these systems were each tested to and successfully passed the applicable tests per NCHRP 350, as listed below. However, consistent with NCHRP Report 350 guidance, as set forth in Section 3.1, THP did not conduct optional tests with a 700C vehicle. Other tests listed in the applicable NCHRP Report 350 test matrix may have been waived because prior NCHRP Report 230 tests that were conducted on substantially similar versions of these systems provided sufficient data. 

TRACC: In FHWA Letter CC-54, FHWA states that “…we conclude that the TRACC, as designed and tested, meets the evaluation criteria for an NCHRP Report 350 TL-3 attenuator and may be used on the National Highway System (NHS) as a permanent or temporary crash cushion.” Subsequent responses extended eligibility to TL-2 versions of this system as well. 

Tests:
3-30	Conducted
3-31	Conducted
3-32	Conducted
3-33	Conducted
3-37	Conducted
3-38	Conducted
3-39	Conducted

CAT:  FHWA Letter CC-33 states, in part, that “This review indicated that the CAT has successfully passed all required tests and is acceptable for use on the National Highway System (NHS) when such use is proposed by a highway agency.” Based on the following tests, FHWA has deemed the CAT system eligible for federal-aid reimbursement as an NCHRP Report 350 TL-3 crash cushion. 

Tests:
3-31	Conducted
3-32	Conducted
3-33	Conducted
3-34	Conducted
3-37	Conducted
3-39	Conducted



Contract #42556

Contractor:	Roadsafe Traffic Systems, Inc.
	805 N. Haverhill Rd.
	El Dorado, KS  67042
	Vendor ID:	0000048288
	FEIN:	26-1084418
	Contact Person:	Adam Brenton
	E-Mail	abrenton@roadsafetraffic.com
	Local Telephone:	316-322-3070
	Cell Phone Number:	316-253-4990
	Fax:	316-321-1267

PRICE SCHEDULE

COMPLETE ATTENUATORS (PURCHASE)

MFG	MODEL	UNIT PRICE

Work Area	IL-3 with concrete anchor	$20,150.00

Smart Cushion	IL-3 with asphalt anchor	$20,500.00

	IL-2 with concrete anchor	$15,825.00

	IL-2 with asphalt anchor	$16,175.00


ATTENUATOR REPAIR PARTS


See following price list


	





[image: N:\Purchasing\BIDEVENTS\EVT0004716\Contractors and Pricing\Roadsafe El Dorado_4371_0001_Page_1.jpg]


[image: N:\Purchasing\BIDEVENTS\EVT0004716\Contractors and Pricing\Roadsafe El Dorado_4371_0001_Page_2.jpg]


[image: N:\Purchasing\BIDEVENTS\EVT0004716\Contractors and Pricing\Roadsafe El Dorado_4371_0001_Page_3.jpg]


Contract #42557

Contractor:	John Thomas, Inc.
	1560 Lovett Dr.
	Dixon, IL  61021-9623
	Vendor ID:	0000026314
	FEIN:	34-1857196
	Contact Person:	Anne Bruousil
	E-Mail	abrousil@jtitraffic.com
	Toll Free Telephone:	888-447-7263
	Local Telephone:	815-288-2343
	Fax:	815-288-3432

PRICE SCHEDULE

Click here for pricing on complete attenuators and repair parts




[bookmark: _GoBack]			



trinity.pdf
TRINITY HIGHWAY PRODUCTS, LLC w“*‘“-" &

Quote Ent:  L1/15/16 Sales Quotation # KS-CAT350 h | 4
Ship PlIt: 16
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
For: CONTRACTOR Project:
CAT-350 PRICING
(SYSTEM & PARTS)
p EVT0004716
p— PO: REQUISITION: 48597
Contact: 7777777 Comments:

Ship: WILL ADVISE DELIVERY

ADDRESS OR JOBSITE LOCATIO Tax State: 16- KANSAS

Use State: 16- KANSAS

, KS 67024 Tax Exempt:  Yes
Sales Person: 257 - C. DUNN Exempt
Entered By: ¢ dunn Est. Trk Lds: 1.00
Ship Partial:  No
Certs: 3 - With Truck, Email Ship Via
Let Date: 11/17/16 I—%SCT
Rel to Sched: n/a
Init Arrival: 1/1/17
SO Complete: 12/29/17 Frt: 1 - Included

Credit:  Net 30 days - Pending Credit Appro
Credit Rmks:

Pl Qty Description UuomM Price Ext Price Wi Ext Wt
1 1.00 CAT-350 350 TL3 SS-245 EACH 3,335.00 3,335.00 1,975.00

Header Part #: 0050024 5B
To Include .
1 500245B CAT-350 350 TL3 SS-245 1,975.00 1,975.00

2 31G  12/12'6/0 CAT

2 130A  10/12'6/5'10:6'8/SP CAT

6 740G 4'6 T.S.-CAT & ET

6 769G 1/4 X18 X24 SOIL PL/UNIY

1 983G 10/NOSE PLATE/CAT/ROLLED
2 984G 10/SIDE PLATE CAT

1 62988 CAT-350 BUNDLED WOOD

1 9852A  STRUT & YOKE ASSY

1 9915A  SPACER CHANNEL CAT

1 43660G  CAT CAN S§S8245,545,548,552

PI Qty Description UOM Price Ext Price Wit Ext Wt
2 1.00 5/8" GR HEX NUT EACH 0.35 0.35 0.17
Header Part #: 003340G
To Include
1 3340G 5/8" GR HEX NUT 0.17 0.17
PI Qty Description UoM Price Ext Price Wit Ext Wt
3 1.00 5/8" X 1.25" GR BOLT EACH 0.35 0.35 0.19
Header Part #: 003360G
To Include
1 3360G 5/8"X1.25" GR BOLT 0.19 0.19
Pl Qty Description UuomM Price Ext Price Wt Ext Wt

rfchelsea 11/15/16 3:10:39PM





Y Prog,,
TRINITY HIGHWAY PRODUCTS, LLC S
Quote Ent:  11/15/16 Sales Quotation # KS-CAT350 WP
Ship PH: 16 Q otat
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
Pl Qly Description UOM Price Ext Price wt Ext Wi
6 100 10/NOSE PLATE/CAT/ROLLED EACH 130.00 150.00 38.10
Header Part #: 00983G
To Include
] 983G 10/NOSE PLATE/CAT/ROLLED 38.10 38.10
Pl Oty Description UuoM Price Ext Price Wi Ext Wt
7 1.00 10/SIDE PLATE CAT EACH 115.00 115.00 52.80
Header Part #: 00984G
To Include
1 984G 10/SIDE PLATE CAT 52.80 52.80
P Oty Description UoM Price Ext Price Wi Ext Wi
8 1.00 12/12'6/0 CAT EACH 275.00 275.00 95.00
Header Part #: 0031G
To Include
I 31G 12/12'6/0 CAT 95.00 95.00
Pl Oty Description UOM Price Ext Price Wi Ext Wi
9 1.00 10/12'6/5'10:6'8/SP CAT EACH 390.00 390.00 128.00
Header Part #: 00130A
Te Include
1 130A 10/12'6/5'10:6'8/SP CAT 128.00 128.00
Pl Oty Description UoM Price Ext Price Wt Ext Wt
10 1.00 WD 3'6 POST CAT #1 EACH 35.00 35.00 3100
Header Part #: 003075B
To Include
1 3075B WD 3'6 POST CAT #1 31.00 31.00
P Oty Description uom Price Ext Price Wit Ext Wt
11 1.00 WD) 3'6 POST CAT #2-6 EACH 45.00 45.00 47.00
Header Part #: 003074B
To Include
1 3074B WD 3'6 POST CAT #2-6 47.00 47.00
Pl Oty Description uoM Price Ext Price Wi Ext Wt
12 100 WD 6'0 POST 6X8 CAT #3-6 EACH 85.00 85.00 114.00
Header Part #: 0031188
To Include
} 3118B WD 6'0 POST 6X8 CAT 3-6 114.00 114.00
Pl Qty Description UOM Price Ext Price Wt Ext Wt
13 1.00 WD BLK 2.5X7.5X14 CAT #1 EACH 8.00 8.00 7.00

Header Part #: 003100B

To Include

1 3100B WD BLK 2.5X7.5X14 CAT | 7.00 7.00
PI Qty Description UoM Price Exf Price wt Ext Wi
14 1.00 WD BLK 5.5X7.5X14 CAT #2-6 EACH 11.85 11.85 16.00

Header Part #: 0031018

To Include
! 3101B WD BLK 5.5X7.5X14 CAT 2-6 16.00 16.00

rfchelsea 11/15/16 3:10:39PM






ay Prod,,q
o

TRINITY HIGHWAY PRODUCTS, LLC S

-
-

Quote Ent:  11/15/16 Sal . KS-CA ‘
Quote nt: 11 ales Quotation # KS-CAT350 | 4
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
P1 Oty Description UOoM Price Ext Price Wi Ext Wt
15 1.00 4'6 T.S.-CAT & ET EACH 96.25 06.25 §5.00
Header Part #: 00740G
To Include
I 740G 4'6 T.S,-CAT & ET 85.00 85.00
PI Qty Descripfion uoM Price Ext Price Wt Ext Wt
16 1.00 TS 8X6X3/16X6-0" SLEEVE EACH 135.00 135.00 108.00
Header Part #: 00749G
To Include
i 749G TS 8X6X3/16X6'-0" SLEEVE 108.60 108.60
PI Oty Description uomM Price Ext Price Wi Ext Wt
17 1.00 1/4 X18 X24 SOIL PL/UNIV EACH 37.55 37.55 30.64
Header Part #: 00769G
To Include
1 769G 1/4 X18 X24 SOIL PL/UNIV 30.64 30.64
PI Qty Description vo Price Ext Price Wi Ext Wt
18 1.00 2" X 5 1/2"° PIPE (LONG) EACH 15.60 15.00 1.70

Header Part #: 00705G
To Include

| 705G 2" X 5 1/2" PIPE (LONG) 170 1.70
Pl Qty Description oM Price Ext Price wt Ext Wi
19 1.00 5/8"X8"X8" BEAR PL/OF HOL EACH 20.00 20.00 12.00
Header Part #: 00782G
To Include
1 782G 5/8"X8"X8" BEAR PL/OF HOL 12.00 12.00
Pl Oty Description UoM Price Ext Price Wi Ext Wt
20 1.00 CBL 3/4X8'0/DBL SWG EACH 200.00 200.00 16.00
Header Part #: 003012G
To Include
i 3012G CBL 3/4X8'0/DBL SWG 16.00 16.00
PI Oty Description UuoM Price Ext Price Wt Ext Wt
21 1.00 STRUT & YOKE ASSY EACH 100.00 100.00 36.90
Header Pari #: 009852A
To Include
] 9852A STRUT & YOKE ASSY 36.90 36.90
Pl Oty Description oM Price Ext Price wt Ext Wi
22 1.00 ANGLE STRUT - 6-6" EACH 55.00 55.00 33.80

Header Part #: 0033875G
To Include

I 33875G HBA-3"ANG STRUT 2-HL 6'6" 33.80 33.80
Pl Oty Description UoM Price Ext Price Wi Ext Wt
23 1.00 SPACER CHANNEL CAT EACH 300.00 300.00 48.20

Header Part #: 009915A

To Inchide
1 9915A SPACER CHANNEL CAT 48.20 48.20

richelsea 11/15/16 3:10:39PM






TRINITY HIGHWAY PRODUCTS, LLC -@“*‘““ b %,

Quote Ent:  11/15/16 Sales Quotation # KS-CAT350 A | 4
Ship Pit: 16 Q
25235 Stenmunons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
P1 Oty Description uom Price Ext Price Wit Ext Wt
24 1.00 10/BENT PLATE SLEEVE EACH 60.00 60.00 6.80
Header Part #: 009916A
To Include
' 1 9916A 10/BENT PLATE SLEEVE 6.80 6.80
PI Qty Description uoM Price Ext Price Wt Ext Wt
25 1.00 6" SLEEVE 6 X 8 CAT EACH 30.00 30.00 8.70
Header Part #: 009921G
To Include
1 9921G 6" SLEEVE 6 X 8 CAT 8.70 8.70
Pl Qty Description oM Price Ext Price wi Ext Wt
26 1.00 3/16" X2 X 10 PLATE EACH 5.00 5.00 1.12
Header Part #: 0019259G
To Inchude
i 19259G 3/16" X 2 X 10 PLATE 1.12 1.12
PI Qty Description UoM Price Ext Price Wt Ext Wt
27 1.00 1/2X 3 X 7POST PLATE EACH 15.00 15.00 3.00

Header Part #: 0019261G
To Include

I 19261G 1/2 X3 X 7POST PLATE 3.00 3.00
Pl Oty Description UuomM Price Ext Price Wit Ext Wt
28 1.00 1" X 212" PIPESLY CAT EACH 16.00 10.00 0.35
Header Part #: 0019271 G
To Include
| 19271G 1" X 2 1/2" PIPE SLV CAT 0.35 0.35
P1 Oty Description oM Price Ext Price Wi Ext Wi
29 1.00 3/8"X24.5" ROD 2" THR E/E EACH 5.00 5.00 0.60
"Header Part #: 003275G
To Include
i 3275G 3/8"X24.5" ROD 2" THR E/E 0.60 0.60
PI Qty Description uom Price Ext Price Wt Ext Wi
30 1.00 5/8"X1.75" HEX BOLT CAT EACH 3.00 3.00 0.23
Header Part #: 003395G
To Include
i 3395G 5/8"X1.75" HEX BOLT CAT 0.23 0.23
Pl Oty Description Uom Price Ext Price Wt Ext Wt
31 1.00 CAT CAN HDW 2 TUBE $58-546 EACH 635.00 635.00 161.13
Header Part #: 0033794 A
To Inclade
I 33794A CAT CANHDW 2 TUBE SS546 161.13 161.13
PI Qty Description uoM Price Ext Price Wt Ext Wt
32 1.00 CAT CAN §8245,545,548,552 EACH 735.00 735.00 166.80
Header Part #: 0043660G
To Include

I 43660G CAT CAN S8245,545,548,552 166.80 166.80

richelsea 11/15/16 3:10:39PM






TRINITY HIGHWAY PRODUCTS, LLC

Quote Ent: 11715716 Sales Quotation # KS-CAT350
Ship Pit: 16
2525 Stemmons Frwy Dailas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
PI Oty Description UuomM Price Ext Price Wt Ext Wt
33 1.00 3/8" ROUND WASHER ¥844 ST EACH 0.20 0.20 0.02
Header Part #: 003255G
To Include
1 3255G 3/8" ROUND WASHER F844 ST 0.02 0.02
PI Oty Description UOM Price Ext Price Wt Ext Wt
34 1.00 3/8"X2" LAG SCREW A307 EACH 1.50 1.50 0.10
Header Part #: 003263G
To Include
1 3263G 3/8"X2" LAG SCREW A307 0.10 G.10
P Qty Description uomM Price Ext Price wt Ext Wi
35 1.00 5/8" WASHER (¥844 A/W) EACH 0.25 0.25 0.09
Header Part #: 003300G
To Include
1 3300G 5/8" WASHER F844 A/W 0.09 0.09
PI Oty Description UOM Price Ext Price Wt Ext Wi
36 1.00 3/16"X1.75"X3" WASHER EACH 1.00 1.00 0.26
Header Part #: 003320G
To Include
] 3320G 3/16"X1.75"X3" WASHER 0.26 0.26
Pl Oty Description UoM Price Ext Price Wit Ext Wt
37 1.00 5/8" X 1.5" HEX BOLT (A307) EACH 0.50 0.50 0.19
Header Part #: 003380G
To Include
] 3380G 5/8"X1.5" HEX BOLT A307 0.19 0.19
PI Oty Description UOM Price Ext Price Wi Ext Wt
38 1.00 5/8" X7.5" HEX BOLT A307 EACH 2,00 2.00 0.71
Header Part #: 0063478G
To Include
1 3478G 5/8" X7.5" HEX BOLT A307 0.7 0.71
PI Oty Description UoM Price Ext Price Wt Ext Wt
39 1.00 5/8"X9.5" HEX BOLT A307 EACH 2.50 2.50 0.87

Header Part #: 003497G
To Include

1 3497G 5/8"X9.5" HEX BOLT A307 0.87 0.87
PI Qty Description UOM Price Ext Price Wt Ext Wt
40 1.00 5/8"X25" GR BOLT A307 EACH 6.00 6.00 1.80
Header Part #; 003650G
To Include
! 3650G 5/8"X25" GR BOLT A307 1.80 1.80
PI Oty Description uoM Price Ext Price wi Ext Wi
41 1.00 1" ROUND WASHER (F844) EACH 0.50 0.50 0.19
Header Part #: 003900G
To Include

1 3900G 1" ROUND WASHER F844 0.19 0.19

rfchelsea 11/15/16 3:10:39PM






TRINITY HIGHWAY PRODUCTS, LLC @‘“‘." &

Quote Ent: 11/15/16 les ion - T350
ShipPlt: 16 Sales Quotation # KS-CA ‘ '
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
Pl Oty Description UOM Price Ext Price wt Ext Wit
42 1.00 1" HEX NUT (A563) EACH 1.50 1.50 0.28
Header Part #: 003910G :
To Include
1 3910G 1" HEX NUT A563 0.28 0.28
PI Qty Description UOoM Price Ext Price Wi Ext Wt
43 1.00 3/8" HEX NUT A563 GRADE B EACH 0.25 0.25 0.02
Header Part #; 004252G
To Include
1 4252G 3/8" HEX NUT A563 GRADE B 0.02 0.02
PI Oty Description UuoM Price Ext Price Wt Ext Wt
44 1.00 3/8" LOCK WASHER EACH 0.15 0.15 0.01
Header Part #: 004258G
To Include
1 4258G 3/8" LOCK WASHER _ 0.01 0.01
PI Qty Description UOM - Price Ext Price Wit Ext Wi
45 1.00 5/8"X24" HEX BOLT A307 EACH 6.00 6.00 1.90
Header Part #: 004640G
To Include
1 4640G 5/8"X24" HEX BOLT A307 1.90 1.90
Total Price(USD) 6,929.70 3,232.26
Weight is in Pounds
Qualifications

* Trinity Highway Products, LLC("Seller") reserves the right to substitute agency approved alternate synthetic or wood block outs in liew of King
Blocks should it be necessary . Price of said substitute block outs would be at the same price as King Blocks or package with King Blocks, If this
quote has no King Block outs disregard.

1. THE CAT-350 1S A DOUBLE SIDED, ENERGY-ABSORBING, REDIRECTIVE AND GATING GUARDRAIL END TERMINAL.
2. CONSULT LOCAL STATE QPL/APL FOR PRODUCT APPROVAL & REQUIREMENTS BEFORE ORDERING.

3. FTHE CAT-350 SYSTEM AND ITS STEEL COMPONENTS ARE ONLY AVAILABLE WITH A GALVANIZED COATING.
WEATHERING STEEL OR POWDERCOATING IS NOT AN OFFERED OPTION,

4. MANUFACTURER SUGGESTS CUSTOMER TO PROVIDE REFLECTORIZATION OF THE TERMINAL.

richelsea 11/15/16 3:10:39PM






%

TRINITY HIGHWAY PRODUCTS, LLC _ -@“‘*‘."""””%

QuoteRt L1716 Sales Quotation # KSDOT-TRACC2017 h | 4
Ship Plt: 16
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
For: KSDOT Project:

TRACC PRICING

SYSTEMS & PARTS

; EVT0004716
e b 5

Cust: PO: REQUISITION 48597
Contact: 7777777 Comments:

Phone #: QNPT FIIN9

Ship: WILL ADVISE DELIVERY ADDRI

OR LOEATION Tax State:  [6- KANSAS
Use State: 16 - KANSAS
, KS 67024 ‘ Tax Exempt:  Yes
Sales Person: 257 - C. DUNN Exempt #:
Entered By: ¢ dunn Est. Trk Lds: 1.00

Ship Partial: No
Certs: 3 - With Truck, Email

Let Date: 11/17/16 e
Rel to Sched: n/a "
Init Arrival: 1/1/17
SO Complete: 12/29/17 Frt: 1 - Included
Credit:  Net 30 days - Pending Credit Appro
Credit Rmks:
Pl Qty Description uomM Price Ext Price Wit Ext Wt
1 1.00 TRACCOS (TL3) - 24" WIDE, 21' LONG EACH 14,430.00 14,430.00 3,219.06
Header Part #: 43TL3TRACCOS5
To Include
4 4830B TRACC REFL SHT17X17 Y/BT> 0.04 0.16
] 6531B TRACC NOSEPIECE YELLOW 16.50 16.50
1 25980A TRACCO05-CMPL/ASSY SS1002 3,202.40 3,202.40
Pl Qty Description uom Price Ext Price Wt Ext Wt
2 1.00 SHORTRACCO5 (TL2) - 24" WIDE, 14 EACH  10,500.00 10,500.00 2,212.06
LONG
Header Part #: 43TL2TRACCOS
To Include
4 4830B TRACC REFL SHT17X17 Y/BT? 0.04 0.16
1 6531B TRACC NOSEPIECE YELLOW 16.50 16.50
1 25997A SHORTRACC-CMP ASSY/SS10( 2,195.40 2,195.40
PI Qty Description UoM Price Ext Price Wit Ext Wt
3 1.00 FASTRACCO05 (TL3+) 24" WIDE, 26' EACH  17,510.00 17,510.00 4,019.76
LONG

Header Part #: 43FASTRACCO0S
To Include

4 4830B TRACC REFL SHT17X17 Y/BT? 0.04 0.16

1 6531B TRACC NOSEPIECE YELLOW 16.50 16.50

1 25936A FASTRACC-CMP ASSY/SS1008 4,003.10 4,003.10

Pl Qty Description uomM Price Ext Price Wt Ext Wt
4 1.00 TRACCO05-SLED WELDMENT EACH 1,515.00 1,515.00 169.20

rfchelsea 11/15/16 4:10:04PM ‘





TRINITY HIGHWAY PRODUCTS, LLC g

Quote Ent: 1136 Sales Quotation # KSDOT-TRACC2017 h | 4
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax; 214-589-8423
Pl Oty Description UomM Price Ext Price wt Ext Wt
4 1.00 TRACCO5-SLED WELDMENT EACH 1,515.00 1,515.00 169.20
Header Part #: 530025970A
To Include
1 25970A TRACCO0S-SLED WELDMENT 169.20 169.20
Pl Oty Description Uom Price Ext Price Wit Ext Wt
5 1.00 TRACC-FRAME WELDMENT EACH 285.00 285.00 56.60
Header Part #: 530025971A
To Include
i 25971A TRACC-FRAME WELDMENT 56.60 56.60
PI Qty Description oM Price Ext Price Wt Ext Wi
6 1.00 TRACC-2 BAY FNDR PNL MOD EACH 115.00 115.00 46.20
Header Part #: 530025973A
To Include
] 25973A TRACC-2 BAY FNDR PNL MOE 46.20 46.20
PI Oty Description UuoM Price Ext Price wt Ext Wt
7 1.00 TRACC-1 BAY FNDR PNL MOD EACH 85.00 85.00 26.40
Header Part #: 530025974A
To Include
1 25974A TRACC-1 BAY FNDR PNL MOL 26.40 26.40
Pl Oty Description uomM Price Ext Price Wit Ext Wt
8 1.00 TRACC-SHREDDER ASSEMBLY EACH 100.00 100.00 6.00
Header Part #: 530025975A
To Include
1 25975A TRACC-SHREDDER ASSEMBL 6.00 6.00
PI Oty Description UoM Price Ext Price Wit Ext Wt
9 1.00 TRACC-END SHOE RIGHT EACH 75.00 75.00 10.40
Header Part #: 5300259 54A
To Include
1 25954A TRACC-END SHOE RIGHT 10.40 10.40
Pi Qty Description UoM Price Ext Price Wt Ext Wt
10 1.00 TRACC-END SHOE LEFT EACH 75.00 75.00 10.40
Header Part #: 5300259 55A
To Include
I 25955A TRACC-END SHOE LEFT 10.40 10.40
Pl Qty Description uoM Price Ext Price Wi Ext Wt
1 1.00 TRACC-DOUBLER PL X 385" EACH 20.00 20.00 5.50
Header Part #; 530025960G
To Include
1 25960 TRACC-DOUBLER PL X 38.5" 5.50 5.50
PI Qty Description uom Price Ext Price Wt Ext Wt
12 1.00 STRACC-STG3 DBLR PL@11.5" EACH 15.00 15.00 1.60
Header Part #; 5300259966
To Include
I 25996G STRACC-STG3 DBLR PL@11.5' 1.60 1.60

rfchelsea 11/15/16 4:10:04PM






TRINITY HIGHWAY PRODUCTS, LLC 5y P'ﬂt

Quote Ent:  11/15/16 Sales Quotation # KSDOT-TRACC2017 . | 4
Ship PIt: 16
2525 Stemmons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
PI Qty Description uoM Price Ext Price wi Ext Wt
13 1.00 TRACC-SLOT PLATE WELDMENT EACH 20.00 20.00 0.35
Header Part #: 530025976A
To Include
1 25976A TRACC-SL.OT PLATE WELDMI 0.35 0.35
Pl Qty Description yom Price Ext Price wi Ext Wt
14 1.00 TRACC-WSHR .25X3"X2.25" EACH 10.00 10.00 0.51
Header Part #: 530019737G
To Include
1 19737G TRACC-WSHR .25X3"X2.25" 0.51 0.51
Pl Qty Description uvom Price Ext Price wt Ext Wt
15 1.00 TRACC HITCH PIN CLIP EACH 0.15 0.15 0.03

Header Part #: 530003253G
To Include

] 3253G TRACC HITCH PIN CLIP 9GA .03 (.03
Pl Qty Description oM Price Ext Price Wt Ext Wt
16 1.00 5/8" GR RECESSED NUT EACH 0.35 0.35 0.17

Header Part #: 530003340G
To Include

1 3340G 5/8" GR HEX NUT 0.17 0.17
Pl Qty Description LOoM Price Ext Price Wit Ext Wt
17 1.00 5/8" HVY HEX NUT A563 EACH 0.40 0.40 0.12
Header Part #: 5300033616
To Include
1 3361G 5/8" HVY HEX NUT A563 DH 0.12 0.12
Pl Oty Description UoM Price Ext Price Wt Ext Wt
18 1.00 5/8"X1.75" HEX BOLT A325 EACH 1.00 1.00 0.21
Header Part #: 530003391G
To Include
1 3391G 5/8"X1.75" HEX BOLT A325 0.2] 0.21
Pl Qty Description UuoM Price Ext Price Wi Ext Wt
19 1.00 5/8 X 2" POST BOLT EACH 0.40 0.40 0.23
Header Part #: 5300034 00G
To Include
1 3400G 5/8"X2" GR BOLT 0.23 0.23
Pl Qty Description UuoM Price Ext Price wt Ext Wt
20 1.00 5/8"X3.5" GR BLT A307 2.5"T EACH 0.75 0.73 0.36
Header Part #: 530003435G
To Include
1 3435G 5/8"X3.5" GRBLTA307 2.5"T 0.36 0.36
Pl Qty Description UOM Price Ext Price Wt Ext Wt
21 1.00 5/8" FLAT WASHER EACH 0.15 0.15 0.05
Header Part #: 5300043 72G
To Include

1 4372G 5/8" WASHER F436 0.05 0.05

rfchelsea 11/15/16 4:10:04PM






TRINITY HIGHWAY PRODUCTS, LLC &

_r_’_?' £, ‘/.;,
g:’i‘:;l}ff‘“ ‘l‘éis’ 16 Sales Quotation # KSDOT-TRACC2017 |
2525 Stemmons Frvy Dallas, TX 75207 Phone: 214-589-8056 Fax: 214-589-8423
Pi Qty Description UOoM Price Ext Price Wit Ext Wt
22 1.00 CLEVIS PIN EACH 4.00 4.00 1.00
Header Parl #: 5300044256
To Include
1 4425G TRACC-3/4X2" CLEVIS PIN 1.00 1.00
Pl Qty Description UoOM Price Ext Price Wt Ext Wit
23 1.00 5/8"X2.25" HEX BOLT A325 EACH 0.85 0.85 0.28
, Header Part #: 5300053 06G
To Include
1 3306G 5/8"X2.25" HEX BOLT A325 0.28 0.28
Pl Oty Description UOoM Price Ext Price Wt Ext Wt
24 1.00 STAGE 2 RIP PLATES; TRACC & SET 140.00 140.00 34.00
FASTRACC (BOTH SIDES OF UNIT)
Header Part #: 530025963G
To Include
2 25963G TRACC-STG2RIPPL X 75" 17.00 34.00
PI Qty Description UoOM Price Ext Price wi Ext Wt
25 1.00 STAGE 3 RIP PLATES; TRACC & SET 425.00 425.00 113.80
FASTRACC (BOTH SIDES OF UNIT)
Header Part #:
To Include
2 25964G TRACC-STG 3 RIP PL X 93" 22.00 44 .00
2 25965G TRACC-STG 3 RIP PL X 87" 20.00 40.00
2 25966G TRACC-STG 3 RIP PL X 87" 14.90 29.80
r Qty Description UOM Price Ext Price Wt Ext Wt
26 1.00 STAGE 2 RIP PLATES; SHORTRACC SET 140.00 140.00 18.00
(BOTH SIDES OF UNIT)
Header Part #: 530025990G
To Include
2 25990G STRACC-STG 2 RIP PL X 42" 9.00 18.00
Pl Qty Description uoM Price Ext Price wi Ext Wt
27 1.00 STAGE 3 RIP PLATES; SHORTRACC SET 425.00 425.00 62.00
{(BOTH SIDES OF UNIT)
Header Part #:
To Include
2 25991G STRACC-STG 3 RIP PL X 48" 8.00 16.00
2 25992G STRACC-STG 3 RIP PL X 48" 11.00 22.00
2 25993G STRACC-STG 3 RIP PL X 547 12.00 24.00
Pl Oty Description uoM Price Ext Price Wt Ext Wt
28 1.00 STAGE 4 RIP PLATES; FASTRACC SET 425.00 425.00 92.00
{BOTH SIDES OF UNIT
Header Pari #:
To Include
2 25932G FTRACC-STG 4 RIP PL. X 727 12.00 24.00
2 25933G FTRACC-STG 4 RIP PL X 72" 17.00 34.00
2 25934G FTRACC-STG 4 RIPPL X 72" 17.00 34.00
P Qty Description oM Price Ext Price Wt Ext Wt

richelsea 11/15/16 4:10:04PM






TRINITY HIGHWAY PRODUCTS, LLC

‘S?;'_‘;‘; I‘f““ ! 6’ 15/16 Sales Quotation # KSDOT-TRACC2017
i :
2525 Stenunons Frwy Dallas, TX 75207 Phone: 214-589-8056 Fax; 214-589-8423
Pl Qty Description UoM Price Ext Price wi Exi Wi
29 1.00 TRACC NOSEPIECE (KIT 2) EACH 225.00 225.00 16.66
Header Part #: 43TRACNOSE
To Include
4 4830B TRACC REFL SHT17X17 Y/BT> 0.04 0.16
] 65331B TRACC NOSEPIECE YELLOW 16.50 16.50
Total Price(USD) 46,543.05 10,122.95

Weight is in Pounds

Qualifications

PRICES INCLUDE FREIGHT TO DESTINATION.

THE PRICE OF THE TRACC/SHORTRACC/FASTRACC UNIT INCLUDE THE INITIAL SET OF CONCRETE OR ASPHALT
ANCHOR HARDWARE AND A TYPICAL BARRIER ATTACHMENT OR BIDIRECTIONAL TRANSITION.

rfchelsea 11/15/16 4:10:04PM







image2.emf
Roadsafe El  Dorado_4371_0001.pdf


Roadsafe El Dorado_4371_0001.pdf
IMPACT ATTENUATOR, STATIONARY EVT0004716

PRICING (NOT CONFIDENTIAL)

ROADSAFE TRAFFIC SYSTEMS, INC

MFG MODEL PRICE
WORK AREA PROTECTION TL-3 W/ CONCRETE ANCHOR $20,150.00
SMART CUSHION TL-3 W/ ASPHALT ANCHOR $20,500.00
Tt-2 W/ CONCRETE ANCHOR $15,825.00
TL-2 W/ ASPHALT ANCHOR $16,175.00
REPAIR PARTS
PART NUMBER DESCRIPTION PRICE
9431 TRANSITION JERSEY BARRIER-RIGHT $1,370.85
9432 TRANSITION JERSEY BARRIER-LEFT $1,370.85
9433 TRANSITION 24" CONCRETE-LT/RT $882.55
9537 TRANSITION SPANNER-LT/ RT $978.50
9437 TRANSITION THRIE BEAM-RIGHT $1,216.00
9438 TRANSITION THRIE BEAM-LEFT $1,216.00
9511 TRANSITION W BEAM 28" HI RIGHT $1,542.80
9512 TRANSITION W BEAM 28" HI LEFT $1,542.80
9513 TRANSITION W BEAM 32" H} RIGHT $1,416.45
9514 TRANSITION W BEAM 32" HI LEFT $1,416.45
9459 TRANSITION ASSY 30" CONC STRAIGHT $2,399.70
9460 TRANSITION ASSY 36" CONC STRAIGHT $4,218.95
9461 TRANSITION ASSY 30" CONC OUTSIDE $4,237.00
9462 TRANSITION ASSY 36" CONC OUTSIDE $5,104.35
9475 TRANSITION ASSY GORE TO END OF FLARED TRANSITION $6,204.45
9528 TRANSITION ASSY VAR WIDTH MEDIAN BARRIER W/ RUB RAILS $4,658.80
9535 TRANSITION ASSY VAR WIDTH MEDIAN BARRIER W/O RUB RAILS $3,837.05
9538 TRANSITION ASSY 36" WIDE BLOCK $3,432.35
9539 TRANSITION ASSY 38" WIDE BLOCK $3,512.15
9540 TRANSITION ASSY 40" WIDE BLOCK $3,533.05
9541 TRANSITION ASSY 42" WIDE BLOCK $3,584.35
9542 TRANSITION ASSY 44" WIDE BLOCK $3,724.00
9543 TRANSITION ASSY 46" WIDE BLOCK $6,305.15
9544 TRANSITION ASSY 48" WIDE BLOCK $6,317.50
9552 TRANSITION ASSY 50-54" WIDE BLOCK $6,967.30
9553 TRANSITION ASSY 56"+ WIDE BLOCK $7,321.65
9545 TRANSITION ASSY 31"+ OFFSET BLOCK $1,832.55
9463 TRANSITION 30" CONCRETE STRAIGHT CONNECTION $1,146.65
9464 TRANSITION 36" CONCRETE STRAIGHT CONNECTION $1,526.65
9465 TRANSITION 30" CONCRETE OUTSIDE CONNECTION $1,519.05
9466 TRANSITION 36" CONCRETE QUTSIDE CONNECTION $1,541.85
9467 TRANSITION THRIE BEAM 10 DEG FLARE-RIGHT $1,269.20
9468 TRANSITION THRIE BEAM 10 DEG FLARE-LEFT $1,269.20
9469 TRANSITION CONCRETE SPANNER BRACE $950.00
9470 TRANSITION CONCRETE #1 TAPERED SPANNER BRACE $1,283.45
9471 TRANSITION CONCRETE #2 TAPERED SPANNER BRACE $1,311.00
9472 TRANSITION GORE TAPERED #1 SPANNER BRACE $991.80
9473 TRANSITION GORE TAPERED #2 SPANNER BRACE $912.00
9474 THRIE BEAM CONCRETE LEG BRACE $792.30
9493 TRANSITION MEDIAN BARRIER VAR WIDTH-RIGHT $1,362.30
9494 TRANSITION MEDIAN BARRIER VAR WIDTH-LEFT $1,362.30
9526 TRANSITION SUPPORT BRACKET-RIGHT $542.45
9527 TRANSITION SUPPORT BRACKET-LEFT $542.45
9480 TRANSITION RUB RAIL MEDIAN BARRIER-RIGHT $529.15
9481 TRANSITION RUB RAIL MEDIAN BARRIER-LEFT $529.15
9490 TRANSITION SINGLE SLOPE 24-26 9/32" WIDE MEDIAN BARRIER-RIGHT $1,484.85
9491 TRANSITION SINGLE SLOPE 24-26 9/32" WIDE MEDIAN BARRIER-LEFT $1,484.85
9547 TRANSITION PANEL 36" WIDE BLOCK WITH END SHOE $1,169.45
9548 TRANSITION PANEL 38" WIDE BLOCK WITH END SHOE $1,210.30
9549 TRANSITION PANEL 40" WIDE BLOCK WITH END SHOE $1,219.80
9550 TRANSITION PANEL 42" WIDE BLOCK WITH END SHOE $1,245.45





PART NUMBER
9551
9554
9555
9556
9546
9557
9558
9559
9401
9402
9453
9454
9404
9405
9406
9408
9409
9414
9415
9416
9417
9418
9419
9421
9422
9423
9424
9496
9497
9498
9499
9456
9506
9501
9502
9503
9425
9426
9427
9429
9457
9439
9515
9516
9517
9518
9440
9441
9443
9449
9444
9458
9488
9489
9495

DESCRIPTION

TRANSITION PANEL 44" WIDE BLOCK WITH END SHOE
TRANSITION THRIE BEAM 10 DEG FLAR MOD. - RIGHT
TRANSITION THRIE BEAM 10 DEG FLAR MOD. - LEFT
TRANSITION GORE TAPERED #2 SPANNER BRACE MOD.

BLOCK END SHOE 10 DEGREE 21’

BLOCK END SHOE 10 DEGREE 24"

BLOCK END SHOE 10 DEGREE 31"

TRANSITION PANEL TO BLOCK FACE

BOLT CONCRETE ANCHOR 3/4"X7" TL3 INCLUDED IN P/N 9400
BOLT ASPHALT ANCHOR 3/4" X 18" TL 3 INCLUDED IN P/N 9450
BOLT CONCRETE ANCHOR 3/4"X7" TL. 2 INCLUDED IN P/N 9451
BOLT ASPHALT ANCHOR 3/4" X 18" TL 2 INCLUDED IN P/N 9452
BOLT SLED SIDE PANEL

BOLT FRONT STOP

BOLT SHEAR

BOLT TERMINAL BRACE

BRACE TERMINAL

FRAME MOBILE #1 7L 3

FRAME MOBILE #2TL3

FRAME MOBILE #3 TL 3

FRAME MOBILE #4 TL2 & TL3

FRAME MOBILE#5TL2 & TL3

FRAME MOBILE #6 TL2 & TL3

KEEPER SIDE #3 (SLED PANELS) TL 2 & TL3

KEEPER SIDE #1 (SLED PANELS) TL 2 & TL3

KEEPER SIDE #2 (SLED PANELS) TL2 & TL3

PANEL DELINEATOR( PAINTED YELLOW) TL3

PANEL DELINEATOR( PAINTED BLACK) TL3

PANEL DELINEATOR DIAMOND GRADE CHEVRON 6" STRIPES TL3
PANEL DELINEATOR DIAMOND GRADE LEFT SHOULDER 6" STRIPES TL3
PANEL DELINEATOR DIAMOND GRADE RIGHT SHOULDER 6" STRIPES TL3
PANEL DELINEATOR( PAINTED YELLOW) TL2

PANEL DELINEATOR( PAINTED BLACK) TL2

PANEL DELINEATOR DIAMOND GRADE CHEVRON 6" STRIPES TL2
PANEL DELINEATOR DIAMOND GRADE LEFT SHOULDER 6" STRIPES TL2
PANEL DELINEATOR DIAMOND GRADE RIGHT SHOULDER 6" STRIPES TL2
PANELSIDETL2 & TL3

PANEL SLED

PANEL REAR

SLED ( WITH GUIDE ROLLERS) 24" TL 3

SLED { WITH GUIDE ROLLERS) 24" TL 2

EPOXY 2802Z. CARTRIDGE AND NOZZLE ***

EPOXY KIT FOR TL 3 CONCRETE ATTENUATOR

EPOXY KIT FOR TL 3 ASPHALT ATTENUATOR

EPOXY KIT FOR TL 2 CONCRETE ATTENUATOR

EPOXY KIT FOR TL 2 ASPHALT ATTENUATOR

NOZZLE EPOXY MIXING***

DISPENSER EPOXY

BOOT CYLINDERTL 3

BOOT CYLINDER TL 2

SPARE PARTS KIT TL3

SPARE PARTS KIT TL2

RESET PARTS KIT TL.3

RESET PARTS KIT TL2

TOOL ANTI ROTATION PIN REMOVAL

PRICE
$1,314.80
$1,370.85
$1,370.85
$1,345.20
$861.65
$1,289.15
$1,289.15
$915.80
$395.20
$1,080.15
$293.55
$731.50
$6.65
$2.85
$1.90
$8.55
$434.15
$407.55
$407.55
$407.55
$407.55
$407.55
$407.55
$28.50
$25.65
$25.65
$104.50
$101.65
$174.80
$174.80
$174.80
$94.05
$91.20
$164.35
$164.35
$164.35
$217.55
$480.70
$189.05
$2,285.70
$2,149.85
$38.95
$157.70
$472.15
$117.80
$354.35
$2.85
$222.30
$54.15
$54.15
$2,232.50
$2,222.05
$111.15
$100.70
$21.85





PART NUMBER
9560
9507
9508
9509
9524
9525
9536
9519
9564
9565

DESCRIPTION

TOOL ANTI ROTATION PIN REMIOVAL ASSEMBLY
ANCHOR DROP IN

PIN ANTI-ROTATION FRONT

PIN ANTI-ROTATION REAR

PWB02 BLOCK OUT

CABLE RELEASE TOOL

SHEAR BOLT REMOVAL TOOL

HOLE BRUSH-NYLON

SCI DEBRIS HOOD ASSEMBLY-DH3
FIBERGLASS STAY KIT FOR DEBRIS HOOD-DH3

PRICE
$183.35
$6.65
$59.85
$60.80
$104.50
$9.50
$45.60
$9.50
$1,598.85
$95.00

/m 9‘@@/}






image3.jpeg
IMPACT ATTENUATOR, STATIONARY EVT0004716

PRICING (NOT CONFIDENTIAL)

ROADSAFE TRAFFIC SYSTEMS, INC

MEG MODEL PRICE
WORK AREA PROTECTION Ti-3 W/ CONCRETE ANCHOR $20,150.00
SMART CUSHION TL-3 W/ ASPHALT ANCHOR $20,500.00
Ti-2 W/ CONCRETE ANCHOR $15,825.00
TL-2 W/ ASPHALT ANCHOR $16,175.00
REPAIR PARTS
PART NUMBER DESCRIPTION PRICE
9431 TRANSITION JERSEY BARRIER-RIGHT $1,370.85
9432 TRANSITION JERSEY BARRIER-LEFT $1,370.85
9433 TRANSITION 24" CONCRETE-LT/RT $882.55
9537 TRANSITION SPANNER-LT/ RT $978.50
9437 TRANSITION THRIE BEAM-RIGHT $1,216.00
9438 TRANSITION THRIE BEAM-LEFT $1,216.00
9511 TRANSITION W BEAM 28" HI RIGHT $1,542.80
9512 TRANSITION W BEAM 28" HI LEFT $1,542.80
9513 TRANSITION W BEAM 32" HI RIGHT $1,416.45
9514 TRANSITION W BEAM 32" HI LEFT $1,416.45
9459 TRANSITION ASSY 30" CONC STRAIGHT $2,399.70
9460 TRANSITION ASSY 36" CONC STRAIGHT $4,218.95
9461 TRANSITION ASSY 30" CONC OUTSIDE $4,237.00
9462 TRANSITION ASSY 36" CONC OUTSIDE $5,104.35
9475 TRANSITION ASSY GORE TO END OF FLARED TRANSITION $6,204.45
9528 TRANSITION ASSY VAR WIDTH MEDIAN BARRIER W/ RUB RAILS $4,658.80
9535 TRANSITION ASSY VAR WIDTH MEDIAN BARRIER W/O RUB RAILS $3,837.05
9538 TRANSITION ASSY 36" WIDE BLOCK $3,432.35
9539 TRANSITION ASSY 38" WIDE BLOCK $3,512.15
9540 TRANSITION ASSY 40" WIDE BLOCK $3,533.05
9541 TRANSITION ASSY 42" WIDE BLOCK $3,584.35
9542 TRANSITION ASSY 44" WIDE BLOCK $3,724.00
9543 TRANSITION ASSY 46" WIDE BLOCK $6,305.15
9544 TRANSITION ASSY 48" WIDE BLOCK $6,317.50
9552 TRANSITION ASSY 50-54" WIDE BLOCK $6,967.30
9553 TRANSITION ASSY 56"+ WIDE BLOCK $7,321.65
9545 TRANSITION ASSY 31"+ OFFSET BLOCK $1,832.55
9463 TRANSITION 30" CONCRETE STRAIGHT CONNECTION $1,146.65
9464 TRANSITION 36" CONCRETE STRAIGHT CONNECTION $1,526.65
9465 TRANSITION 30" CONCRETE OQUTSIDE CONNECTION $1,519.05
9466 TRANSITION 36" CONCRETE QUTSIDE CONNECTION $1,541.85
9467 TRANSITION THRIE BEAM 10 DEG FLARE-RIGHT $1,269.20
9468 TRANSITION THRIE BEAM 10 DEG FLARE-LEFT $1,269.20
9469 TRANSITION CONCRETE SPANNER BRACE $950.00
9470 TRANSITION CONCRETE #1 TAPERED SPANNER BRACE $1,283.45
9471 TRANSITION CONCRETE #2 TAPERED SPANNER BRACE $1,311.00
9472 TRANSITION GORE TAPERED #1 SPANNER BRACE $991.80
9473 TRANSITION GORE TAPERED #2 SPANNER BRACE $912.00
9474 THRIE BEAM CONCRETE LEG BRACE $792.30
9493 TRANSITION MEDIAN BARRIER VAR WIDTH-RIGHT $1,362.30
9494 TRANSITION MEDIAN BARRIER VAR WIDTH-LEFT $1,362.30
9526 TRANSITION SUPPORT BRACKET-RIGHT $542.45
9527 TRANSITION SUPPORT BRACKET-LEFT $542.45
9480 TRANSITION RUB RAIL MEDIAN BARRIER-RIGHT $529.15
9481 TRANSITION RUB RAIL MEDIAN BARRIER-LEFT $529.15
9490 TRANSITION SINGLE SLOPE 24-26 9/32" WIDE MEDIAN BARRIER-RIGHT $1,484.85
9491 TRANSITION SINGLE SLOPE 24-26 9/32" WIDE MEDIAN BARRIER-LEFT $1,484.85
9547 TRANSITION PANEL 36" WIDE BLOCK WITH END SHOE $1,169.45
9548 TRANSITION PANEL 38" WIDE BLOCK WITH END SHOE $1,210.30
9549 TRANSITION PANEL 40" WIDE BLOCK WITH END SHOE $1,219.80
9550 TRANSITION PANEL 42" WIDE BLOCK WITH END SHOE $1,245.45




image4.jpeg
PART NUMBER
9551
9554
9555
9556
9546
9557
9558
9559
9401
9402
9453
9454
9404
9405
9406
9408
9409
9414
9415
9416
9417
9418
9419
9421
9422
9423
9424
9496
9497
9498
9499
9456
9506
9501
9502
9503
9425
9426
9427
9429
9457
9439
9515
9516
9517
9518
9440
9441
9443
9449
9444
9458
9488
9489
9495

DESCRIPTION

TRANSITION PANEL 44" WIDE BLOCK WITH END SHOE
TRANSITION THRIE BEAM 10 DEG FLAR MOD. - RIGHT
TRANSITION THRIE BEAM 10 DEG FLAR MOD. - LEFT
TRANSITION GORE TAPERED #2 SPANNER BRACE MOD.

BLOCK END SHOE 10 DEGREE 21’

BLOCK END SHOE 10 DEGREE 24"

BLOCK END SHOE 10 DEGREE 31"

TRANSITION PANEL TO BLOCK FACE

BOLT CONCRETE ANCHOR 3/4"X7" TL 3 INCLUDED IN P/N 9400
BOLT ASPHALT ANCHOR 3/4" X 18" TL 3 INCLUDED IN P/N 9450
BOLT CONCRETE ANCHOR 3/4"X7" TL 2 INCLUDED IN P/N 9451
BOLT ASPHALT ANCHOR 3/4" X 18" TL 2 INCLUDED IN P/N 9452
BOLT SLED SIDE PANEL

BOLT FRONT STOP

BOLT SHEAR

BOLT TERMINAL BRACE

BRACE TERMINAL

FRAME MOBILE #1 7L 3

FRAME MOBILE #2TL3

FRAME MOBILE #3 TL 3

FRAME MOBILE #4 TL2 & TL3

FRAME MOBILE #5TL2 & TL3

FRAME MOBILE #6 TL2 & TL3

KEEPER SIDE #3 (SLED PANELS) TL 2 & TL3

KEEPER SIDE #1 (SLED PANELS) TL 2 & TL3

KEEPER SIDE #2 (SLED PANELS) TL2 & TL3

PANEL DELINEATOR( PAINTED YELLOW) TL3

PANEL DELINEATOR( PAINTED BLACK) TL3

PANEL DELINEATOR DIAMOND GRADE CHEVRON 6" STRIPES TL3
PANEL DELINEATOR DIAMOND GRADE LEFT SHOULDER 6" STRIPES TL3
PANEL DELINEATOR DIAMOND GRADE RIGHT SHOULDER 6" STRIPES TL3
PANEL DELINEATOR( PAINTED YELLOW) TL2

PANEL DELINEATOR( PAINTED BLACK) TL2

PANEL DELINEATOR DIAMOND GRADE CHEVRON 6" STRIPES TL2
PANEL DELINEATOR DIAMOND GRADE LEFT SHOULDER 6" STRIPES TL2
PANEL DELINEATOR DIAMOND GRADE RIGHT SHOULDER 6" STRIPES TL2
PANELSIDETL2 & TL3

PANEL SLED

PANEL REAR

SLED ( WITH GUIDE ROLLERS) 24" TL 3

SLED { WITH GUIDE ROLLERS) 24" TL 2

EPOXY 2802Z. CARTRIDGE AND NOZZLE ***

EPOXY KIT FOR TL 3 CONCRETE ATTENUATOR

EPOXY KIT FOR TL 3 ASPHALT ATTENUATOR

EPOXY KIT FOR TL 2 CONCRETE ATTENUATOR

EPOXY KIT FOR TL 2 ASPHALT ATTENUATOR

NOZZLE EPOXY MIXING***

DISPENSER EPOXY

BOOT CYLINDERTL 3

BOOT CYLINDER TL 2

SPARE PARTS KIT TL3

SPARE PARTS KIT TL2

RESET PARTS KIT TL.3

RESET PARTS KIT TL2

TOOL ANTI ROTATION PIN REMOVAL

PRICE
$1,314.80
$1,370.85
$1,370.85
$1,345.20
$861.65
$1,289.15
$1,289.15
$915.80
$395.20
$1,080.15
$293.55
$731.50
$6.65
$2.85
$1.90
$8.55
$434.15
$407.55
$407.55
$407.55
$407.55
$407.55
$407.55
$28.50
$25.65
$25.65
$104.50
$101.65
$174.80
$174.80
$174.80
$94.05
$91.20
$164.35
$164.35
$164.35
$217.55
$480.70
$189.05
$2,285.70
$2,149.85
$38.95
$157.70
$472.15
$117.80
$354.35
$2.85
$222.30
$54.15
$54.15
$2,232.50
$2,222.05
$111.15
$100.70
$21.85




image5.jpeg
TOOL ANTI ROTATION PIN REMOVAL ASSEMBLY

PIN ANTI-ROTATION FRONT

SHEAR BOLT REMOVAL TOOL

SCI DEBRIS HOOD ASSEMBLY-DH3

PART NUMBER DESCRIPTION

9560

9507 ANCHOR DROP IN
9508

9509 PIN ANTI-ROTATION REAR
9524 PWB02 BLOCK OUT
9525 CABLE RELEASE TOOL
9536

9519 HOLE BRUSH-NYLON
9564

9565

FIBERGLASS STAY KIT FOR DEBRIS HOOD-DH3

s

S, T

PRICE
$183.35
$6.65
$59.85
$60.80
$104.50
$9.50
$45.60
$9.50
$1,598.85
$95.00

/" 91&)@//7




image6.emf
John Thomas  1116-19.pdf


John Thomas 1116-19.pdf
ACZ-350
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price
ACZ-350

ACZ-350-TL2 617871B ACZ-350 TL-2 Anchorless Crash Cushion CZ $9,878.80
ACZ-350-TL3 00ACZ350TL3 ACZ-350 TL-3 Anchorless Crash Cushion CZ $12,457.95

Note: System pricing includes required bay assemblies, nose assembly, transition assembly, and transition
adapters. Nose assembly and transition adapters must be specified at time order is placed.

ACZ-350 - BAY ASSEMBLIES

617871B 617871B Bay Assembly, ACZ-350, TL-2 $4,356.05
3595601-0000  609117B Front Bay Assembly, ACZ-350, TL-3 $2,263.90
3595602-0000  613624B Rear Bay Assembly, ACZ-350, TL-3 $4,879.05
ACZ-350 - NOSE

3595653-1000  003595653-10 Nose Assemby, Left/Right, ACZ-350 $2,072.25
3595653-2000  003595653-20 Nose Assembly, Gore/Blank, ACZ-350, TL-3 $2,023.10

ACZ-350 - TRANSITIONS

Note: Transition Adapters are required to install. Transition Adapters

must be purchased separately.

617872B 00617872B Transition Assembly, ACZ-350 $3,034.65
3595613-0000 003595613-00 Transition Adapter, Channel $290.15
3595609-0000 003595609-00 Transition Adapter, Quebec $290.15
3595615-0000 003595615-00 Transition Adapter, Texas J-Hook $291.20
3595617-0000 003595617-00 Transition Adapter, Texas X-Bolt $290.15
3595619-0000 003595619-00 Transition Adapter Assembly, Texas, Single Slope, ACZ350 $290.15
3595626-0000 003595626-00 Transition Adapter, Australia RTA $290.15
3595633-0000 003595633-00 Transition Adapter, British Columbia $300.80
617890B 00617890B Transition Adapter, U-Bolts $290.15
ACZ-350 - PARTS

2795601-0000 614635G Stiffener, ACZ-350, G $119.65
3595534-0300 604947B Barrier, with frame, Yellow, ACZ-350 $1,068.95
3595535-0300 604943B Barrier, without frame, Yellow, ACZ-350 $912.05
3595600-0000 612017B Pin Assembly, Long, ACZ-350 $228.85
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 1 of 65

** Pricing provided includes freight charges





ADHESIVE & ANCHORS
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price
ADHESIVE
1187108 1187108 Adhesive, HY200, 330, Hilti $60.15

ADHESIVE STUDS

2699201-0000 117540G Stud, 3/4" x 6-1/2", Grade 5, G $3.90
2698161-0000 117542G Stud, 3/4" x 7", Grade 5, G $3.90
2700731-0500 116799G Rod, Threaded 3/4" x 18", Grade 5, G $17.40

ADHESIVE ANCHOR KITS

619316B 619316B Anchor Kit, Hilti, 3/4" x 7" (6) $119.60
619315B 619315B Anchor Kit, Hilti, 3/4" x 6-1/2" (6) $119.60
619317B 619317B Anchor Kit, Hilti, 3/4" x 18" (4) $162.10
3540260-0000 003540260-00 PCMB Anchor Assembly (Portable Concrete Median Barrier) $1,535.20
3540243-0000 606700B CZ Anchor/Lift Kit, 3-Bay, QG, W/ 18" Threaded Rod $1,444.90
3540244-0000 606701B CZ Anchor/Lift Kit, 4-Bay, QG, W/ 18" Threaded Rod $1,677.65
3540245-0000 606702B CZ Anchor/Lift Kit, 5-Bay, QG, W/ 18" Threaded Rod $1,990.60
3540246-0000 606703B CZ Anchor/Lift Kit, 6-Bay, QG, W/ 18" Threaded Rod $2,229.45
3540247-0000 606704B CZ Anchor/Lift Kit, 7-Bay, QG, W/ 18" Threaded Rod $2,456.20
3540248-0000 606705B CZ Anchor/Lift Kit, 8-Bay, QG, W/ 18" Threaded Rod $2,769.15
3540249-0000 606706B CZ Anchor/Lift Kit, 9-Bay, QG, W/ 18" Threaded Rod $3,001.95
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 2 of 65

** Pricing provided includes freight charges





ENERGITE Ill - INERTIAL BARRIER SYSTEM
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

ENERGITE Ill - INERTIAL BARRIER SYSTEM

2731191-0100
2731261-0100
2731241-0200
2731201-0000
2731271-0000

114904B
114906B
114907B
114905B
114903B

ENERGITE-III, 640 kg (1400lb) Container Only
ENERGITE-III, 960 kg (2100lb) Container Only
ENERGITE-III, Lid only

ENERGITE-III, 90 kg/180kg (200/400Ib) Inner Cone
ENERGITE-III, 320 kg (700lb) Inner Cone

PRICES ARE F.O.B. SOUTH BEND, INDIANA (46628)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$291.70
$291.70
$56.75
$56.75
$56.75

Page 3 of 65





FASTENERS / HARDWARE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

FASTENERS / HARDWARE

118386G 118386G

2698223-0000 116786G
2698241-0000 113658G
2699121-0000 113555G
2699161-0000 116778G
2699171-0000 116784G
2699181-0000 116781G
2699191-0000 116782G
2699341-0000 003400G
2699391-0000 116787G
2699571-0000 113660G
2699841-0000 113404G
2700011-0000 113553G
2700031-0000 113491G
2700061-0000 113562G
2700071-0000 113629G
2700131-0000 113428G
2700161-0000 113427G
2700401-0000 113643G
2700461-0000 114112B
2700511-0000 113561G
2700541-0000 113530G
2700571-0000 113618G
2700621-0000 113631G
2700671-0000 113615G
2700701-0000 113459G
2700731-0500 116799G
2700951-0000 113422G
2701021-0000 113584G
2701041-0000 113409G
2701061-0000 113424G
2701221-0000 113596G
2701271-0000 113165G
2701301-0000 113602G
2701331-0000 113626G

Pin, Clevis, 1 x3 3/4, P

Rod threaded, 1/2 x 7, G5, G
Bolt,Hx,5/8 x 2 1/4,G8,G

Bolt, Hex, 3/4" x 2", G8, G

Rod threaded, 1/2 x 10 1/4, G5, G
Rod threaded, 1/2 x 5 3/4, G5, G
Rod threaded, 1/2 x 13, G5, G

Rod threaded, 1/2 x 15 3/4, G5, G
Bolt, Rail, 5/8", G

Rod threaded, 1/2 x 9 G5, G

Bolt, Hex, 5/8" X 3-1/2", G5, G
Bolt,Hx,5/8 x 1-1/4,G

Bolt, Hex, 3/4"x 2", G 5

Bolt,Hx,1/2 x 6,G2,G

Bolt, Hex, 3/4" x 3", Grade 5, G

Bolt, Hex, 3/8" x 5", Grade 2, G

Bolt, Elevator, 3/8" x 1-1/4", Grade 2, G
Bolt, Elevator, 3/8" x 1-1/2", Grade 2, G
Bolt, Hex, 5/16" x 2-1/4", Grade 5, G
Clamp, Wire, Rope, 3/4"

Bolt, Hex, 3/4" x 3", Grade 2, G

Bolt, Hex, 1" x 3-1/2", Grade 2, G
Bolt, Hex, 3/8" x 3-3/4", Grade 5, G
Bolt, Hex, 3/8" x 6-1/2", Grade 2, G
Bolt, Hex, 3/8" x 3-1/4", Grade 5, G
Bolt, Hex, 1/2" x 1-1/2", Grade 5, G
Rod, Threaded 3/4" x 18", Grade 5, G
Bolt, Carriage, 3/8" x 2-1/2",G 2, G
Bolt, Hex, 3/8" x 1-1/2", G2, G

Bolt, Carriage, 1/2"x 2", G 2, G
Bolt, Carriage, 5/16" x 3/4", G 2, G
Bolt, Hex, 3/8" x 1", Grade 2, G
Anchor Bolt 3/4" x 6-1/4" Grade 5, G
Bolt, Hex, 3/8"x 2-1/2", Grade 2, G
Bolt, Hex, 3/8" x 4-1/2", Grade 2, G

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$33.65

$19.75
$7.95
$5.45
$13.35
$8.40
$14.65
$17.25
$3.90
$10.20
$4.25
$6.45
$4.85
$4.55
$8.30
$1.75
$2.35
$4.25
$1.40
$33.65
$1.25
$12.70
$3.70
$2.65
$2.95
$2.35
$17.40
$4.15
$0.85
$14.85
$1.40
$1.40
$20.25
$1.25
$3.85

Page 4 of 65





FASTENERS / HARDWARE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

2701361-0000
2701381-0000
2701451-0000
2701461-0000
2701511-0000
2701561-0100
2701571-0000
2701581-0100
2701621-0000
2701641-0000
2701651-0000
2701671-0000
2701731-0000
2701731-0300
2701741-0000
2701811-0000
2701841-0000
2701871-0000
2701891-0000
2701981-0000
2701994-0000
2702011-0000
2702031-0000
2704011-0000
2704031-0000
2704041-0000
2704081-0000
2704091-0000
2704121-0000
2704151-0000
2704161-0000
2704191-0000
2704281-0100
2704341-0000
2704851-0000
2706071-0100
2706121-0000
2706181-0000

113476G
113552G
116887G
113004B
113609G
113184G
113420G
113005B
113550G
113548G
113546G
113180G
113439G
113438B
114113G
003360G
113457G
113539G
003364G
113537G
113667G
116271G
116269G
115939G
115960G
116064G
115967G
003710G
115917G
115946G
115931G
003340G
116053G
003704G
115986G
116907G
116889G
116865G

Bolt, Hex, 1/2" x 3", Grade 2, G

Bolt, Hex, 3/4"x 2", Grade 2, G

Bolt, LG, 1/4" x 1-1/2", G 2

Bolt, L, 3/4" x 6" x 7", Grade 2, G

Bolt, Hex, 3/8" x 2", Grade 2, G

Anchor, Flush, 1/2", Plated

Bolt, Carriage, 3/8" x 1", Grade 2, G

Bolt, Round 3/8" x 1" Grade 2, Plated Slot
Bolt, Hex, 3/4" x 2-1/2", Grade 2, G

Bolt, Hex 3/4" x 1-1/4", Grade 2, G

Bolt, Hex, 3/4" x 1-1/2" Grade 2, G
Anchor Bolt 3/4" x 8-1/2" Grade 5, G

Bolt, Flat, 5/8" x 3" Grade 8, Allen Socket,G

Bolt, Flat, 5/8" x 3" Grade 5, Steel, Allen Socket

Clamp, Wire Rope, 3/8", G

Bolt, Rail, 5/8" x 1-1/4", Grade 5, G
Bolt, Hex, 1/2" x 1-1/2"

Bolt, Hex, 1" x 6-1/2", Grade 2, G
Bolt, Hex, 5/8" x 1-1/4"

Bolt, Hex, 1" x 5"

Bolt,Hx,5/8 x 5,G5,G All Thread

Pin, Cotter, 1/4" x 2", Electroplated
Pin, Cotter, 1/4" x 2-1/2", Galv.
Nut,Hx,1/2,G

Nut, Hex 3/8", G

Nut, Washer, Tinnerman, G

Nut, Hex, 5/16", G

Nut, Hex, 3/4", G

Nut, Hex, 1-1/2", G

Nut, Hex, 1/4", G

Nut, Hex, 1", G

Nut, Hex, 5/8", G Rail

Nut, T-, 1/2", Plated

Hex Nut,3/4",G,GR DH
Nut,Hx,Coupling 5/8-11 x 2 1/8,G
Screw, Hex Head Washer, No. 8, 1/2" Plated
Screw, Hex Head Washer 1/4" x 1", G
Screw, Flat Head 1/2" x 1" Slotted, G

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$5.10
$7.05
$2.35
$16.50
$15.20
$10.50
$3.30
$1.25
$4.85
$4.85
$4.85
$23.35
$19.15
$23.35
$14.30
$0.85
$2.35
$25.95
$2.95
$8.30
$10.65
$1.45
$1.05
$1.35
$1.05
$0.85
$1.05
$2.35
$29.85
$1.05
$4.85
$2.65
$3.30
$3.90
$8.40
$0.85
$3.90
$8.30

Page 5 of 65





FASTENERS / HARDWARE

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

2706261-0100
2706311-0100
2706441-0000
2706461-0300
2708011-0000
2708021-0000
2708041-0000
2708101-0000
2708121-0000
2708153-0000
2708181-0000
2708191-0000
2708201-0000
2708211-0000
2708221-0000
2708231-0000
2708241-0000
2708271-0000
2708281-0000
2708291-0000
2708321-0300
2708381-0000
2708481-0000
2708491-0000
2715044-0000
2715343-0000
2753071-0000
2753091-0000
2753301-0000
2760251-0000
2760504-0000
2760505-0000
2760506-0000
2760507-0000
3540455-0000

113402G
113399G
116893G
116853B
118009G
118036G
118092G
118013G
617031G
617046G
118082G
003900G
118089G
617036B
118046G
118100G
118080G
118011G
118085G
003300G
118034B
617009G
118057G
617012G
117458G
117459W
612253G
612236G
611190G
605535G
606330G
612238G
612235G
614070G
003540455-00

Bolt, Button, 1/2" x 2" Hex Socket, Plated
Bolt, Button, 1/2" x 1-1/4" Hex Socket, Plated
Screw, Hex Head Washer 1/4" x 2" G, AB, Threaded
Screw Button 1/2" x 1-3/8" Hx, Socket, S
Washer,Flat,1/2x 1 3/8,G

Washer, Flat, 3/8" x 1", G

Washer, Lock, 3/8", G

Washer, Flat, 1/4" x 1", G

Washer, Bar, 3" x 2" x 1/4", G

Washer, Mushroom, Forged, G

Washer, Lock, 1/2", G

Washer, Flat, 1" x 2-1/2", G

Washer, Lock, 3/4", G

Washer, Bar, Flex Belt, G, 30"

Washer, Flat, 5/16" x 8/8", G

Washer, Lock, 5/8", G

Washer, Lock, 1", G

Washer, Flat, 1/4" x 1-1/2", G

Washer, Lock, 1/4", G

Washer,Flat, 5/8x1 3/4,G

Washer, Flat, 3/8" x 1-1/2", S

Washer, Bar, 2" x 2" x 1/2", G

Washer, Flat, 7/8" x 1-3/4", G

Washer, Bar, 3" x 3" x 1/4", G

Spring, Die, 1 1/2 OD X 3/4 x 6, F/69"/90" QG
Spring Die (replaces part # 2021611-0000 Elastomeric Bushing)
Plate,Nose Cylinder,G

Plate clamp, inner cylinder, G (2 REQ.)

Leg Nose Support, LMA

Bracket,Pull Out, QG

Clamp, Belt, LMC

Plate clamp, outer cylinder, G

Plate clamp, spacer outer cylinder, G-Spacer, Bay 1, 2, & 3 (2 REQ.)
Shim,Nose Clamp,G

Chain Assembly, 5-11, 36"

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$3.90
$25.25
$1.40
$7.95
$2.40
$2.35
$0.75
$2.95
$2.95
$42.85
$1.25
$4.25
$2.35
$13.05
$1.50
$0.75
$2.35
$0.85
$1.25
$2.35
$10.95
$2.95
$2.95
$4.85
$36.55
$11.40
$21.20
$25.95
$108.55
$14.90
$52.30
$83.90
$233.60
$20.35
$79.95

Page 6 of 65





QUADGUARD NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QUADGUARD NARROW SYSTEM - PLASTIC NOSE

QS2401 GorY 00QS2401 QuadGuard, 2'0" Wide, 1-Bay, (Gray or Yellow) $3,917.25
QS3001 GorY 00QS3001 QuadGuard, 2'6" Wide, 1-bay, (Gray or Yellow) $3,809.65
QS3601 GorY 00QS3601 QuadGuard, 3'0" Wide, 1-bay, (Gray or Yellow) $3,877.40
QN4801 GorY 00QN4801 QuadGuard, 48" Wide, 1-bay, (Gray or Yellow) $4,034.35
QS2402 GorY 00QS2402 QuadGuard, 2'0" Wide, 2-bay, (Gray or Yellow) $6,955.80
QS3002 GorY 00QS3002 QuadGuard, 2'6" Wide, 2-bay, (Gray or Yellow) $7,176.95
QS3602 GorY 00QS3602 QuadGuard, 3'0" Wide, 2-bay, (Gray or Yellow) $7,345.80
QN4802 G orY 00QN4802 QuadGuard, 48" Wide, 2-bay, (Gray or Yellow) $7,616.90
QS2403 GorY 00QS2403 QuadGuard, 2'0" Wide, 3-bay, (Gray or Yellow) $9,130.50
QS3003GorY 00QS3003 QuadGuard, 2'6" Wide, 3-bay, (Gray or Yellow) $9,356.45
QS3603 GorY 00QS3603 QuadGuard, 3'0" Wide, 3-bay, (Gray or Yellow) $9,878.40
QN4803 GorY 00QN4803 QuadGuard, 48" Wide, 3-bay, (Gray or Yellow) $10,254.15
QS2404 GorY 00QS2404 QuadGuard, 2'0" Wide, 4-bay, (Gray or Yellow) $13,069.75
QS3004 GorY 00QS3004 QuadGuard, 2'6" Wide, 4-bay, (Gray or Yellow) $13,446.65
QS3604 GorY 00QS3604 QuadGuard, 3'0" Wide, 4-bay, (Gray or Yellow) $13,842.60
QN4804 GorY 00QN4804 QuadGuard, 48" Wide, 4-bay, (Gray or Yellow) $14,357.45
QS2405GorY 00QS2405 QuadGuard, 2'0" Wide, 5-bay, (Gray or Yellow) $15,539.35
QS3005GorY 00QS3005 QuadGuard, 2'6" Wide, 5-bay, (Gray or Yellow) $15,814.00
QS3605GorY 00QS3605 QuadGuard, 3'0" Wide, 5-bay, (Gray or Yellow) $16,375.20
QN4805 G orY 00QN4805 QuadGuard, 48" Wide, 5-bay, (Gray or Yellow) $16,919.80
QS2406 GorY 00QS2406 QuadGuard, 2'0" Wide, 6-bay, (Gray or Yellow) $18,170.65
QS3006 GorY 00QS3006 QuadGuard, 2'6" Wide, 6-bay, (Gray or Yellow) $18,723.55
QS3606 GorY 00QS3606 QuadGuard, 3'0" Wide, 6-bay, (Gray or Yellow) $19,277.60
QN4806 G or Y 00QN4806 QuadGuard, 48" Wide, 6-bay, (Gray or Yellow) $20,043.35
QS2407 GorY 00QS2407 QuadGuard, 2'0" Wide, 7-bay, (Gray or Yellow) $22,883.90
QS3007 GorY 00QS3007 QuadGuard, 2'6" Wide, 7-bay, (Gray or Yellow) $23,297.70
QS3607 GorY 00QS3607 QuadGuard, 3'0" Wide, 7-bay, (Gray or Yellow) $23,989.70
QN4807 GorY 00QN4807 QuadGuard, 48" Wide, 7-bay, (Gray or Yellow) $24,478.40
QS2408 GorY 00QS2408 QuadGuard, 2'0" Wide, 8-bay, (Gray or Yellow) $26,074.05
QS3008 GorY 00QS3008 QuadGuard, 2'6" Wide, 8-bay, (Gray or Yellow) $26,766.05
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 7 of 65

** Pricing provided includes freight charges





QUADGUARD NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QS3608 GorY 00QS3608 QuadGuard, 3'0" Wide, 8-bay, (Gray or Yellow) $27,462.85
QN4808 G or Y 00QN4808 QuadGuard, 48" Wide, 8-bay, (Gray or Yellow) $28,638.80
QS3610GorY 00QS3610 QuadGuard, 3'0" Wide, 10-bay, (Gray or Yellow) $34,929.90
QS2409 GorY 00QS2409 QuadGuard, 2'0" Wide, 9-bay, (Gray or Yellow) $29,398.55
QS3009 GorY 00QS3009 QuadGuard, 2'6" Wide, 9-bay, (Gray or Yellow) $30,233.25
QS3609 G orY 00QS3609 QuadGuard, 3'0" Wide, 9-bay, (Gray or Yellow) $31,196.35
QN4809 G or Y 00QN4809 QuadGuard, 48" Wide, 9-bay, (Gray or Yellow) $32,383.00

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD NARROW SYSTEM - BACKUPS (PLASTIC)

3540031-0000 003540031-00 Backup Assembly, Tension Strut, 24" wide $2,551.65
3540032-0000 003540032-00 Backup Assembly, Tension Strut, 30" wide $2,615.85
3540033-0000 003540033-00 Backup Assembly, Tension Strut, 36" wide $2,712.20
3540030-0000 003540030-00 Backup Assembly, Tension Strut, 48" wide $3,045.10
3540141-0000 003540141-00 Backup Assembly, Concrete, 24" wide $1,455.40
3540142-0000 003540142-00 Backup Assembly, Concrete, 30" wide $1,526.75
3540143-0000 003540143-00 Backup Assembly, Concrete, 36" wide $1,630.15
3540144-0000 003540144-00 Backup Assembly, Concrete, 48" wide $1,789.50
QUADGUARD NARROW SYSTEM - PLASTIC NOSE ASSEMBLY

3540050-0000 003540050-00 Plastic Nose Assembly, Gray, QG $680.40
3540050-0100 003540050-01 Plastic Nose Assembly, Yellow, QG $680.40
3540131-0000 003540131-00 Plastic Nose Assembly, Gray, QG, 48" $706.15
3540131-0100 003540131-01 Plastic Nose Assembly, Yellow, QG, 48" $706.15
QUADGUARD NARROW SYSTEM - BELT NOSE

QS2401 GorY 00QS2401 QuadGuard, 2'0" Wide, 1-bay, (Gray or Yellow) $3,917.25
QS3001 GorY 00QS3001 QuadGuard, 2'6" Wide, 1-bay, (Gray or Yellow) $5,140.15
QS3601 GorY 00QS3601 QuadGuard, 3'0" Wide, 1-bay, (Gray or Yellow) $5,222.20
QN4801 GorY 00QN4801 QuadGuard, 48" Wide, 1-bay, (Gray or Yellow) $5,436.25
QS2402 GorY 00QS2402 QuadGuard, 2'0" Wide, 2-bay, (Gray or Yellow) $8,281.55
QS3002 GorY 00QS3002 QuadGuard, 2'6" Wide, 2-bay, (Gray or Yellow) $8,476.55
QS3602 GorY 00QS3602 QuadGuard, 3'0" Wide, 2-bay, (Gray or Yellow) $8,671.55
QN4802 G orY 00QN4802 QuadGuard, 48" Wide, 2-bay, (Gray or Yellow) $9,023.50
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 8 of 65

** Pricing provided includes freight charges





QUADGUARD NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QS2403 GorY 00QS2403 QuadGuard, 2'0" Wide, 3-bay, (Gray or Yellow) $10,481.25
QS3003GorY 00QS3003 QuadGuard, 2'6" Wide, 3-bay, (Gray or Yellow) $10,670.30
QS3603 GorY 00QS3603 QuadGuard, 3'0" Wide, 3-bay, (Gray or Yellow) $11,197.05
QN4803 GorY 00QN4803 QuadGuard, 48" Wide, 3-bay, (Gray or Yellow) $11,656.00
QS2404 GorY 00QS2404 QuadGuard, 2'0" Wide, 4-bay, (Gray or Yellow) $14,433.55
QS3004 GorY 00QS3004 QuadGuard, 2'6" Wide, 4-bay, (Gray or Yellow) $14,702.25
QS3604 GorY 00QS3604 QuadGuard, 3'0" Wide, 4-bay, (Gray or Yellow) $15,124.35
QN4804 G orY 00QN4804 QuadGuard, 48" Wide, 4-bay, (Gray or Yellow) $15,758.10
QS2405GorY 00QS2405 QuadGuard, 2'0" Wide, 5-bay, (Gray or Yellow) $16,919.80
QS3005GorY 00QS3005 QuadGuard, 2'6" Wide, 5-bay, (Gray or Yellow) $17,203.95
QS3605 G orY 00QS3605 QuadGuard, 3'0" Wide, 5-bay, (Gray or Yellow) $17,611.80
QN4805 G orY 00QN4805 QuadGuard, 48" Wide, 5-bay, (Gray or Yellow) $18,321.65
QS2406 GorY 00QS2406 QuadGuard, 2'0" Wide, 6-bay, (Gray or Yellow) $19,553.45
QS3006 G orY 00QS3006 QuadGuard, 2'6" Wide, 6-bay, (Gray or Yellow) $20,112.30
QS3606 G orY 00QS3606 QuadGuard, 3'0" Wide, 6-bay, (Gray or Yellow) $20,665.20
QN4806 G or Y 00QN4806 QuadGuard, 48" Wide, 6-bay, (Gray or Yellow) $21,445.20
QS2407 GorY 00QS2407 QuadGuard, 2'0" Wide, 7-bay, (Gray or Yellow) $24,133.60
QS3007 GorY 00QS3007 QuadGuard, 2'6" Wide, 7-bay, (Gray or Yellow) $24,548.55
QS3607 GorY 00QS3607 QuadGuard, 3'0" Wide, 7-bay, (Gray or Yellow) $25,521.15
QN4807 GorY 00QN4807 QuadGuard, 48" Wide, 7-bay, (Gray or Yellow) $25,879.05
QS2408 GorY 00QS2408 QuadGuard, 2'0" Wide, 8-bay, (Gray or Yellow) $27,318.95
QS3008 GorY 00QS3008 QuadGuard, 2'6" Wide, 8-bay, (Gray or Yellow) $28,154.85
QS3608 G or Y 00QS3608 QuadGuard, 3'0" Wide, 8-bay, (Gray or Yellow) $28,983.60
QN4808 GorY  00QN4808 QuadGuard, 48" Wide, 8-bay, (Gray or Yellow) $30,039.45
QS2409 GorY 00QS2409 QuadGuard, 2'0" Wide, 9-bay, (Gray or Yellow) $30,786.15
QS3009 GorY 00QS3009 QuadGuard, 2'6" Wide, 9-bay, (Gray or Yellow) $31,616.10
QS3609 GorY 00QS3609 QuadGuard, 3'0" Wide, 9-Bay, (Gray or Yellow) $32,451.95
QN4809 G or Y 00QN4809 QuadGuard, 48" Wide, 9-bay, (Gray or Yellow) $33,777.75

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD NARROW SYSTEM - BACKUPS (BELT)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 9 of 65
** Pricing provided includes freight charges





QUADGUARD NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540031-0000
3540032-0000
3540033-0000
3540030-0000

3540141-0000
3540142-0000
3540143-0000
3540144-0000

003540031-00
003540032-00
003540033-00
003540030-00

003540141-00
003540142-00
003540143-00
003540144-00

Backup Assembly, Tension Strut, 24" wide
Backup Assembly, Tension Strut, 30" wide
Backup Assembly, Tension Strut, 36" wide
Backup Assembly, Tension Strut, 48" wide

Backup Assembly, Concrete, 24" wide
Backup Assembly, Concrete, 30" wide
Backup Assembly, Concrete, 36" wide

Backup Assembly, Concrete, 48" wide

QUADGUARD NARROW SYSTEM - BELT NOSE ASSEMBLY

3540499-0000
3540499-0100
3540498-0000
3540498-0100
6008080-0000
6008080-0100

003540499-00
003540499-01
003540498-00
003540498-01
006008080-00
006008080-01

Belt Nose Assembly. 24",30", Gray, Permanent QG
Belt Nose Assembly. 24",30", Yellow, Permanent QG
Belt Nose Assembly, 36", Gray, Permanent QG

Belt Nose Assembly. 36", Yellow, Permanent QG
Flex-Belt Nose Assembly , for 48" wide QG, Gray
Flex-Belt Nose Assembly , for 48" wide QG, Yellow

QUADGUARD NARROW SYSTEM - MONORAILS

3540060-0100
3540060-0200
3540060-0300
3540060-0400
3540060-0500
3540060-0600
3540060-0700
3540060-0800
3540060-0900
2760051-0000
2760061-0000
2760071-0000
2760041-0000

003540060-01
003540060-02
003540060-03
003540060-04
003540060-05
003540060-06
003540060-07
003540060-08
003540060-09
611370G
611375G
611379G
608136G

Monorail End Cap Assembly, 1-Bay, QG
Monorail Assembly, 2-Bay, QG
Monorail Assembly, 3-Bay, QG
Monorail Assembly, 4-Bay, QG
Monorail Assembly, 5-Bay, QG
Monorail Assembly, 6-Bay, QG
Monorail Assembly, 7-Bay, QG
Monorail Assembly, 8-Bay, QG
Monorail Assembly, 9-Bay, QG
Monorall, 1-Bay, QG, G
Monorall, 2-Bay, QG, G
Monorail, 3-Bay, QG, G
Endcap, Monorail, QG, G

QUADGUARD NARROW SYSTEM - CARTRIDGES

3540010-0000
3540020-0000

606027B
606029B

Cartridge Assembly, Type |, QG
Cartridge Assembly, Type Il, QG

QUADGUARD NARROW SYSTEM - DIAPHRAGMS

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$2,551.65
$2,615.85
$2,712.20
$3,045.10

$1,455.40
$1,526.75
$1,630.15
$1,789.50

$1,950.00
$1,950.00
$1,950.00
$1,950.00
$2,135.50
$2,135.50

$93.90
$1,193.80
$1,526.75
$2,071.30
$2,750.25
$3,456.50
$3,948.75
$4,641.95
$5,122.35
$519.45
$1,032.15
$1,322.20
$91.35

$740.45
$778.40

Page 10 of 65





QUADGUARD NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540071-0000
3540072-0000
3540073-0000
6005031-0000

003540071-00
003540072-00
003540073-00
006005031-00

QUADGUARD NARROW

Diaphragm Assembly, Quad Beam, 24" wide

Diaphragm Assembly, Quad Beam, 30" wide

Diaphragm Assembly, Quad Beam, 36" wide

Diaphragm Assembly, Quad Beam, 48" wide

SYSTEM - PANELS

3540040-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000
354021W-0048
354022N-0000
354022M-0000
354022W-0000
354022W-0048
3540458-0000

2704141-0000
2706604-0000
2708291-0000
2708841-0000
2715343-0000

003540040-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00
00354021W-48
00354022N-00
00354022M-00
00354022W-00
00354022W-48
003540458-00

Fender Panel Assembly, Quad Beam

Trans.
Trans.
Trans.

Trans.

Panel Assembly., 4" Offset, Left
Panel Assembly., 4" Offset, Right
Panel Assembly., 9" Offset, Left
Panel Assembly., 9" Offset, Right

End Shoe, Quad Beam
Deflector Retrofit Assembly., F/Con. B-up, QG

Trans.
Trans.
Trans.
Trans.
Trans.
Trans.
Trans.

Trans.

Panel, Quad to W-Beam, 24"
Panel, Quad to W-Beam, 30"
Panel, Quad to W-Beam, 36"
Panel, Quad to W-Beam, 48"
Panel, Quad to Thrie Beam, 24"
Panel, Quad to Thrie Beam, 30"
Panel, Quad to Thrie Beam, 36"
Panel, Quad to Thrie Beam, 48"

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension

panel)

The following items compose the Mushroom Bolt Assembly for

QuadGuard 24", 30", & 36"

003354G
116878G
003300G
617045G
117459W

Nut, Hex, 5/8", G

Screw Flat 5/8" x 5" G8, Hex Socket
Washer,Flat, 5/8x1 3/4,G

Washer, Mushroom, Forged, QG,G

Spring

Die (replaces part # 2021611-0000 Elastomeric Bushing)

QUADGUARD NARROW SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$936.55
$1,032.15
$1,109.40
$1,513.65

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40
$1,431.60
$1,195.00
$1,245.90
$1,242.30
$1,494.60
$1,032.15

$1.10
$12.35
$2.35
$38.80
$11.40

$119.60
$119.60

Page 11 of 65





QUADGUARD Il NARROW SYSTEM (24", 30", 36", 48")

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD Il NARROW SYSTEM - STEEL NOSE

QG24024
QG24030
QG24036

QG24048

QG27024
QG27030
QG27036

QG27048

QG28024
QG28030
QG28036
QG28048

QG29024
QG29030
QG29036

QG29048

QG210024
QG210030
QG210036
QG210048

QG210524
QG210530
QG210536
QG210548

QG211024
QG211030
QG211036
QG211048

QG211524

00QG24024
00QG24030
00QG24036

00QG24048

00QG27024
00QG27030
00QG27036

00QG27048

00QG28024
00QG28030
00QG28036
00QG28048

00QG29024
00QG29030
00QG29036

00QG29048

00QG210024
00QG210030
00QG210036
00QG210048

00QG210524
00QG210530
00QG210536
00QG210548

00QG211024
00QG211030
00QG211036
00QG211048

00QG211524

QuadGuard Il, 24" Wide, 40KPH/25MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 40KPH/25MPH, (Black or Yellow)
QuadGuard Il, 36" Wide, 40KPH/25MPH, (Black or Yellow)

QuadGuard II, 48" Wide, 40KPH/25MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard II, 30" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard II, 36" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)

QuadGuard II, 48" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)

QuadGuard Il, 24" Wide, 80KPH/50MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 80KPH/50MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 80KPH/50MPH, (Black or Yellow)
QuadGuard I, 48" Wide, 80KPH/50MPH, (Black or Yellow)

QuadGuard II, 24" Wide, 90KPH/56MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 90KPH/56MPH, (Black or Yellow)
QuadGuard Il, 36" Wide, 90KPH/56MPH, (Black or Yellow)

QuadGuard Il, 48" Wide, 90KPH/56MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard II, 30" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard II, 36" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard Il, 48" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)

QuadGuard II, 24" Wide, 105KPH/65MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 105KPH/65MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 105KPH/65MPH, (Black or Yellow)
QuadGuard I, 48" Wide, 105KPH/65MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 110KPH/68MPH, (Black or Yellow)
QuadGuard 11, 30" Wide, 110KPH/68MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 110KPH/68MPH, (Black or Yellow)
QuadGuard I, 48" Wide, 110KPH/68MPH, (Black or Yellow)

QuadGuard II, 24" Wide, 115KPH/71MPH, (Black or Yellow)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$3,988.55
$4,109.30
$4,269.80

$4,481.45

$7,852.30
$8,063.95
$8,223.30

$8,487.25

$10,106.70
$10,319.55
$10,826.05
$11,191.10

$14,061.40
$14,420.45
$14,804.50

$15,297.95

$16,598.75
$16,868.65
$17,401.35
$17,932.85

$19,296.65
$19,829.35
$20,366.75
$21,098.00

$23,994.45
$24,398.75
$25,064.60
$25,533.05

$27,231.00

Page 12 of 65





QUADGUARD Il NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QG211530
QG211536
QG211548

QG212024
QG212030
QG212036
QG212048

00QG211530
00QG211536
00QG211548

00QG212024
00QG212030
00QG212036
00QG212048

QuadGuard II, 30" Wide, 115KPH/71MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 115KPH/71MPH, (Black or Yellow)
QuadGuard Il, 48" Wide, 115KPH/71MPH, (Black or Yellow)

QuadGuard II, 24" Wide, 120KPH/75MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 120KPH/75MPH, (Black or Yellow)
QuadGuard Il, 36" Wide, 120KPH/75MPH, (Black or Yellow)
QuadGuard I, 48" Wide, 120KPH/75MPH, (Black or Yellow)

Price

$27,896.85
$28,563.85
$29,698.20

$30,594.70
$31,397.30
$32,325.95
$33,460.25

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD Il NARROW SYSTEM - BACKUPS (STEEL)

3540031-0000
3540032-0000
3540033-0000
3540030-0000

3540141-0000
3540142-0000
3540143-0000
3540144-0000

003540031-00
003540032-00
003540033-00
003540030-00

003540141-00
003540142-00
003540143-00
003540144-00

Backup Assembly, Tension Strut, 24" wide
Backup Assembly, Tension Strut, 30" wide
Backup Assembly, Tension Strut, 36" wide
Backup Assembly, Tension Strut, 48" wide

Backup Assembly, Concrete, 24" wide
Backup Assembly, Concrete, 30" wide
Backup Assembly, Concrete, 36" wide

Backup Assembly, Concrete, 48" wide

QUADGUARD Il NARROW SYSTEM - STEEL NOSE ASSEMBLY

3540042-0100
3540042-0200
3540044-0100
3540044-0200

003540042-01
003540042-02
003540044-01
003540044-02

Steel Nose Assembly, Narrow, Yellow, QG I
Steel Nose Assembly, Narrow, Black, QG I
Steel Nose Assembly, 48", Yellow, QG Il
Steel Nose Assembly, 48", Black, QG I

QUADGUARD Il NARROW SYSTEM - MONORAILS

3540060-0100
3540060-0200
3540060-0300
3540060-0400
3540060-0500
3540060-0600
3540060-0700
3540060-0800
3540060-0900

003540060-01
003540060-02
003540060-03
003540060-04
003540060-05
003540060-06
003540060-07
003540060-08
003540060-09

Monorail End Cap Assembly, 1-Bay, QG Il

Monorail Assembly, 2-Bay, 70KPH/44MPH, QG II
Monorail Assembly, 3-Bay, 80KPH/50 MPH, QG II
Monorail Assembly, 4-Bay, 90KPH/56MPH, QG II
Monorail Assembly, 5-Bay, 100KPH/62MPH, QG Il
Monorail Assembly, 6-Bay, 105 KPH/65MPH, QG Il
Monorail Assembly, 7-Bay, 110KPH/68MPH, QG Il
Monorail Assembly, 8-Bay, 115MPH/71 MPH, QG I
Monorail Assembly, 9-Bay, 120KPH/75MPH, QG Il

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$2,551.65
$2,615.85
$2,712.20
$3,045.10

$1,455.40
$1,526.75
$1,630.15
$1,789.50

$731.85
$731.85
$757.60
$757.60

$93.90
$1,193.80
$1,526.75
$2,071.30
$2,750.25
$3,456.50
$3,948.75
$4,641.95
$5,122.35

Page 13 of 65





QUADGUARD Il NARROW SYSTEM (24", 30", 36", 48")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price
2760051-0000 611370G Monorail, 1-Bay, QG, G $519.45
2760061-0000 611375G Monorall, 2-Bay, QG, G $1,032.15
2760071-0000 611379G Monorail, 3-Bay, QG, G $1,322.20
2760041-0000 608136G Endcap, Monorail, QG, G $91.35
QUADGUARD Il NARROW SYSTEM - CARTRIDGES
3540010-0000 606027B Cartridge Assembly, Type I, QG $740.45
3540020-0000 606029B Cartridge Assembly, Type Il, QG $778.40
QUADGUARD Il NARROW SYSTEM - DIAPHRAGMS
3540078-0000 003540078-00 Shim Kit, Rail Guide, QG Il $62.55
3540071-0000 003540071-00 Diaphragm Assembly, Quad Beam, 24" wide $936.55
3540072-0000 003540072-00 Diaphragm Assembly, Quad Beam, 30" wide $1,032.15
3540073-0000 003540073-00 Diaphragm Assembly, Quad Beam, 36" wide $1,109.40
6005031-0000 006005031-00 Diaphragm Assembly, Quad Beam, 48" wide $1,513.65
Note: Shim Kits are NOT included with diaphragm assemblies; must be ordered separately.
QUADGUARD Il NARROW SYSTEM - PANELS
3540040-0000 003540040-00 Fender Panel Assembly, Quad Beam $641.15
354018L-0000 00354018L-00 Trans. Panel Assembly., 4" Offset, Left $904.95
354018R-0000 00354018R-00 Trans. Panel Assembly., 4" Offset, Right $905.40
354029L-0000 00354029L-00 Trans. Panel Assembly., 9" Offset, Left $1,233.70
354029R-0000 00354029R-00 Trans. Panel Assembly., 9" Offset, Right $1,235.30
3540150-0000 003540150-00 End Shoe, Quad Beam $653.75
3540200-0000 003540200-00 Deflector Retrofit Assembly., F/Con. B-up, QG $504.75
354021N-0000 00354021N-00 Trans. Panel, Quad to W-Beam, 24" $1,292.15
354021M-0000 00354021M-00 Trans. Panel, Quad to W-Beam, 30" $1,363.30
354021W-0000 00354021W-00 Trans. Panel, Quad to W-Beam, 36" $1,355.40
354021W-0048  00354021W-48 Trans. Panel, Quad to W-Beam, 48" $1,431.60
354022N-0000 00354022N-00 Trans. Panel, Quad to Thrie Beam, 24" $1,195.00
354022M-0000 00354022M-00 Trans. Panel, Quad to Thrie Beam, 30" $1,245.90
354022W-0000 00354022W-00 Trans. Panel, Quad to Thrie Beam, 36" $1,242.30
354022W-0048 00354022W-48 Trans. Panel, Quad to Thrie Beam, 48" $1,494.60
3540458-0000 003540458-00 Transition Assembly, Side Panel, End Shoe (approx. 3' long extension $1,032.15
panel)

The following items compose the Mushroom Bolt Assembly for

QuadGuard 24", 30", & 36"
2704141-0000 003354G Nut, Hex, 5/8", G $1.10

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Page 14 of 65





QUADGUARD Il NARROW SYSTEM (24", 30", 36", 48")

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

2706604-0000
2708291-0000
2708841-0000
2715343-0000

116878G
003300G
617045G
117459W

Screw Flat 5/8" x 5" G8, Hex Socket

Washer,Flat, 5/8x1 3/4,G

Washer, Mushroom, Forged, QG,G

Spring Die (replaces part # 2021611-0000 Elastomeric Bushing)

QUADGUARD Il NARROW SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$119.60
$119.60

Page 15 of 65





QUADGUARD WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD WIDE SYSTEM - PLASTIC NOSE

QS6903 GorY
QS9003 GorY

QS6904 GorY
QS9004 GorY

QS6905 G or Y
QS9005 G or Y

QS6906 GorY
QS9006 G or Y

QS6907 GorY
QS9007 GorY

QS6908 GorY
QS9008 G or Y

QS6909 GorY
QS9009 GorY

00QS6903
00QS9003

00QS6904
00QS9004

00QS6905
00QS9005

00QS6906
00QS9006

00QS6907
00QS9007

00QS6908
00QS9008

00QS6909
00QS9009

QuadGuard, 69" Wide, 3-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 3-Bay, (Gray or Yellow)

QuadGuard, 69" Wide, 4-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 4-Bay, (Gray or Yellow)

QuadGuard, 69" Wide, 5-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 5-Bay, (Gray or Yellow)

QuadGuard, 69" Wide, 6-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 6-Bay, (Gray or Yellow)

QuadGuard, 69" Wide, 7-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 7-Bay, (Gray or Yellow)

QuadGuard, 69" Wide, 8-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 8-Bay, (Gray or Yellow)

QuadGuard, 69" Wide, 9-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 9-Bay, (Gray or Yellow)

$11,684.55
$12,546.55

$15,127.95
$15,970.95

$18,486.90
$19,603.40

$22,269.20
$23,523.60

$26,044.35
$27,726.80

$29,267.75
$31,083.40

$32,481.70
$34,441.20

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD WIDE SYSTEM - BACKUPS (PLASTIC)

3540391-0000
3540392-0000

3540401-0000
3540402-0000

003540391-00
003540392-00

003540401-00
003540402-00

Tension Strut Backup 69"
Tension Strut Backup 90"

Concrete Backup 69"
Concrete Backup 90"

QUADGUARD WIDE SYSTEM - PLASTIC NOSE ASSEMBLY

3540131-0000
3540131-0100

003540131-00
003540131-01

Plastic Nose Assembly, Gray, QG, 69" or 90"
Plastic Nose Assembly, Yellow, QG, 69" or 90"

QUADGUARD WIDE SYSTEM - BELT NOSE

QS6903 G orY
QS9003 GorY

00QS6903
00QS9003

QuadGuard, 69" Wide, 3-Bay, (Gray or Yellow)
QuadGuard, 90" Wide, 3-Bay, (Gray or Yellow)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$3,291.70
$3,334.05

$2,628.75
$2,643.70

$706.15
$706.15

$13,154.15
$14,004.30

Page 16 of 65





QUADGUARD WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QS6904 G or Y 00QS6904 QuadGuard, 69" Wide, 4-Bay, (Gray or Yellow) $16,670.10
QS9004 G orY 00QS9004 QuadGuard, 90" Wide, 4-Bay, (Gray or Yellow) $17,500.05
QS6905 G orY 00QS6905 QuadGuard, 69" Wide, 5-Bay, (Gray or Yellow) $20,029.10
QS9005 GorY 00QS9005 QuadGuard, 90" Wide, 5-Bay, (Gray or Yellow) $21,001.70
QS6906 G or Y 00QS6906 QuadGuard, 69" Wide, 6-Bay, (Gray or Yellow) $23,668.65
QS9006 G or Y 00QS9006 QuadGuard, 90" Wide, 6-Bay, (Gray or Yellow) $25,065.75
QS6907 GorY 00QS6907 QuadGuard, 69" Wide, 7-Bay, (Gray or Yellow) $27,445.00
QS9007 GorY 00QS9007 QuadGuard, 90" Wide, 7-Bay, (Gray or Yellow) $29,267.75
QS6908 G or Y 00QS6908 QuadGuard, 69" Wide, 8-Bay, (Gray or Yellow) $30,666.05
QS9008 G or Y 00QS9008 QuadGuard, 90" Wide, 8-Bay, (Gray or Yellow) $32,482.90
QS6909 G or Y 00QS6909 QuadGuard, 69" Wide, 9-Bay, (Gray or Yellow) $34,025.05
QS9009 G orY 00QS9009 QuadGuard, 90" Wide, 9-Bay, (Gray or Yellow) $35,840.70

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD WIDE SYSTEM - BACKUPS (BELT)

3540391-0000 003540391-00 Tension Strut Backup 69" $3,291.70
3540392-0000 003540392-00 Tension Strut Backup 90" $3,334.05
3540401-0000 003540401-00 Concrete Backup 69" $2,628.75
3540402-0000 003540402-00 Concrete Backup 90" $2,643.70

QUADGUARD WIDE SYSTEM - BELT NOSE ASSEMBLY

3540506-0000 003540506-00 Belt Nose Assembly.69"(3-9 Bays) or 90"(3-7 ) Gray, QG $2,096.25
3540506-0100 003540506-01 Belt Nose Assembly.69"(3-9 Bays) or 90"(3-7 ) Yellow, QG $2,096.25
3540505-0000 003540505-00 Belt Nose Assembly. 90"(8 & 9Bays) Gray, QG $2,096.25
3540505-0100 003540505-01 Belt Nose Assembly. 90"(8 & 9Bays) Yellow, QG $2,096.25

QUADGUARD WIDE SYSTEM - MONORAILS

3540060-0100 003540060-01 Monorail End Cap Assembly, 1-Bay, QG $93.90
3540060-0200 003540060-02 Monorail Assembly, 2-Bay, QG $1,193.80
3540060-0300 003540060-03 Monorail Assembly, 3-Bay, QG $1,526.75
3540060-0400 003540060-04 Monorail Assembly, 4-Bay, QG $2,071.30
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 17 of 65

** Pricing provided includes freight charges





QUADGUARD WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

3540060-0500 003540060-05 Monorail Assembly, 5-Bay, QG $2,750.25
3540060-0600 003540060-06 Monorail Assembly, 6-Bay, QG $3,456.50
3540060-0700 003540060-07 Monorail Assembly, 7-Bay, QG $3,948.75
3540060-0800 003540060-08 Monorail Assembly, 8-Bay, QG $4,641.95
3540060-0900 003540060-09 Monorail Assembly, 9-Bay, QG $5,122.35
2760051-0000 611370G Monorall, 1-Bay, QG, G $519.45
2760061-0000 611375G Monorail, 2-Bay, QG, G $1,032.15
2760071-0000 611379G Monorall, 3-Bay, QG, G $1,322.20
2760041-0000 608136G Endcap, Monorail, QG, G $91.35
QUADGUARD WIDE SYSTEM - CARTRIDGES

3540010-0000 606027B Cartridge Assembly, Type I, QG $740.45
3540020-0000 606029B Cartridge Assembly, Type Il, QG $778.40
QUADGUARD WIDE SYSTEM - DIAPHRAGMS

3540340-0610 003540340061 Diaphragm Assembly, QG, 610MM $1,039.55
3540340-0673 003540340067 Diaphragm Assembly, QG, 673MM $1,256.80
3540340-0753 003540340075 Diaphragm Assembly, QG, 753MM $1,283.00
3540340-0833 003540340083 Diaphragm Assembly, QG, 833MM $1,307.95
3540340-0913 003540340091 Diaphragm Assembly, QG, 913MM $1,379.30
3540340-0993 003540340099 Diaphragm Assembly, QG, 993MM $1,405.45
3540340-1073 003540340107 Diaphragm Assembly, QG, 1073MM $1,481.55
3540340-1153 003540340115 Diaphragm Assembly, QG, 1153MM $1,513.65
3540340-1233 003540340123 Diaphragm Assembly, QG, 1233MM $1,526.75
3540340-1273 003540340127 Diaphragm Assembly, QG, 1273MM $1,552.90
3540340-1313 003540340131 Diaphragm Assembly, QG, 1313MM $1,564.80
3540340-1393 003540340139 Diaphragm Assembly, QG, 1393MM $1,577.85
3540340-1473 003540340147 Diaphragm Assembly, QG, 1473MM $1,590.95
3540340-1513 003540340151 Diaphragm Assembly, QG, 1513MM $1,630.15
3540340-1553 003540340155 Diaphragm Assembly, QG, 1553MM $1,642.05
3540340-1633 003540340163 Diaphragm Assembly, QG, 1633MM $1,687.25
3540340-1729 003540340172 Diaphragm Assembly, QG, 1729MM $1,737.20
3540340-1793 003540340179 Diaphragm Assembly, QG, 1793MM $1,776.40
3540340-1873 003540340187 Diaphragm Assembly, QG, 1873MM $1,802.60
3540340-1953 003540340195 Diaphragm Assembly, QG, 1953MM $1,828.75
3540340-2033 003540340203 Diaphragm Assembly, QG, 2033MM $1,859.65

QUADGUARD WIDE SYSTEM - PANELS

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Page 18 of 65





QUADGUARD WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540370-0000
354042L-0000
354042R-0000
3540150-0000
3540200-0000
3540211-0000
3540212-0000
3540221-0000
3540222-0000
3540458-0000

2704191-0000
2706605-0000
2715044-0000
2708841-0000

003540370-00
00354042L-00
00354042R-00
003540150-00
003540200-00
003540211-00
003540212-00
003540221-00
003540222-00
003540458-00

Fender Panel Assembly, Quad Beam F/ 69" / 90"
Trans. Panel Assembly., 4" Offset, left, F/ 69/90"
Trans. Panel Assembly., 4" Offset, right, F/ 69/90"
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG

Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90
Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

The following items compose the Mushroom Bolt Assembly for

QuadGuard 69" & 90" units.

003340G
116879G
117458G
617045G

Nut, Hex, 5/8", G Rail

Screw Flat, 5/8 x 81/2 Hex

Spring, Die, 1 1/2 OD X 3/4 x 6, F/69"/90" QG
Washer, Mushroom, Forged, QG,G

QUADGUARD WIDE SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$789.50
$930.30
$867.05
$653.75
$504.75
$1,236.35
$1,252.85
$1,144.40
$1,119.20
$1,032.15

$2.65
$32.15
$36.55
$38.80

$119.60
$119.60

Page 19 of 65





QUADGUARD Il WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD Il WIDE SYSTEM - STEEL NOSE

QG27069
QG27090

QG28069
QG28090

QG210069
QG210090

QG210569
QG210590

QG211069
QG211090

QG211569
QG211590

QG212069
QG212090

00QG27069
00QG27090

00QG28069
00QG28090

00QG210069
00QG210090

00QG210569
00QG210590

00QG211069
00QG211090

00QG211569
00QG211590

00QG212069
00QG212090

QuadGuard Il, 69" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard II, 90" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)

QuadGuard II, 69" Wide, 80KPH/50MPH, (Black or Yellow)
QuadGuard II, 90" Wide, 80KPH/50MPH, (Black or Yellow)

QuadGuard II, 69" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard II, 90" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)

QuadGuard 11, 69" Wide, 105KPH/65MPH, (Black or Yellow)
QuadGuard II, 90" Wide, 105KPH/65MPH, (Black or Yellow)

QuadGuard Il, 69" Wide, 110KPH/68MPH, (Black or Yellow)
QuadGuard II, 90" Wide, 110KPH/68MPH, (Black or Yellow)

QuadGuard II, 69" Wide, 115KPH/71MPH, (Black or Yellow)
QuadGuard II, 90" Wide, 115KPH/71MPH, (Black or Yellow)

QuadGuard Il, 69" Wide, 120KPH/75MPH, (Black or Yellow)
QuadGuard II, 90" Wide, 120KPH/75MPH, (Black or Yellow)

$12,453.85
$13,280.20

$15,900.80
$16,702.20

$19,265.75
$20,328.70

$23,033.75
$24,232.25

$26,795.80
$28,397.40

$29,864.65
$31,595.90

$32,927.60
$34,791.95

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD Il WIDE SYSTEM - BACKUPS (STEEL)

3540391-0000
3540392-0000

3540401-0000
3540402-0000

003540391-00
003540392-00

003540401-00
003540402-00

Tension Strut Backup 69"
Tension Strut Backup 90"

Concrete Backup 69"
Concrete Backup 90"

QUADGUARD Il WIDE SYSTEM - STEEL NOSE ASSEMBLY

3540043-0100
3540043-0200

003540043-01
003540043-02

Steel Nose Assembly, Wide, Yellow, QG Il
Steel Nose Assembly, Wide, Black, QG Il

QUADGUARD Il WIDE SYSTEM - MONORAILS

3540060-0300
3540060-0400

003540060-03
003540060-04

Monorail Assembly, 3-Bay, 70KPH/44MPH, QG II
Monorail Assembly, 4-Bay, 80KPH/50MPH, QG II

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$3,291.70
$3,334.05

$2,628.75
$2,643.70

$757.60
$757.60

$1,526.75
$2,071.30

Page 20 of 65





QUADGUARD Il WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

3540060-0500 003540060-05 Monorail Assembly, 5-Bay, 100KPH/62MPH, QG I $2,750.25
3540060-0600 003540060-06 Monorail Assembly, 6-Bay, 105 KPH/65MPH, QG I $3,456.50
3540060-0700 003540060-07 Monorail Assembly, 7-Bay, 110KPH/68MPH, QG Il $3,948.75
3540060-0800 003540060-08 Monorail Assembly, 8-Bay, 115MPH/71 MPH, QG I $4,641.95
3540060-0900 003540060-09 Monorail Assembly, 9-Bay, 120KPH/75MPH, QG I $5,122.35
2760051-0000 611370G Monorall, 1-Bay, QG, G $519.45
2760061-0000 611375G Monorail, 2-Bay, QG, G $1,032.15
2760071-0000 611379G Monorall, 3-Bay, QG, G $1,322.20
2760041-0000 608136G Endcap, Monorail, QG, G $91.35
Note: Shim Kits are NOT included with diaphragm assemblies; must be ordered separately.

QUADGUARD Il WIDE SYSTEM - CARTRIDGES

3540010-0000 606027B Cartridge Assembly, Type |, QG $740.45
3540020-0000 606029B Cartridge Assembly, Type Il, QG $778.40
QUADGUARD Il WIDE SYSTEM - DIAPHRAGMS

3540078-0000 003540078-00 Shim Kit, Rail Guide, QG Il $62.55
3540340-0610 003540340061 Diaphragm Assembly, QG, 610MM $1,039.55
3540340-0673 003540340067 Diaphragm Assembly, QG, 673MM $1,256.80
3540340-0753 003540340075 Diaphragm Assembly, QG, 753MM $1,283.00
3540340-0833 003540340083 Diaphragm Assembly, QG, 833MM $1,307.95
3540340-0913 003540340091 Diaphragm Assembly, QG, 913MM $1,379.30
3540340-0993 003540340099 Diaphragm Assembly, QG, 993MM $1,405.45
3540340-1073 003540340107 Diaphragm Assembly, QG, 1073MM $1,481.55
3540340-1153 003540340115 Diaphragm Assembly, QG, 1153MM $1,513.65
3540340-1233 003540340123 Diaphragm Assembly, QG, 1233MM $1,526.75
3540340-1273 003540340127 Diaphragm Assembly, QG, 1273MM $1,552.90
3540340-1313 003540340131 Diaphragm Assembly, QG, 1313MM $1,564.80
3540340-1393 003540340139 Diaphragm Assembly, QG, 1393MM $1,577.85
3540340-1473 003540340147 Diaphragm Assembly, QG, 1473MM $1,590.95
3540340-1513 003540340151 Diaphragm Assembly, QG, 1513MM $1,630.15
3540340-1553 003540340155 Diaphragm Assembly, QG, 1553MM $1,642.05
3540340-1633 003540340163 Diaphragm Assembly, QG, 1633MM $1,687.25
3540340-1729 003540340172 Diaphragm Assembly, QG, 1729MM $1,737.20
3540340-1793 003540340179 Diaphragm Assembly, QG, 1793MM $1,776.40
3540340-1873 003540340187 Diaphragm Assembly, QG, 1873MM $1,802.60
3540340-1953 003540340195 Diaphragm Assembly, QG, 1953MM $1,828.75

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Page 21 of 65





QUADGUARD Il WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540340-2033

003540340203

Diaphragm Assembly, QG, 2033MM

QUADGUARD Il WIDE SYSTEM - PANELS

3540370-0000
354042L-0000
354042R-0000
3540150-0000
3540200-0000
3540211-0000
3540212-0000
3540221-0000
3540222-0000
3540458-0000

2704191-0000
2706605-0000
2715044-0000
2708841-0000

003540370-00
00354042L-00
00354042R-00
003540150-00
003540200-00
003540211-00
003540212-00
003540221-00
003540222-00
003540458-00

Fender Panel Assembly, Quad Beam F/ 69" / 90"
Trans. Panel Assembly., 4" Offset, left, F/ 69/90"
Trans. Panel Assembly., 4" Offset, right, F/ 69/90"
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG

Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90
Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

The following items compose the Mushroom Bolt Assembly for

QuadGuard 69" & 90" units.

003340G
116879G
117458G
617045G

Nut, Hex, 5/8", G Rail

Screw Flat, 5/8 x 81/2 Hex

Spring, Die, 1 1/2 OD X 3/4 x 6, F/69"/90" QG
Washer, Mushroom, Forged, QG,G

QUADGUARD Il WIDE SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,859.65

$789.50
$930.30
$867.05
$653.75
$504.75
$1,236.35
$1,252.85
$1,144.40
$1,119.20
$1,032.15

$2.65
$32.15
$36.55
$38.80

$119.60
$119.60

Page 22 of 65





QUADGUARD WIDE SYSTEM (126")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QUADGUARD WIDE SYSTEM (126") - CARTRIDGES

3540010-0000 606027B Cartridge Assembly, Type |, QG $740.45
3540020-0000 606029B Cartridge Assembly, Type Il, QG $778.40
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 23 of 65

** Pricing provided includes freight charges





QUADGUARD "CZ" SYSTEM (no plate / old style)
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QUADGUARD CZ SYSTEM - CARTRIDGES - NO PLATE

3540010-0000 606027B Cartridge Assembly, Type |, QG $740.45
3540020-0000 606029B Cartridge Assembly, Type Il, QG $778.40

QUADGUARD CZ SYSTEM - PANELS - NO PLATE

3540458-0000 003540458-00 Transition Assembly, Side Panel, End Shoe (approx. 3' long extension $1,032.15
panel)

QUADGUARD CZ SYSTEM - ANCHORING - NO PLATE

619316B 6193168 Anchor Kit, Hilti, 3/4" x 7" (6) $119.60
6193158 6193158 Anchor Kit, Hilti, 3/4" x 6-1/2" (6) $119.60
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 24 of 65

** Pricing provided includes freight charges





QUADGUARD "CZ" SYSTEM on a PLATE

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD CZ SYSTEM - PLASTIC NOSE

QZ2403P G or Y
QZ3003P G or Y
QZ3603P G or Y

QZ2404P GorY
QZ3004P GorY
QZ3604P G or Y

QZ2405P GorY
QZ3005P GorY
QZ3605P G or Y

QZ2406P G or Y
QZ3006P G or Y
QZ3606P G or Y

QZ2407P GorY
QZ3007P GorY
QZ3607P GorY

QZ2408P G or Y
QZ3008P G or Y
QZ3608P G or Y

QZ2409P Gor Y
QZ3009P GorY
QZ3609P GorY

00QZ2403P
00QZ3003P
00QZ3603P

00QZ2404P
00QZ3004P
00QZ3604P

00QZ2405P
00QZ3005P
00QZ3605P

00QZ2406P
00QZ3006P
00QZ3606P

00QZ2407P
00QZ3007P
00QZ3607P

00QZ2408P
00QZ3008P
00QZ3608P

00QZ2409P
00QZ3009P
00QZ3609P

QuadGuard, 2'0" Wide, 3-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 3-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 3-bay, Work Zone(Gray or Yellow) Plastic

QuadGuard, 2'0" Wide, 4-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 4-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 4-bay, Work Zone(Gray or Yellow) Plastic

QuadGuard, 2'0" Wide, 5-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 5-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 5-bay, Work Zone(Gray or Yellow) Plastic

QuadGuard, 2'0" Wide, 6-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 6-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 6-bay, Work Zone(Gray or Yellow) Plastic

QuadGuard, 2'0" Wide, 7-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 7-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 7-bay, Work Zone(Gray or Yellow) Plastic

QuadGuard, 2'0" Wide, 8-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 8-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 8-bay, Work Zone(Gray or Yellow) Plastic

QuadGuard, 2'0" Wide, 9-bay, Work Zone (Gray or Yellow) Plastic
QuadGuard, 2'6" Wide, 9-bay, Work Zone(Gray or Yellow) Plastic
QuadGuard, 3'0" Wide, 9-bay, Work Zone(Gray or Yellow) Plastic

$13,219.55
$13,802.20
$14,147.00

$18,165.90
$18,721.15
$19,414.35

$21,218.10
$21,910.10
$22,465.40

$22,603.30
$23,295.30
$23,850.60

$28,706.55
$29,398.55
$30,228.50

$31,887.20
$32,862.20
$33,965.60

$35,494.65
$36,468.50
$37,571.90

Note: Transitions are NOT included with units; must be ordered separately. Backup & Nose assembly is
included with units.

QUADGUARD CZ SYSTEM - BACKUPS (PLASTIC)

3540281-0300

3540281-0600

3540281-0900

003540281-03

003540281-06

003540281-09

Backup Assembly, CZ, 24, Portable, QG, 3-Bay (includes 24" backup,

monorail, plate)

Backup Assembly, CZ, 24, Portable, QG, 6-Bay (includes 24" backup,

monorail, plate)

Backup Assembly, CZ, 24, Portable, QG, 9-Bay (includes 24" backup,

monorail, plate)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$4,699.05

$7,043.80

$9,364.75

Page 25 of 65





QUADGUARD "CZ" SYSTEM on a PLATE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540282-0300

3540282-0600

3540282-0900

3540283-0300

3540283-0600

3540283-0900

003540282-03

003540282-06

003540282-09

003540283-03

003540283-06

003540283-09

Backup Assembly, CZ, 30, Portable, QG, 3-Bay (includes 30" backup,

monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 6-Bay (includes 30" backup,

monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 9-Bay (includes 30" backup,

monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 3-Bay (includes 36" backup,

monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 6-Bay (includes 36" backup,

monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 9-Bay (includes 36" backup,

monorail)

QUADGUARD CZ SYSTEM - PLASTIC NOSE ASSEMBLY

3540050-0000
3540050-0100

003540050-00
003540050-01

Plastic Nose Assembly, Gray, QG CZ
Plastic Nose Assembly, Yellow, QG, CZ

QUADGUARD CZ SYSTEM - BELT NOSE

QZ2403P G or Y
QZ3003P G or Y
QZ3603P G or Y

QZ2404P GorY
QZ3004P GorY
QZ3604P G or Y

QZ2405P GorY
QZ3005P GorY
QZ3605P G or Y

QZ2406P G or Y
QZ3006P GorY
QZ3606P GorY

QZ2407P GorY
QZ3007P GorY
QZ3607P GorY

QZ2408P GorY
QZ3008P GorY
QZ3608P GorY

00QZ2403P
00QZ3003P
00QZ3603P

00QZ2404P
00QZ3004P
00QZ3604P

00QZ2405P
00QZ3005P
00QZ3605P

00QZ2406P
00QZ3006P
00QZ3606P

00QZ2407P
00QZ3007P
00QZ3607P

00QZ2408P
00QZ3008P
00QZ3608P

QuadGuard, 2'0" Wide, 3-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 3-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 3-bay, Work Zone(Gray or Yellow) Belt

QuadGuard, 2'0" Wide, 4-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 4-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 4-bay, Work Zone(Gray or Yellow) Belt

QuadGuard, 2'0" Wide, 5-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 5-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 5-bay, Work Zone(Gray or Yellow) Belt

QuadGuard, 2'0" Wide, 6-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 6-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 6-bay, Work Zone(Gray or Yellow) Belt

QuadGuard, 2'0" Wide, 7-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 7-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 7-bay, Work Zone(Gray or Yellow) Belt

QuadGuard, 2'0" Wide, 8-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 8-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 8-bay, Work Zone(Gray or Yellow) Belt

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$4,788.20

$7,121.05

$9,480.10

$4,897.60

$7,217.40

$9,575.20

$680.40
$680.40

$14,559.60
$15,122.00
$15,395.45

$19,552.30
$20,107.55
$20,662.85

$22,603.30
$23,158.60
$23,713.85

$23,850.60
$24,543.80
$25,235.80

$29,946.70
$30,783.75
$31,757.60

$33,142.80
$34,247.40
$35,220.00

Page 26 of 65





QUADGUARD "CZ" SYSTEM on a PLATE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part #

Romacs #

Product/Description

QZ2409P GorY
QZ3009P GorY
QZ3609P G or Y

00QZ2409P
00QZ3009P
00QZ3609P

QuadGuard, 2'0" Wide, 9-bay, Work Zone (Gray or Yellow) Belt
QuadGuard, 2'6" Wide, 9-bay, Work Zone(Gray or Yellow) Belt
QuadGuard, 3'0" Wide, 9-bay, Work Zone(Gray or Yellow) Belt

Price

$36,879.90
$37,715.75
$38,820.35

Note: Transitions are NOT included with units; must be ordered separately. Backup & Nose assembly is
included with units.

QUADGUARD CZ SYSTEM - BACKUPS (BELT)

3540281-0300

3540281-0600

3540281-0900

3540282-0300

3540282-0600

3540282-0900

3540283-0300

3540283-0600

3540283-0900

003540281-03

003540281-06

003540281-09

003540282-03

003540282-06

003540282-09

003540283-03

003540283-06

003540283-09

Backup Assembly, CZ, 24, Portable, QG, 3-Bay (includes 24" backup,
monorail, plate)

Backup Assembly, CZ, 24, Portable, QG, 6-Bay (includes 24" backup,
monorail, plate)

Backup Assembly, CZ, 24, Portable, QG, 9-Bay (includes 24" backup,
monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 3-Bay (includes 30" backup,
monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 6-Bay (includes 30" backup,
monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 9-Bay (includes 30" backup,
monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 3-Bay (includes 36" backup,
monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 6-Bay (includes 36" backup,
monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 9-Bay (includes 36" backup,
monorail, plate)

QUADGUARD CZ SYSTEM - BELT NOSE ASSEMBLY

3540499-0000
3540499-0100
3540498-0000
3540498-0100

003540499-00
003540499-01
003540498-00
003540498-01

Belt Nose Assembly, Gray, Qz, 24" & 30"
Belt Nose Assembly, Yellow, QZ, 24" & 30"
Belt Nose Assembly, Gray, QZ, 36"

Belt Nose Assembly, Yellow, Qz, 36"

QUADGUARD CZ SYSTEM - CARTRIDGES

3540010-0000
3540020-0000

606027B
606029B

Cartridge Assembly, Type I, QG
Cartridge Assembly, Type Il, QG

QUADGUARD CZ SYSTEM - DIAPHRAGMS

3540071-0000
3540072-0000
3540073-0000

003540071-00
003540072-00
003540073-00

Diaphragm Assembly, Quad Beam, 24" wide
Diaphragm Assembly, Quad Beam, 30" wide
Diaphragm Assembly, Quad Beam, 36" wide

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$4,699.05
$7,043.80
$9,364.75
$4,788.20
$7,121.05
$9,480.10
$4,897.60
$7,217.40

$9,575.20

$1,950.00
$1,950.00
$1,950.00
$1,950.00

$740.45
$778.40

$936.55
$1,032.15
$1,109.40

Page 27 of 65





QUADGUARD "CZ" SYSTEM on a PLATE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD CZ SYSTEM - PANELS

3540040-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000
354021W-0048
354022N-0000
354022M-0000
354022W-0000
354022W-0048
3540458-0000

003540040-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00
00354021W-48
00354022N-00
00354022M-00
00354022W-00
00354022W-48
003540458-00

Fender Panel Assembly, Quad Beam
Trans. Panel Assembly., 4" Offset, Left
Trans. Panel Assembly., 4" Offset, Right
Trans. Panel Assembly., 9" Offset, Left
Trans. Panel Assembly., 9" Offset, Right
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG
Trans. Panel, Quad to W-Beam, 24"
Trans. Panel, Quad to W-Beam, 30"
Trans. Panel, Quad to W-Beam, 36"
Trans. Panel, Quad to W-Beam, 48"
Trans. Panel, Quad to Thrie Beam, 24"
Trans. Panel, Quad to Thrie Beam, 30"
Trans. Panel, Quad to Thrie Beam, 36"
Trans. Panel, Quad to Thrie Beam, 48"

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

QUADGUARD CZ SYSTEM - ANCHORING

619315B
619316B

3540643-0000
3540646-0000
3540649-0000
3540233-0000
3540236-0000
3540239-0000
3540260-0000
3540700-0300
3540700-0600
3540700-0900

619315B
619316B

603602B
603603B
603604B
611209B
611210B
611211B
003540260-00
003540700-03
003540700-06
003540700-09

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

Anchor Kit, QG, CZ, 1 to 3 Bay

Anchor Kit, QG, CZ, 4 to 6 Bay

Anchor Kit, QG, CZ, 7 to 9 Bay

CZ ,Portable Lifting Kit, 1, 2 or 3-Bay System on a Plate

CZz, Portable Lifting Kit, 4, 5 or 6-Bay System on a Plate

CZz, Portable Lifting Kit, 7, 8 or 9-Bay System on a Plate
PCMB Anchor Assembly (Portable Concrete Median Barrier)
Drivable Pile Anchor Assembly, 3-Bay

Drivable Pile Anchor Assembly, 4 thru 6-Bay

Drivable Pile Anchor Assembly, 7 thru 9-Bay

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40
$1,431.60
$1,195.00
$1,245.90
$1,242.30
$1,494.60
$1,032.15

$119.60
$119.60

$804.30
$1,241.15
$1,580.25
$512.80
$763.75
$936.55
$1,535.20
$1,552.90
$2,334.05
$3,122.40

Page 28 of 65





QUADGUARD Il "CZ" SYSTEM on a PLATE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD Il CZ SYSTEM - STEEL NOSE

QZ27024P
QZ27030P
QZ27036P

QZz28024P
QZ28030P
Qz28036P

QZ29024P
QZ29030P
QZ29036P

QZ210024P
QZ210030P
QZ210036P

QZ210524P
QZ210530P
QZ210536P

QZ211024P
QZ211030P
QZ211036P

QZ211524P
QZ211530P
QZ211536P

00Qz27024P
00QZ27030P
00QZ27036P

00Qz28024P
00QZ28030P
00QZ28036P

00Q229024P
00QZ29030P
00QZ29036P

00QZ210024P
00QZ210030P
00QZ210036P

00QZ210524P
00QZ210530P
00QZ210536P

00Q2211024P
00QZ211030P
00QZ211036P

00Q2211524P
00QZ211530P
00QZ211536P

QuadGuard Il, 24" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard II, 30" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard II, 36" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)

QuadGuard Il, 24" Wide, 80KPH/50MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 80KPH/50MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 80KPH/50MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 90KPH/56MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 90KPH/56MPH, (Black or Yellow)
QuadGuard Il, 36" Wide, 90KPH/56MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard II, 30" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard II, 36" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)

QuadGuard Il, 24" Wide, 105KPH/65MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 105KPH/65MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 105KPH/65MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 110KPH/68MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 110KPH/68MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 110KPH/68MPH, (Black or Yellow)

QuadGuard Il, 24" Wide, 115KPH/71MPH, (Black or Yellow)
QuadGuard II, 30" Wide, 115KPH/71MPH, (Black or Yellow)
QuadGuard II, 36" Wide, 115KPH/71MPH, (Black or Yellow)

$11,786.80
$12,344.45
$12,677.35

$15,010.20
$15,541.70
$16,207.55

$19,527.30
$20,194.35
$20,725.85

$20,867.35
$21,534.40
$22,065.85

$24,898.10
$25,563.95
$26,366.55

$29,588.80
$30,525.75
$31,587.55

$33,094.05
$34,029.80
$35,093.95

Note: Transitions are NOT included with units; must be ordered separately. Backup & Nose assembly is
included with units.

QUADGUARD Il CZ SYSTEM - BACKUPS (STEEL)

3540281-0300

3540281-0600

3540281-0900

003540281-03

003540281-06

003540281-09

Backup Assembly, CZ, 24, Portable, QG, 80KPH/50MPH (includes 24"

backup, monorail, plate)

Backup Assembly, CZ, 24, Portable, QG, 105KPH/65MPH (includes 24"

backup, monorail, plate)

Backup Assembly, CZ, 24, Portable, QG, 120KPH/75MPH (includes 24"

backup, monorail, plate)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$4,699.05

$7,043.80

$9,364.75

Page 29 of 65





QUADGUARD Il "CZ" SYSTEM on a PLATE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description

3540282-0300

3540282-0600

3540282-0900

3540283-0300

3540283-0600

3540283-0900

003540282-03

003540282-06

003540282-09

003540283-03

003540283-06

003540283-09

Backup Assembly, CZ, 30, Portable, QG, 80KPH/50MPH (includes 30"
backup, monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 105KPH/65MPH (includes 30"
backup, monorail, plate)

Backup Assembly, CZ, 30, Portable, QG, 120KPH/75MPH (includes 30"
backup, monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 80KPH/50MPH (includes 36"
backup, monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 105KPH/65MPH (includes 36"
backup, monorail, plate)

Backup Assembly, CZ, 36, Portable, QG, 120KPH/75MPH (includes 36"
backup, monorail, plate)

QUADGUARD Il CZ SYSTEM - STEEL NOSE ASSEMBLY

3540042-0100
3540042-0200

003540042-01
003540042-02

Steel Nose Assembly, Narrow, Yellow, QG I

Steel Nose Assembly, Narrow, Black, QG I

QUADGUARD Il CZ SYSTEM - CARTRIDGES

3540010-0000
3540020-0000

606027B
606029B

Cartridge Assembly, Type |, QG
Cartridge Assembly, Type Il, QG

QUADGUARD Il CZ SYSTEM - DIAPHRAGMS

3540078-0000

3540071-0000
3540072-0000
3540073-0000

003540078-00

003540071-00
003540072-00
003540073-00

Shim Kit, Rail Guide, QG I

Diaphragm Assembly, Quad Beam, 24" wide
Diaphragm Assembly, Quad Beam, 30" wide
Diaphragm Assembly, Quad Beam, 36" wide

Note: Shim Kits are NOT included with diaphragm assemblies; must be ordered separately.
QUADGUARD Il CZ SYSTEM - PANELS

3540040-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000

003540040-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00

Fender Panel Assembly, Quad Beam

Trans. Panel Assembly., 4" Offset, Left
Trans. Panel Assembly., 4" Offset, Right
Trans. Panel Assembly., 9" Offset, Left
Trans. Panel Assembly., 9" Offset, Right

End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG
Trans. Panel, Quad to W-Beam, 24"

Trans. Panel, Quad to W-Beam, 30"

Trans. Panel, Quad to W-Beam, 36"

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$4,788.20
$7,121.05
$9,480.10
$4,897.60
$7,217.40

$9,575.20

$731.85
$731.85

$740.45
$778.40

$62.55

$936.55
$1,032.15
$1,109.40

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40

Page 30 of 65





QUADGUARD Il "CZ" SYSTEM on a PLATE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

354021W-0048
354022N-0000
354022M-0000
354022W-0000
354022W-0048
3540458-0000

00354021W-48
00354022N-00
00354022M-00
00354022W-00
00354022W-48
003540458-00

Trans. Panel, Quad to W-Beam, 48"

Trans. Panel, Quad to Thrie Beam, 24"
Trans. Panel, Quad to Thrie Beam, 30"
Trans. Panel, Quad to Thrie Beam, 36"
Trans. Panel, Quad to Thrie Beam, 48"

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

QUADGUARD I CZ SYSTEM - ANCHORING

619315B
619316B

3540643-0000
3540646-0000
3540649-0000
3540233-0000
3540236-0000
3540239-0000
3540260-0000
3540700-0300
3540700-0600
3540700-0900

619315B
619316B

603602B
603603B
603604B
611209B
611210B
611211B
003540260-00
003540700-03
003540700-06
003540700-09

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

Anchor Kit, QG, CZ, 1 to 3 Bay

Anchor Kit, QG, CZ, 4 to 6 Bay

Anchor Kit, QG, CZ, 7 to 9 Bay

CZ ,Portable Lifting Kit, 1, 2 or 3-Bay System on a Plate

CZz, Portable Lifting Kit, 4, 5 or 6-Bay System on a Plate

CZz, Portable Lifting Kit, 7, 8 or 9-Bay System on a Plate
PCMB Anchor Assembly (Portable Concrete Median Barrier)
Drivable Pile Anchor Assembly, 3-Bay

Drivable Pile Anchor Assembly, 4 thru 6-Bay

Drivable Pile Anchor Assembly, 7 thru 9-Bay

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,431.60
$1,195.00
$1,245.90
$1,242.30
$1,494.60
$1,032.15

$119.60
$119.60

$804.30
$1,241.15
$1,580.25
$512.80
$763.75
$936.55
$1,535.20
$1,552.90
$2,334.05
$3,122.40

Page 31 of 65





QUADGUARD ELITE NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

QUADGUARD ELITE NARROW SYSTEM

QS2405EG 00QS2405EG QuadGuard,ELITE 2'0" Wide 5-Bay (Gray) $16,425.15
QS2405EY 00QS2405EY QuadGuard,ELITE 2'0" Wide 5-Bay (Yellow) $16,425.15
QS3005EG 00QS3005EG QuadGuard,ELITE 2'6" Wide 5-Bay (Gray) $17,008.95
QS3005EY 00QS3005EY QuadGuard,ELITE 2'6" Wide 5-Bay (Yellow) $17,008.95
QS3605EG 00QS3605EG QuadGuard,ELITE 3'0" Wide 5-Bay (Gray) $17,711.70
QS3605EY 00QS3605EY QuadGuard,ELITE 3'0" Wide 5-Bay (Yellow) $17,711.70
QS2407EG 00QS2407EG QuadGuard,ELITE 2'0" Wide 7-Bay (Gray) $17,711.70
QS2407EY 00QS2407EY QuadGuard,ELITE 2'0" Wide 7-Bay (Yellow) $17,876.95
QS3007EG 00QS3007EG QuadGuard,ELITE 2'6" Wide 7-Bay (Gray) $18,001.80
QS3007EY 00QS3007EY QuadGuard,ELITE 2'6" Wide 7-Bay (Yellow) $18,001.80
QS3607EG 00QS3607EG QuadGuard,ELITE 3'0" Wide 7-Bay (Gray) $18,881.70
QS3607EY 00QS3607EY QuadGuard,ELITE 3'0" Wide 7-Bay (Yellow) $18,881.70
QS2408EG 00QS2408EG QuadGuard,ELITE 2'0" Wide 8-Bay (Gray) $21,030.25
QS2408EY 00QS2408EY QuadGuard,ELITE 2'0" Wide 8-Bay (Yellow) $21,030.25
QS3008EG 00QS3008EG QuadGuard,ELITE 2'6" Wide 8-Bay (Gray) $21,356.05
QS3008EY 00QS3008EY QuadGuard,ELITE 2'6" Wide 8-Bay (Yellow) $21,356.05
QS3608EG 00QS3608EG QuadGuard,ELITE 3'0" Wide 8-Bay (Gray) $22,115.80
QS3608EY 00QS3608EY QuadGuard,ELITE 3'0" Wide 8-Bay (Yellow) $22,654.75
QS2411EG 00QS2411EG QuadGuard,ELITE 2'0" Wide 11-Bay (Gray) $29,907.45
QS2411EY 00QS2411EY QuadGuard,ELITE 2'0" Wide 11-Bay (Yellow) $29,907.45
QS3011EG 00QS3011EG QuadGuard,ELITE 2'6" Wide 11-Bay (Gray) $30,378.30
QS3011EY 00QS3011EY QuadGuard,ELITE 2'6" Wide 11-Bay (Yellow) $30,378.30
QS3611EG 00QS3611EG QuadGuard,ELITE 3'0" Wide 11-Bay (Gray) $31,767.10
QS3611EY 00QS3611EY QuadGuard,ELITE 3'0" Wide 11-Bay (Yellow) $31,767.10
QS2414EG 00QS2414EG QuadGuard,ELITE 2'0" Wide 14-Bay (Gray) $38,804.90
QS2414EY 00QS2414EY QuadGuard,ELITE 2'0" Wide 14-Bay (Yellow) $38,804.90
QS3014EG 00QS3014EG QuadGuard,ELITE 2'6" Wide 14-Bay (Gray) $39,387.55
QS3014EY 00QS3014EY QuadGuard,ELITE 2'6" Wide 14-Bay (Yellow) $39,387.55
QS3614EG 00QS3614EG QuadGuard,ELITE 3'0" Wide 14-Bay (Gray) $41,178.20
QS3614EY 00QS3614EY QuadGuard,ELITE 3'0" Wide 14-Bay (Yellow) $41,178.20

Note: Transitions are NOT included with units; must be ordered separately. Nose assembly is included with

units.

QUADGUARD ELITE NARROW SYSTEM - BACKUPS

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Page 32 of 65





QUADGUARD ELITE NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description

3540484-0000 003540484-00 Backup Assembly, Tension Strut, 24" wide, Elite
3540485-0000 003540485-00 Backup Assembly, Tension Strut, 30" wide, Elite
3540486-0000 003540486-00 Backup Assembly, Tension Strut, 36" wide, Elite

QUADGUARD ELITE NARROW SYSTEM - NOSE ASSEMBLY

3540495-0000
3540495-0100
3540504-0000
3540504-0100

003540495-00
003540495-01
003540504-00
003540504-01

Elite Belt Nose Assembly., 24" & 30", Gray
Elite Belt Nose Assembly., 24" & 30", Yellow
Elite Belt Nose Assembly., 36", Gray

Elite Belt Nose Assembly., 36", Yellow

QUADGUARD ELITE NARROW SYSTEM - MONORAILS

2760041-0000
2760051-0000
2760071-0000

608136G
611370G
611379G

Endcap, Monorail, QG, G
Monorail, 1-Bay, QG, G
Monorail, 3-Bay, QG, G

QUADGUARD ELITE NARROW SYSTEM - CYLINDERS

3540480-0000
3540479-0000
3540463-0000

6066468
606647B
003540463-00

Cylinder Assembly,Elite, QE1
Cylinder Assembly,Elite, QE2

Hit Indicator Assembly

QUADGUARD ELITE NARROW SYSTEM - DIAPHRAGMS

3540464-0000
3540465-0000
3540466-0000

003540464-00
003540465-00
003540466-00

QuadGuard Elite, Diaphragm, 24"
QuadGuard Elite, Diaphragm, 30"
QuadGuard Elite, Diaphragm, 36"

QUADGUARD ELITE NARROW SYSTEM - PANELS

3540585-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000

003540585-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00

Fender Panel Assembly, QE

Trans. Panel Assembly., 4" Offset, Left
Trans. Panel Assembly., 4" Offset, Right
Trans. Panel Assembly., 9" Offset, Left
Trans. Panel Assembly., 9" Offset, Right

End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG
Trans. Panel, Quad to W-Beam, 24"

Trans. Panel, Quad to W-Beam, 30"

Trans. Panel, Quad to W-Beam, 36"

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$2,300.80
$2,363.80
$2,450.60

$3,167.60
$3,167.60
$3,167.60
$3,167.60

$91.35
$519.45
$1,322.20

$2,162.85
$2,991.60
$232.75

$1,006.40
$1,093.45
$1,169.50

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40

Page 33 of 65





QUADGUARD ELITE NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

354021W-0048
354022N-0000
354022M-0000
354022W-0000
354022W-0048
3540458-0000

00354021W-48
00354022N-00
00354022M-00
00354022W-00
00354022W-48
003540458-00

Trans. Panel, Quad to W-Beam, 48"

Trans. Panel, Quad to Thrie Beam, 24"
Trans. Panel, Quad to Thrie Beam, 30"
Trans. Panel, Quad to Thrie Beam, 36"
Trans. Panel, Quad to Thrie Beam, 48"

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

QUADGUARD ELITE NARROW SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,431.60
$1,195.00
$1,245.90
$1,242.30
$1,494.60
$1,032.15

$119.60
$119.60

Page 34 of 65





QUADGUARD ELITE WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD ELITE WIDE SYSTEM

QS6905EG
QS6905EY
QS9005EG
QS9005EY

QS6907EG
QS6907EY
QS9007EG
QS9007EY

QS6908EG
QS6908EY
QS9008EG
QS9008EY

QS6911EG
QS6911EY
QS9011EG
QS9011EY

00QS6905EG
00QS6905EY
00QS9005EG
00QS9005EY

00QS6907EG
00QS6907EY
00QS9007EG
00QS9007EY

00QS6908EG
00QS6908EY
00QS9008EG
00QS9008EY

00QS6911EG
00QS6911EY
00QS9011EG
00QS9011EY

QuadGuard, ELITE, 69" Wide, 5-Bay (Gray)
QuadGuard, ELITE, 69" Wide, 5-Bay (Yellow)
QuadGuard, ELITE, 90" Wide, 5-Bay (Gray)
QuadGuard, ELITE, 90" Wide, 5-Bay (Yellow)

QuadGuard, ELITE, 69" Wide, 7-Bay (Gray)
QuadGuard, ELITE, 69" Wide, 7-Bay (Yellow)
QuadGuard, ELITE, 90" Wide, 7-Bay (Gray)
QuadGuard, ELITE, 90" Wide, 7-Bay (Yellow)

QuadGuard, ELITE, 69" Wide, 8-Bay (Gray)
QuadGuard, ELITE, 69" Wide, 8-Bay (Yellow)
QuadGuard, ELITE, 90" Wide, 8-Bay (Gray)
QuadGuard, ELITE, 90" Wide, 8-Bay (Yellow)

QuadGuard, ELITE, 69" Wide, 11-Bay (Gray)
QuadGuard, ELITE, 69" Wide, 11-Bay (Yellow)
QuadGuard, ELITE, 90" Wide, 11-Bay (Gray)
QuadGuard, ELITE, 90" Wide, 11-Bay (Yellow)

$20,037.40
$20,037.40
$21,274.00
$21,274.00

$22,839.95
$22,839.95
$23,147.90
$23,147.90

$26,477.15
$26,477.15
$26,747.05
$26,747.05

$37,604.00
$37,604.00
$38,923.80
$38,923.80

Note: Transitions are NOT included with units; must be ordered separately. Nose assembly is included with

units.

QUADGUARD ELITE WIDE SYSTEM - BACKUPS

3540396-0000
3540397-0000

003540396-00
003540397-00

Backup Assembly, Tension Strut, 69" wide, ELITE
Backup Assembly, Tension Strut, 90" wide, ELITE

QUADGUARD ELITE WIDE SYSTEM - NOSE ASSEMBLY

3540575-0000

3540502-0000
3540502-0100
3540503-0000
3540503-0100
3540496-0000
3540496-0100
3540497-0000
3540497-0100

003540575-00

611563B
003540502-01
611567B
003540503-01
611565B
003540496-01
611569B
003540497-01

Elite Belt Nose Assembly, 90", 8 Bay, Gray

Elite Belt Nose Assembly., 69", 5 Bay & 7 Bay, Gray

Elite Belt Nose Assembly., 69", 5 Bay & 7 Bay, Yellow

Elite Belt Nose Assembly., 69", 8 Bay, 90", 5 bay & 7 Bay, Gray
Elite Belt Nose Assembly., 69", 8 Bay, 90", 5 bay & 7 Bay, Yellow
Elite Belt Nose Assembly., 69", 11 Bay, Gray

Elite Belt Nose Assembly., 69", 11 Bay, Yellow

Elite Belt Nose Assembly., 90" 11 Bay, Gray

Elite Belt Nose Assembly., 90" 11 Bay, Yellow

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$3,077.85
$3,127.05

$3,457.70

$3,457.70
$3,457.70
$3,457.70
$3,457.70
$3,457.70
$3,457.70
$3,457.70
$3,457.70

Page 35 of 65





QUADGUARD ELITE WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540575-0100

003540575-01

Elite Belt Nose Assembly, 90", 8 Bay, Yellow

QUADGUARD ELITE WIDE SYSTEM - MONORAILS

3540482-0700
3540482-1100
2760041-0000
2760051-0000
2760071-0000

611360B
003540482-11
608136G
611370G
611379G

Monorail Assembly, QGE, 7-Bay
Monorail Assembly, QGE, 11-Bay
Endcap, Monorail, QG, G
Monorail, 1-Bay, QG, G

Monorail, 3-Bay, QG, G

QUADGUARD ELITE WIDE SYSTEM - CYLINDERS

3540480-0000
3540479-0000
3540463-0000

6066468
606647B
003540463-00

Cylinder Assembly,Elite, QE1
Cylinder Assembly,Elite, QE2
Hit Indicator Assembly

QUADGUARD ELITE WIDE SYSTEM - DIAPHRAGMS

3540342-1073
3540342-1153
3540342-1233
3540342-1313
3540342-1393
3540342-1473
3540342-1553
3540342-1633
3540342-1729
3540342-1793
3540342-1873
3540342-1953
3540342-2033
3540501-0753
3540501-0833
3540501-0913
3540501-0993
3540501-1073
3540501-1153
3540501-1233
3540501-1313
3540501-1393

003540342107
003540342115
003540342123
003540342131
003540342139
003540342147
003540342155
003540342163
003540342172
003540342179
003540342187
607142B

003540342203
003540501075
003540501083
003540501091
003540501099
003540501107
003540501115
003540501123
003540501131
003540501139

Diaphragm Assembly, QG Elite/LMC, 1073MM
Diaphragm Assembly, QG Elite/LMC, 1153MM
Diaphragm Assembly, QG Elite/LMC, 1233MM
Diaphragm Assembly, QG Elite/LMC, 1313MM
Diaphragm Assembly, QG Elite/LMC, 1393MM
Diaphragm Assembly, QG Elite/LMC, 1473MM
Diaphragm Assembly, QG Elite/LMC, 1553MM
Diaphragm Assembly, QG Elite/LMC, 1633MM
Diaphragm Assembly, QG Elite/LMC, 1729MM
Diaphragm Assembly, QG Elite/LMC, 1793MM
Diaphragm Assembly, QG Elite/LMC, 1873MM
Diaphragm Assembly, QG Elite/LMC, 1953MM
Diaphragm Assembly, QG Elite/LMC, 2033MM
Diaphragm Assembly, QG Elite, 753MM
Diaphragm Assembly, QG Elite, 0833MM
Diaphragm Assembly, QG Elite, 913MM
Diaphragm Assembly, QG Elite, 0993 mm
Diaphragm Assembly, QG Elite, 1073MM
Diaphragm Assembly, QG Elite, 1153MM
Diaphragm Assembly, QG Elite, 1233MM
Diaphragm Assembly, QG Elite, 1313MM
Diaphragm Assembly, QG Elite, 1393MM

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$3,457.70

$3,532.60
$5,943.95
$91.35
$519.45
$1,322.20

$2,162.85
$2,991.60
$232.75

$1,517.20
$1,543.35
$1,582.60
$1,608.75
$1,621.85
$1,648.00
$1,674.15
$1,713.40
$1,752.65
$1,791.90
$1,844.20
$1,844.20
$1,870.35
$1,283.00
$1,307.95
$1,344.80
$1,382.85
$1,458.95
$1,483.90
$1,521.95
$1,545.75
$1,560.00

Page 36 of 65





QUADGUARD ELITE WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD ELITE WIDE SYSTEM - PANELS

3540472-0000
354042L-0000
354042R-0000
3540150-0000
3540200-0000
3540211-0000
3540212-0000
3540221-0000
3540222-0000
2760435-0000
354029L-0000
354029R-0000
3540458-0000

003540472-00
00354042L-00
00354042R-00
003540150-00
003540200-00
003540211-00
003540212-00
003540221-00
003540222-00
610172G

00354029L-00
00354029R-00
003540458-00

Fender Panel Assembly, Quad Beam 69"/90"

Trans. Panel Assembly., 4" Offset, left, F/ 69/90"
Trans. Panel Assembly., 4" Offset, right, F/ 69/90"
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG

Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90
Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90

Hinge Plate, Fender Panel, QG,G (Replaces 2760573-0000)
Trans. Panel Assembly., 9" Offset, Left

Trans. Panel Assembly., 9" Offset, Right

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

QUADGUARD ELITE WIDE SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$798.05
$930.30
$867.05
$653.75
$504.75
$1,236.35
$1,252.85
$1,144.40
$1,119.20
$74.50
$1,233.70
$1,235.30
$1,032.15

$119.60
$119.60

Page 37 of 65





QUADGUARD HIGH SPEED SYSTEM
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD HIGH SPEED SYSTEM

QH2409G or Y
QH3009G or Y
QH3609G or Y

00QH2409
00QH3009
00QH3609

QuadGuard, 2'0" Wide, 9-Bay, 70 MPH (113K)
QuadGuard, 2'6" Wide, 9-Bay, 70 MPH (113K)
QuadGuard, 3'0" Wide, 9-Bay, 70 MPH (113K)

$30,327.20
$31,006.10
$31,954.95

Note: Backups & Transitions are NOT included with units; must be ordered separately. Belt Nose is standard
for the QuadGuard HS

QUADGUARD HIGH SPEED SYSTEM - BACKUPS

3540031-0000
3540032-0000
3540033-0000

003540031-00
003540032-00
003540033-00

Backup Assembly, Tension Strut, 24" wide
Backup Assembly, Tension Strut, 30" wide
Backup Assembly, Tension Strut, 36" wide

QUADGUARD HIGH SPEED SYSTEM - NOSE ASSEMBLY

3540611-0000
3540611-0100
3540612-0000
3540612-0100
3540050-0000
3540050-0100

003540611-00
003540611-01
003540612-00
003540612-01
003540050-00
003540050-01

Belt Nose Assembly, Gray, High Speed, 24" & 30"
Belt Nose Assembly, Yellow, High Speed, 24" & 30"
Belt Nose Assembly, Gray, High Speed, 36"

Belt Nose Assembly, Yellow, High Speed, 36"
Plastic Nose Assembly, Gray, QG

Plastic Nose Assembly, Yellow, QG

QUADGUARD HIGH SPEED SYSTEM - MONORAILS

3540060-0900
2760041-0000
2760051-0000
2760061-0000
2760071-0000

003540060-09
608136G
611370G
611375G
611379G

Monorail Assembly, 9-Bay, QG
Endcap, Monorail, QG, G
Monorail, 1-Bay, QG, G
Monorall, 2-Bay, QG, G
Monorail, 3-Bay, QG, G

QUADGUARD HIGH SPEED SYSTEM - CARTRIDGES

3540010-0000
3540020-0000

606027B
606029B

Cartridge Assembly, Type I, QG
Cartridge Assembly, Type Il, QG

QUADGUARD HIGH SPEED SYSTEM - DIAPHRAGMS

3540015-0000
3540016-0000
3540017-0000

003540015-00
003540016-00
003540017-00

Diaphragm Assembly, Quad Beam, 24" wide- High Speed
Diaphragm Assembly, Quad Beam, 30" wide- High Speed
Diaphragm Assembly, Quad Beam, 36" wide- High Speed

QUADGUARD HIGH SPEED SYSTEM - PANELS

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$2,551.65
$2,615.85
$2,712.20

$1,950.00
$1,950.00
$1,950.00
$1,950.00
$680.40
$680.40

$5,122.35
$91.35
$519.45
$1,032.15
$1,322.20

$740.45
$778.40

$1,244.95
$1,354.30
$1,417.35

Page 38 of 65





QUADGUARD HIGH SPEED SYSTEM
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540040-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000
354021W-0048
354022N-0000
354022M-0000
354022W-0000
354022W-0048
3540458-0000

003540040-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00
00354021W-48
00354022N-00
00354022M-00
00354022W-00
00354022W-48
003540458-00

Fender Panel Assembly, Quad Beam

Trans.
Trans.
Trans.
Trans.

Panel Assembly., 4" Offset, Left
Panel Assembly., 4" Offset, Right
Panel Assembly., 9" Offset, Left
Panel Assembly., 9" Offset, Right

End Shoe, Quad Beam
Deflector Retrofit Assembly., F/Con. B-up, QG

Trans.
Trans.
Trans.
Trans.
Trans.
Trans.
Trans.
Trans.

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension

panel)

Panel, Quad to W-Beam, 24"
Panel, Quad to W-Beam, 30"
Panel, Quad to W-Beam, 36"
Panel, Quad to W-Beam, 48"
Panel, Quad to Thrie Beam, 24"
Panel, Quad to Thrie Beam, 30"
Panel, Quad to Thrie Beam, 36"
Panel, Quad to Thrie Beam, 48"

QUADGUARD HIGH SPEED SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40
$1,431.60
$1,195.00
$1,245.90
$1,242.30
$1,494.60
$1,032.15

$119.60
$119.60

Page 39 of 65





QUADGUARD M10 NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD M10 NARROW SYSTEM - STEEL NOSE

QM7024
QM7030
QM7036

QM10024
QM10030
QM10036

00QM7024
00QM7030
00QM7036

00QM10024
00QM10030
00QM10036

QuadGuard M10, 24" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard M10, 30" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard M10, 36" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)

QuadGuard M10, 24" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard M10, 30" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard M10, 36" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)

$10,883.15
$11,151.85
$11,766.55

$21,281.10
$21,926.75
$22,579.55

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD M10 NARROW SYSTEM - BACKUPS (STEEL)

3540031-0000
3540032-0000
3540033-0000

3540141-0000
3540142-0000
3540143-0000

003540031-00
003540032-00
003540033-00

003540141-00
003540142-00
003540143-00

Backup Assembly, Tension Strut, 24" wide
Backup Assembly, Tension Strut, 30" wide
Backup Assembly, Tension Strut, 36" wide

Backup Assembly, Concrete, 24" wide
Backup Assembly, Concrete, 30" wide

Backup Assembly, Concrete, 36" wide

QUADGUARD M10 NARROW SYSTEM - STEEL NOSE ASSEMBLY

617385B
617424B
617425B

00617385B
00617424B
00617425B

Steel Nose Assembly, Narrow, Gray, QG M10
Steel Nose Assembly, Narrow, Yellow, QG M10
Steel Nose Assembly, Narrow, Black, QG M10

QUADGUARD M10 NARROW SYSTEM - MONORAILS

3540060-0300
3540060-0600

003540060-03
003540060-06

Monorail Assembly, 3-Bay, 70KPH/44MPH, QG M10
Monorail Assembly, 6-Bay, 100KPH/62MPH, QG M10

QUADGUARD M10 NARROW SYSTEM - CARTRIDGES

617412B
617414B

617412B
617414B

Cartridge Assembly, Type M-I, QG M10
Cartridge Assembly, Type M-1l, QG M10

QUADGUARD M10 NARROW SYSTEM - DIAPHRAGMS

3540078-0000

3540071-0000
3540072-0000

003540078-00

003540071-00
003540072-00

Shim Kit, Rail Guide, QG M10

Diaphragm Assembly, Quad Beam, 24" wide
Diaphragm Assembly, Quad Beam, 30" wide

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$2,551.65
$2,615.85
$2,712.20

$1,455.40
$1,526.75
$1,630.15

$948.80
$948.80
$948.80

$1,526.75
$3,456.50

$963.55
$1,011.35

$62.55

$936.55
$1,032.15

Page 40 of 65





QUADGUARD M10 NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540073-0000

003540073-00

Diaphragm Assembly, Quad Beam, 36" wide

Note: Shim Kits are NOT included with diaphragm assemblies; must be ordered separately.

QUADGUARD M10 NARROW SYSTEM - PANELS

3540040-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000
354022N-0000
354022M-0000
354022W-0000
3540458-0000

2704141-0000
2706604-0000
2708291-0000
2708841-0000
2715343-0000

003540040-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00
00354022N-00
00354022M-00
00354022W-00
003540458-00

Fender Panel Assembly, Quad Beam
Trans. Panel Assembly., 4" Offset, Left
Trans. Panel Assembly., 4" Offset, Right
Trans. Panel Assembly., 9" Offset, Left
Trans. Panel Assembly., 9" Offset, Right
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG
Trans. Panel, Quad to W-Beam, 24"
Trans. Panel, Quad to W-Beam, 30"
Trans. Panel, Quad to W-Beam, 36"
Trans. Panel, Quad to Thrie Beam, 24"
Trans. Panel, Quad to Thrie Beam, 30"
Trans. Panel, Quad to Thrie Beam, 36"

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

The following items compose the Mushroom Bolt Assembly for

QuadGuard 24", 30", & 36"

003354G
116878G
003300G
617045G
117459W

Nut, Hex, 5/8", G

Screw Flat 5/8" x 5" G8, Hex Socket

Washer,Flat, 5/8x1 3/4,G

Washer, Mushroom, Forged, QG,G

Spring Die (replaces part # 2021611-0000 Elastomeric Bushing)

QUADGUARD M10 NARROW SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,109.40

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40
$1,195.00
$1,245.90
$1,242.30
$1,032.15

$1.10
$12.35
$2.35
$38.80
$11.40

$119.60
$119.60

Page 41 of 65





QUADGUARD M10 WIDE SYSTEM (69", 90"
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD M10 WIDE SYSTEM - STEEL NOSE

QM7069
QM7090

QM10069
QM10090

00QM7069
00QM7090

00QM10069
00QM10090

QuadGuard M10, 69" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)
QuadGuard M10, 90" Wide, 70KPH/44MPH, TL-2, (Black or Yellow)

QuadGuard M10, 69" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)
QuadGuard M10, 90" Wide, 100KPH/62MPH, TL-3, (Black or Yellow)

$13,910.40
$14,927.00

$26,088.35
$27,553.20

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD M10 WIDE SYSTEM - BACKUPS (STEEL)

3540391-0000
3540392-0000

3540401-0000
3540402-0000

003540391-00
003540392-00

003540401-00
003540402-00

Tension Strut Backup 69"
Tension Strut Backup 90"

Concrete Backup 69"
Concrete Backup 90"

QUADGUARD M10 WIDE SYSTEM - STEEL NOSE ASSEMBLY

617118B
617419B

00617418B
00617419B

Steel Nose Assembly, Wide, Yellow, QG M10
Steel Nose Assembly, Wide, Black, QG M10

QUADGUARD M10 WIDE SYSTEM - MONORAILS

3540060-0300
3540060-0600

003540060-03
003540060-06

Monorail Assembly, 3-Bay, 70KPH/44MPH, QG M10
Monorail Assembly, 6-Bay, 100KPH/62MPH, QG M10

QUADGUARD M10 WIDE SYSTEM - CARTRIDGES

617412B
617414B

617412B
617414B

Cartridge Assembly, Type M-I, QG M10
Cartridge Assembly, Type M-Il, QG M10

QUADGUARD M10 WIDE SYSTEM - DIAPHRAGMS

3540078-0000

3540340-0610
3540340-0673
3540340-0753
3540340-0833
3540340-0913
3540340-0993
3540340-1073

003540078-00

003540340061
003540340067
003540340075
003540340083
003540340091
003540340099
003540340107

Shim Kit, Rail Guide, QG M10

Diaphragm Assembly, QG, 610MM
Diaphragm Assembly, QG, 673MM
Diaphragm Assembly, QG, 753MM
Diaphragm Assembly, QG, 833MM
Diaphragm Assembly, QG, 913MM
Diaphragm Assembly, QG, 993MM
Diaphragm Assembly, QG, 1073MM

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$3,291.70
$3,334.05

$2,628.75
$2,643.70

$986.80
$986.80

$1,526.75
$3,456.50

$963.55
$1,011.35

$62.55

$1,039.55
$1,256.80
$1,283.00
$1,307.95
$1,379.30
$1,405.45
$1,481.55

Page 42 of 65





QUADGUARD M10 WIDE SYSTEM (69", 90"
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3540340-1153
3540340-1233
3540340-1273
3540340-1313
3540340-1393
3540340-1473
3540340-1513
3540340-1553
3540340-1633
3540340-1729
3540340-1793
3540340-1873
3540340-1953
3540340-2033

003540340115
003540340123
003540340127
003540340131
003540340139
003540340147
003540340151
003540340155
003540340163
003540340172
003540340179
003540340187
003540340195
003540340203

Diaphragm Assembly, QG, 1153MM
Diaphragm Assembly, QG, 1233MM
Diaphragm Assembly, QG, 1273MM
Diaphragm Assembly, QG, 1313MM
Diaphragm Assembly, QG, 1393MM
Diaphragm Assembly, QG, 1473MM
Diaphragm Assembly, QG, 1513MM
Diaphragm Assembly, QG, 1553MM
Diaphragm Assembly, QG, 1633MM
Diaphragm Assembly, QG, 1729MM
Diaphragm Assembly, QG, 1793MM
Diaphragm Assembly, QG, 1873MM
Diaphragm Assembly, QG, 1953MM
Diaphragm Assembly, QG, 2033MM

Note: Shim Kits are NOT included with diaphragm assemblies; must be ordered separately.

QUADGUARD M10 WIDE SYSTEM - PANELS

3540370-0000
354042L-0000
354042R-0000
3540150-0000
3540200-0000
3540211-0000
3540212-0000
3540221-0000
3540222-0000
3540458-0000

2704191-0000
2706605-0000
2715044-0000
2708841-0000

003540370-00
00354042L-00
00354042R-00
003540150-00
003540200-00
003540211-00
003540212-00
003540221-00
003540222-00
003540458-00

Fender Panel Assembly, Quad Beam F/ 69" / 90"
Trans. Panel Assembly., 4" Offset, left, F/ 69/90"
Trans. Panel Assembly., 4" Offset, right, F/ 69/90"
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG

Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90
Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

The following items compose the Mushroom Bolt Assembly for

QuadGuard 69" & 90" units.

003340G
116879G
117458G
617045G

Nut, Hex, 5/8", G Rail

Screw Flat, 5/8 x 81/2 Hex

Spring, Die, 1 1/2 OD X 3/4 x 6, F/69"/90" QG
Washer, Mushroom, Forged, QG,G

QUADGUARD M10 WIDE SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,513.65
$1,526.75
$1,552.90
$1,564.80
$1,577.85
$1,590.95
$1,630.15
$1,642.05
$1,687.25
$1,737.20
$1,776.40
$1,802.60
$1,828.75
$1,859.65

$789.50
$930.30
$867.05
$653.75
$504.75
$1,236.35
$1,252.85
$1,144.40
$1,119.20
$1,032.15

$2.65
$32.15
$36.55
$38.80

$119.60
$119.60

Page 43 of 65





QUADGUARD ELITE M10 NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD ELITE M10 NARROW SYSTEM

QM7024EG
QM7024EY
QM7030EG
QM7030EY
QM7036EG
QM7036EY

QM10024EG
QM10024EY
QM10030EG
QM10030EY
QM10036EG
QM10036EY

00QM7024EG
00QM7024EY
00QM7030EG
00QM7030EY
00QM7036EG
00QM7036EY

00QM10024EG
00QM10024EY
00QM10030EG
00QM10030EY
00QM10036EG
00QM10036EY

QuadGuard,ELITE M10, 2'0" Wide, 4-Bay, TL-2, (Gray)
QuadGuard,ELITE M10, 2'0" Wide, 4-Bay, TL-2, (Yellow)
QuadGuard,ELITE M10, 2'6" Wide, 4-Bay, TL-2, (Gray)
QuadGuard,ELITE M10, 2'6" Wide, 4-Bay, TL-2, (Yellow)
QuadGuard,ELITE M10, 3'0" Wide, 4-Bay, TL-2, (Gray)
QuadGuard,ELITE M10, 3'0" Wide, 4-Bay, TL-2, (Yellow)

QuadGuard,ELITE M10, 2'0" Wide, 8-Bay, TL-3, (Gray)
QuadGuard,ELITE M10, 2'0" Wide, 8-Bay, TL-3, (Yellow)
QuadGuard,ELITE M10, 2'6" Wide, 8-Bay, TL-3, (Gray)
QuadGuard,ELITE M10, 2'6" Wide, 8-Bay, TL-3, (Yellow)
QuadGuard,ELITE M10, 3'0" Wide, 8-Bay, TL-3, (Gray)
QuadGuard,ELITE M10, 3'0" Wide, 8-Bay, TL-3, (Yellow)

$19,319.25
$19,319.25
$20,005.30
$20,005.30
$20,836.45
$20,836.45

$24,455.80
$24,455.80
$24,823.20
$24,823.20
$25,742.35
$25,742.35

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD ELITE M10 NARROW SYSTEM - BACKUPS

618857B
618858B
618859B

00618857B
00618858B
00618859B

Backup Assembly, Tension Strut, 24" wide, Elite M10
Backup Assembly, Tension Strut, 30" wide, Elite M10
Backup Assembly, Tension Strut, 36" wide, Elite M10

QUADGUARD ELITE M10 NARROW SYSTEM - NOSE ASSEMBLY

618842B
618843B
618849B
618850B

00618842B
00618843B
00618849B
00618850B

Elite M10 Belt Nose Assembly., 24" & 30", Gray
Elite M10 Belt Nose Assembly., 24" & 30", Yellow
Elite M10 Belt Nose Assembly., 36", Gray

Elite M10 Belt Nose Assembly., 36", Yellow

QUADGUARD ELITE M10 NARROW SYSTEM - MONORAILS

3540060-0400
3540060-0800

003540060-04
003540060-08

Monorail Assembly, 4-Bay, TL-2, QG M10
Monorail Assembly, 8-Bay, TL-3, QG M10

QUADGUARD ELITE M10 NARROW SYSTEM - CYLINDERS

618538B
618649B
618702B

3540463-0000

618538B
618649B
618702B

003540463-00

Cylinder, ME1, Elite M10
Cylinder, ME2, Elite M10
Cylinder Assembly, ME3, Elite M10

Hit Indicator Assembly

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$2,425.65
$2,556.40
$2,711.00

$3,310.25
$3,310.25
$3,310.25
$3,310.25

$2,071.30
$4,641.95

$1,668.20
$1,686.05
$3,328.10

$232.75

Page 44 of 65





QUADGUARD ELITE M10 NARROW SYSTEM (24", 30", 36")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD ELITE M10 NARROW SYSTEM - DIAPHRAGMS

619133B
619134B
619135B

00619133B
00619134B
00619135B

Diaphragm Assembly, QG Elite M10, 24"
Diaphragm Assembly, QG Elite M10, 30"
Diaphragm Assembly, QG Elite M10, 36"

QUADGUARD ELITE M10 NARROW SYSTEM - PANELS

3540585-0000
354018L-0000
354018R-0000
354029L-0000
354029R-0000
3540150-0000
3540200-0000
354021N-0000
354021M-0000
354021W-0000
354022N-0000
354022M-0000
354022W-0000
3540458-0000

003540585-00
00354018L-00
00354018R-00
00354029L-00
00354029R-00
003540150-00
003540200-00
00354021N-00
00354021M-00
00354021W-00
00354022N-00
00354022M-00
00354022W-00
003540458-00

Fender Panel Assembly, QE

Trans.
Trans.
Trans.

Trans.

Panel Assembly., 4" Offset, Left
Panel Assembly., 4" Offset, Right
Panel Assembly., 9" Offset, Left
Panel Assembly., 9" Offset, Right

End Shoe, Quad Beam
Deflector Retrofit Assembly., F/Con. B-up, QG

Trans.
Trans.
Trans.
Trans.
Trans.
Trans.

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension

panel)

Panel, Quad to W-Beam, 24"
Panel, Quad to W-Beam, 30"
Panel, Quad to W-Beam, 36"
Panel, Quad to Thrie Beam, 24"
Panel, Quad to Thrie Beam, 30"
Panel, Quad to Thrie Beam, 36"

QUADGUARD ELITE M10 NARROW SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$1,250.85
$1,338.85
$1,385.25

$641.15
$904.95
$905.40
$1,233.70
$1,235.30
$653.75
$504.75
$1,292.15
$1,363.30
$1,355.40
$1,195.00
$1,245.90
$1,242.30
$1,032.15

$119.60
$119.60

Page 45 of 65





QUADGUARD ELITE M10 WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADGUARD ELITE M10 WIDE SYSTEM

QM7069EG
QM7069EY
QM7090EG
QM7090EY

QM10069EG
QM10069EY
QM10090EG
QM10090EY

00QM7069EG
00QM7069EY
00QM7090EG
00QM7090EY

00QM10069EG
00QM10069EY
00QM10090EG
00QM10090EY

QuadGuard, ELITE M10, 69" Wide, 4-Bay, TL-2 (Gray)
QuadGuard, ELITE M10, 69" Wide, 4-Bay, TL-2 (Yellow)
QuadGuard, ELITE M10, 90" Wide, 4-Bay, TL-2 (Gray)
QuadGuard, ELITE M10, 90" Wide, 4-Bay, TL-2 (Yellow)

QuadGuard, ELITE M10, 69" Wide, 8-Bay, TL-3 (Gray)
QuadGuard, ELITE M10, 69" Wide, 8-Bay, TL-3 (Yellow)
QuadGuard, ELITE M10, 90" Wide, 8-Bay, TL-3 (Gray)
QuadGuard, ELITE M10, 90" Wide, 8-Bay, TL-3 (Yellow)

$23,572.35
$23,572.35
$25,006.30
$25,006.30

$30,786.15
$30,786.15
$31,098.85
$31,098.85

Note: Backups & transitions are NOT included with units; must be ordered separately. Nose assembly is
included with units.

QUADGUARD ELITE M10 WIDE SYSTEM - BACKUPS

3540396-0000
3540397-0000

003540396-00
003540397-00

Backup Assembly, Tension Strut, 69" wide, ELITE
Backup Assembly, Tension Strut, 90" wide, ELITE

QUADGUARD ELITE M10 WIDE SYSTEM - NOSE ASSEMBLY

618868B
618869B
618871B
620028B
618870B
618872B

00618868B
00618869B
00618871B
00620028B
00618870B
00618872B

Elite M10 Belt Nose Assembly., 69" & 90", 4 Bay, Gray
Elite M10 Belt Nose Assembly., 69" & 90", 4 Bay, Yellow
Elite M10 Belt Nose Assembly., 90", 8 Bay, Gray

Elite M10 Belt Nose Assembly., 69", 8 Bay, Gray

Elite M10 Belt Nose Assembly., 69", 8 Bay, Yellow

Elite M10 Belt Nose Assembly., 90", 8 Bay, Yellow

QUADGUARD ELITE M10 WIDE SYSTEM - MONORAILS

3540060-0400
3540060-0800

003540060-04
003540060-08

Monorail Assembly, 4-Bay, TL-2, QG M10
Monorail Assembly, 8-Bay, TL-3, QG M10

QUADGUARD ELITE M10 WIDE SYSTEM - CYLINDERS

620060B
620061B

3540463-0000

620060B
620061B

003540463-00

Bay Assembly, QGE M10, TL-2, 4-Bay, Wide
Bay Assembly, QGE M10, TL-3, 8-Bay, Wide

Hit Indicator Assembly

QUADGUARD ELITE M10 WIDE SYSTEM - DIAPHRAGMS

619118B

619118B

Diaphragm Assembly, QG Elite M10, 0833MM

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$3,077.85
$3,127.05

$3,617.05
$3,617.05
$3,617.05
$3,617.05
$3,617.05
$3,617.05

$2,071.30
$4,641.95

$8,274.40
$19,612.90

$232.75

$1,520.80

Page 46 of 65





QUADGUARD ELITE M10 WIDE SYSTEM (69", 90")
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

619119B
619120B
619121B
619122B
619123B
619124B
619125B
619126B
619127B
619128B
619129B
619130B
619131B
619132B

619119B
619120B
619121B
619122B
619123B
619124B
619125B
619126B
619127B
619128B
619129B
619130B
619131B
619132B

Diaphragm Assembly, QG Elite M10, 0993MM
Diaphragm Assembly, QG Elite M10, 1073MM
Diaphragm Assembly, QG Elite M10, 1153MM
Diaphragm Assembly, QG Elite M10, 1233MM
Diaphragm Assembly, QG Elite M10, 1273MM
Diaphragm Assembly, QG Elite M10, 1313MM
Diaphragm Assembly, QG Elite M10, 1393MM
Diaphragm Assembly, QG Elite M10, 1473MM
Diaphragm Assembly, QG Elite M10, 1513MM
Diaphragm Assembly, QG Elite M10, 1553MM
Diaphragm Assembly, QG Elite M10, 1633MM
Diaphragm Assembly, QG Elite M10, 1793MM
Diaphragm Assembly, QG Elite M10, 1873MM
Diaphragm Assembly, QG Elite M10, 1953MM

QUADGUARD ELITE M10 WIDE SYSTEM - PANELS

3540472-0000
354042L-0000
354042R-0000
3540150-0000
3540200-0000
3540211-0000
3540212-0000
3540221-0000
3540222-0000
2760435-0000
354029L-0000
354029R-0000
3540458-0000

003540472-00
00354042L-00
00354042R-00
003540150-00
003540200-00
003540211-00
003540212-00
003540221-00
003540222-00
610172G

00354029L-00
00354029R-00
003540458-00

Fender Panel Assembly, Quad Beam 69"/90"

Trans. Panel Assembly., 4" Offset, left, F/ 69/90"
Trans. Panel Assembly., 4" Offset, right, F/ 69/90"
End Shoe, Quad Beam

Deflector Retrofit Assembly., F/Con. B-up, QG

Trans. Panel, Quad-W/Beam,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-W/Beam,F/ Conc. B/U,69/90
Trans. Panel, Quad-Thrie,F/Tens. Strut B/U,69/90
Trans. Panel, Quad-Thrie, F/Conc. B/U,69/90

Hinge Plate, Fender Panel, QG,G (Replaces 2760573-0000)
Trans. Panel Assembly., 9" Offset, Left

Trans. Panel Assembly., 9" Offset, Right

Transition Assembly, Side Panel, End Shoe (approx. 3' long extension
panel)

QUADGUARD ELITE M10 WIDE SYSTEM - ANCHORING

619315B
619316B

619315B
619316B

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)
Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,600.45
$1,686.05
$1,734.80
$1,752.65
$1,848.95
$1,864.40
$1,925.05
$1,944.05
$1,955.95
$2,096.25
$2,158.10
$2,206.85
$2,218.75
$2,237.75

$798.05
$930.30
$867.05
$653.75
$504.75
$1,236.35
$1,252.85
$1,144.40
$1,119.20
$74.50
$1,233.70
$1,235.30
$1,032.15

$119.60
$119.60

Page 47 of 65





QUADTREND 350
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

QUADTREND 350 SYSTEM

QT350ESY
QT350ESG
QT350TY
QT350TG
850206L-0000
850206R-0000

00QT350ESY
00QT350ESG
00QT350TY
00QT350TG
00850206L-00
00850206R-00

QuadTrend, w/ Endshoe, Yellow
QuadTrend, w/ Endshoe, Gray
QuadTrend, w/out Transition,Yellow
QuadTrend, w/out Transition,Gray
Transition Assembly, 4" Left

Transition Assembly, 4" Right

QUADTREND 350 SYSTEM - PARTS

619315B

2760273-0000
2756011-0000
2756021-0000
2756111-0000
2708841-0000
2020941-0000
2020951-0000
2701381-0000
2760504-0000
2756291-0000
2756331-0000
2756341-0000
2756141-0000
2756081-0000
2756351-0000
2704031-0300
2701731-0000
2708291-0000
2704141-0000
2699341-0000
2704191-0000
2699081-0500
2701651-0000
2701621-0000
2704091-0000
2708081-0000

619315B

608116G
612475G
612476G
604986G
617045G
114319B
114318B
113552G
606330G
614707G
614711G
614737G
614736G
612224B
614550G
115964B
113439G
003300G
003354G
003400G
003340G
113654G
113546G
113550G
003710G
118027G

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)

Quadtrend Endshoe,Panel
Post #1
Post #2

Base, Slip (Post #1, #2, #3, #4, #5, #6)

Washer, Mushroom, Forged, QG,G
Container, Sand, 150 Ibs
Container, Sand, 100 Ibs

Bolt, Hex, 3/4"x 2", Grade 2, G
Clamp, Belt, LMC

Backstrap 78" Front/Back Strap (NEW) 36" Spacing, (Straight)
Strap, Back, System to Barrier,88, QT-350

Strap, Pivot, QT-350

Strap, Pivot,Mushroom Bolt
Plate, Bolt Keeper

Spacer, Tube, QT-350

Nut, Hex, 3/8, S

Bolt, Flat, 5/8" x 3" Grade 8, Allen Socket,G

Washer,Flat, 5/8x1 3/4,G

Nut, Hex, 5/8", G

Bolt, Rail, 5/8", G

Nut, Hex, 5/8", G Rail

Bolt, HX, 5/8 x 1 1/2, G5, G

Bolt, Hex, 3/4" x 1-1/2" Grade 2, G
Bolt, Hex, 3/4" x 2-1/2", Grade 2, G
Nut, Hex, 3/4", G

Washer, Flat, 3/4 x 2,HVY, G

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$6,703.25
$6,745.15
$5,871.45
$5,482.20
$1,072.00
$1,070.35

$119.60

$802.95
$296.15
$226.75
$210.90
$38.80
$130.70
$126.50
$7.05
$52.30
$119.90
$107.55
$28.30
$24.50
$25.95
$216.60
$4.10
$19.15
$2.35
$1.10
$3.90
$2.65
$2.95
$4.85
$4.85
$2.35
$2.65

Page 48 of 65





QUADTREND 350

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

2701021-0300
2708321-0300
2742181-0000
2753251-0000
8502070-0000
8508021-0000

113586B
118034B
113975B
603658G
008502070-00
008508021-00

Bolt, HX, 3/8 x 1 1/2, G2, S

Washer, Flat, 3/8" x 1-1/2", S

Cable, Redirecting, 300" (25ft) (included)
Anchor, Cable, Stud End, G, Front

Transition Assembly, Quad-Beam to Thrie Beam
Nose Assembly, QT350, Gray

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$2.95
$10.95
$720.80
$521.30
$1,393.05
$407.85

Page 49 of 65





KDOT Bid EVT0004716 - EAS QUOTE #1116-19

QUEST

Model/Part # Romacs #

Product/Description

QUEST TL-2/70K

TD7024
TD7030
TD7036

QUEST TL-2/70K - PARTS

613491B
613493B
613495B

2762026-0000
2762071-0000
2762062-0000
2762025-0000
2762024-0000
3562016-0000
3562026-0000
3562022-0000
3562014-0000
3562027-0000
3562023-0000
2762048-0000
2762049-0000
276201L-0000
276201R-0000
2762020-0000
2762067-0000
2762063-0000

611678G
611650G
611651G
611641G
611642G
003562016-00
003562026-00
003562022-00
616212B
616208B
616209B
611796G
611792G
614027G
614033G
604647G
604648G
604650G

Quest, TL-2, 24" wide (44 mph) (Replaces TD35024-TL2)
Quest, TL-2, 30" wide (44 mph) (Replaces TD35030-TL2)
Quest, TL-2, 36" wide (44 mph) (Replaces TD35036-TL2)

Nose, 24", Quest, G

Nose, 30", Quest, G, PT

Nose, 36", Quest, G, PT

Nose, Transition, L, Quest, G
Nose, Transition, R, Quest, G
Diaphragm Assembly, Quest
Diaphragm Assembly, 30", Quest
Diaphragm Assembly, 36", Quest
Trigger Assembly, Quest

Trigger Assembly, 30", Quest
Trigger Assembly, 36", Quest
Panel, Bays, Quest, G

Panel, Bay 1, Quest

Shaper Rail, Left, Quest 80, G
Shaper Rail, Right, Quest 80, G
Backup, 24", Quest, G

Backup, 30", Quest, G

Backup, 36", Quest, G

QUEST TL-2/70K - TRANSITIONS

356207L-0000
356207R-0000
356208L-0000
356208R-0000
356209L-0000
356209R-0000
3562010-0000
3562011-0000
3562012-0000

00356207L-00
00356207R-00
00356208L-00
00356208R-00
00356209L-00
00356209R-00
003562010-00
003562011-00
003562012-00

Transition Assembly, 7" Offset, L, Quest
Transition Assembly, 7" Offset, R, Quest
Transition Assembly, 8" Offset, L, Quest
Transition Assembly, 8" Offset, R, Quest
Transition Assembly, 9" Offset, L, Quest
Transition Assembly, 9" Offset, R, Quest
Transition Assembly, Thrie-W, Quest
Transition Assembly, Thrie, Quest

Transition Assembly, Thrie-End Shoe, Quest

QUEST TL-2/70K - ANCHORING

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$10,432.90
$10,616.80
$11,191.10

$353.20
$353.20
$353.20
$150.55
$150.55
$398.65
$483.25
$446.20
$674.15
$732.60
$824.95
$526.80
$281.25
$2,105.80
$2,105.80
$2,362.20
$2,431.55
$2,433.20

$1,866.50
$1,806.50
$1,897.70
$1,897.70
$1,980.70
$1,980.70
$878.60
$704.65
$591.85

Page 50 of 65





QUEST

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3562008-0000
3562009-0000

003562008-00
003562009-00

QUEST TL-3/100K

TD35024
TD10024
TD10030
TD10036

QUEST TL-3/100K - PARTS

613490B
613500B
613497B
613498B

2762026-0000
2762071-0000
2762062-0000
2762025-0000
2762024-0000
3562005-0000
3562026-0000
3562022-0000
3562001-0000
3562027-0000
3562023-0000
2762033-0000
2762048-0000
2762049-0000
2762013-0000
2762014-0000
276200L-0000
276200R-0000
276202L-0000
276202R-0000
3562003-0000
2762067-0000
2762063-0000

611678G
611650G
611651G
611641G
611642G
606804B
003562026-00
003562022-00
003562001-00
616208B
616209B
611791G
611796G
611792G
611794G
611795G
614028G
614034G
614029G
614035G
604486B
604648G
604650G

Asphalt Anchor Assembly, Quest (18" rods)

Concrete Anchor Assemlby, Quest (7" rods)

Quest, TL-3, Classic, 24" wide (62 mph)

Quest, TL-3, 24" wide (62 mph) (Replaces TD35024-TL3)
Quest, TL-3, 30" wide (62 mph) (Replaces TD35030-TL3)
Quest, TL-3, 36" wide (62 mph) (Replaces TD35036-TL3)

Nose, 24", Quest, G

Nose, 30", Quest, G, PT

Nose, 36", Quest, G, PT

Nose, Transition, L, Quest, G
Nose, Transition, R, Quest, G
Diaphragm Assembly, 24", Bay 3, Quest
Diaphragm Assembly, 30", Quest
Diaphragm Assembly, 36", Quest
Trigger Assembly, Quest

Trigger Assembly, 30", Quest
Trigger Assembly, 36", Quest
Panel, Bay 1, Quest, G

Panel, Bays, Quest, G

Panel, Bay 1, Quest

Panel, Bay 2, Quest, G

Panel, Bay 3, Quest, G

Shaper Rail, Left, Quest, G
Shaper Rail, Right, Quest, G
Shaper Rail, L, Quest CEN
Shaper Rail, R, Quest CEN
Backup Assembly, 24, Quest
Backup, 30", Quest, G

Backup, 36", Quest, G

QUEST TL-3/100K - TRANSITIONS

356207L-0000
356207R-0000

00356207L-00

00356207R-00

Transition Assembly, 7" Offset, L, Quest
Transition Assembly, 7" Offset, R, Quest

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$638.55
$367.80

$14,923.45
$14,923.45
$17,215.85
$17,787.80

$353.20
$353.20
$353.20
$150.55
$150.55
$494.60
$483.25
$446.20
$656.60
$732.60
$824.95
$281.25
$526.80
$281.25
$1,399.50
$562.10
$2,105.80
$2,105.80
$2,105.80
$2,105.80
$2,699.65
$2,431.55
$2,433.20

$1,866.50
$1,806.50

Page 51 of 65





QUEST

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

356208L-0000
356208R-0000
356209L-0000
356209R-0000
3562010-0000
3562011-0000
3562012-0000

00356208L-00
00356208R-00
00356209L-00
00356209R-00
003562010-00
003562011-00
003562012-00

Transition Assembly, 8" Offset, L, Quest
Transition Assembly, 8" Offset, R, Quest
Transition Assembly, 9" Offset, L, Quest
Transition Assembly, 9" Offset, R, Quest
Transition Assembly, Thrie-W, Quest
Transition Assembly, Thrie, Quest

Transition Assembly, Thrie-End Shoe, Quest

QUEST TL-3/100K - ANCHORIING

3562008-0000
3562009-0000

QUEST 115K

TD11524

TD11530

TD11536

003562008-00
003562009-00

613476B

613478B

613480B

QUEST 115K - PARTS

2762026-0000
2762071-0000
2762062-0000
2762025-0000
2762024-0000
3562016-0000
3562026-0000
3562014-0000
3562027-0000
3562023-0000
2762048-0000
2762049-0000
276206L-0000
276206R-0000
2762020-0000
2762067-0000
2762063-0000

611678G
611650G
611651G
611641G
611642G
003562016-00
003562026-00
616212B
616208B
616209B
611796G
611792G
614025G
614031G
604647G
604648G
604650G

Asphalt Anchor Assembly, Quest (18" rods)

Concrete Anchor Assemlby, Quest (7" rods)

Quest 115 System, 24" wide, 115km/h (72 mph) (Replaces TD35024-
115)

Quest 115 System, 30" wide, 115km/h (72 mph) (Replaces TD35030-
115)

Quest 115 System, 36" wide, 115km/h (72 mph) (Replaces TD35036-
115)

Nose, 24", Quest, G

Nose, 30", Quest, G, PT
Nose, 36", Quest, G, PT
Nose, Transition, L, Quest, G
Nose, Transition, R, Quest, G
Diaphragm Assembly, Quest
Diaphragm Assembly, 30", Quest
Trigger Assembly, Quest
Trigger Assembly, 30", Quest
Trigger Assembly, 36", Quest
Panel, Bays, Quest, G

Panel, Bay 1, Quest

Shaper Rail, L, Quest 115
Shaper Rail, R, Quest 115
Backup, 24", Quest, G
Backup, 30", Quest, G
Backup, 36", Quest, G

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,897.70
$1,897.70
$1,980.70
$1,980.70
$878.60
$704.65
$591.85

$638.55
$367.80

$22,952.90
$23,526.00

$24,244.15

$353.20
$353.20
$353.20
$150.55
$150.55
$398.65
$483.25
$674.15
$732.60
$824.95
$526.80
$281.25
$2,105.80
$2,105.80
$2,362.20
$2,431.55
$2,433.20

Page 52 of 65





KDOT Bid EVT0004716 - EAS QUOTE #1116-19

QUEST

Model/Part # Romacs #

Product/Description

QUEST 115K - TRANSITIONS

356207L-0000
356207R-0000
356208L-0000
356208R-0000
356209L-0000
356209R-0000
3562010-0000
3562011-0000
3562012-0000

QUEST 115K - ANCHORING

00356207L-00
00356207R-00
00356208L-00
00356208R-00
00356209L-00
00356209R-00
003562010-00
003562011-00
003562012-00

3562008-0000
3562009-0000

003562008-00
003562009-00

Transition Assembly, 7" Offset, L, Quest
Transition Assembly, 7" Offset, R, Quest
Transition Assembly, 8" Offset, L, Quest
Transition Assembly, 8" Offset, R, Quest
Transition Assembly, 9" Offset, L, Quest
Transition Assembly, 9" Offset, R, Quest
Transition Assembly, Thrie-W, Quest
Transition Assembly, Thrie, Quest

Transition Assembly, Thrie-End Shoe, Quest

Asphalt Anchor Assembly, Quest (18" rods)
Concrete Anchor Assemlby, Quest (7" rods)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$1,866.50
$1,806.50
$1,897.70
$1,897.70
$1,980.70
$1,980.70
$878.60
$704.65
$591.85

$638.55
$367.80

Page 53 of 65





REACT 350 NARROW - 36"
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description

REACT 350 NARROW SYSTEM -4 CYLINDER

43-B-036 6135818 43 MPH (70km/h), TL-2, 4 Cyl., 36" (910mm),w/Steel B-up
43-C-036 6135828 43 MPH (70km/h), TL-2, 4 Cyl., 36" (910mm), w/Conc. B-up

3535126-0400 003535126-04 Debris Cover Il Assembly, REACT 350, 36", 4 Cylinder (per system) -
VERIFY AVAILABILITY

Type of anchors and type of nose MUST be indicated at time of order placement.
Cover assemblies are not included in the system price, must be ordered separately.

REACT 350 NARROW SYSTEM - 6 CYLINDER

55-B-036 6135928 55 MPH (90km/h), 6 Cyl., 36" (910mm), w/Steel B-up
55-C-036 6135938 55 MPH (90km/h), 6 Cyl., 36" (910mm), w/Conc. B-up

3535126-0600 003535126-06 Debris Cover Il Assembly, REACT 350, 36", 6 Cylinder (per system) -
VERIFY AVAILABILITY

Type of anchors and type of nose MUST be indicated at time of order placement.
Cover assemblies are not included in the system price, must be ordered separately.

REACT 350 NARROW SYSTEM - 9 CYLINDER

62-B-036 6136028 62 MPH (100km/h), TL-3, 9 Cyl., 36" (910mm), w/Steel B-up
62-C-036 613603B 62 MPH (100km/h), TL-3, 9 Cyl. 36" (910mm), w/Conc. B-up

3535126-0900 003535126-09 Debris Cover Il Assembly, REACT 350, 36", 9 Cylinder (per system) -
VERIFY AVAILABILITY

Type of anchors and type of nose MUST be indicated at time of order placement.
Cover assemblies are not included in the system price, must be ordered separately.

REACT 350 NARROW SYSTEM - NOSES

3535003-3000 003535003-30 Reflective Nose Narrow - Gore

3535003-4000 003535003-40 Reflective Nose Narrow - Left or Right - Left and Right are also referred
to as "Universal Noses"

REACT 350 NARROW SYSTEM - ANCHORING

619315B 619315B Anchor Kit, Hilti, 3/4" x 6-1/2" (6)

620717B 620717B Anchor, Adhesive Kit, 3/4" x 7 1/2", Vertical - This option is the same as
used in the Installation of Permanent QuadGuards on Concrete Pads.
There are (7) seven of these required for the Side Mounted Units, and
(10) ten for the Self-Contained Units

3525310-0000 003525310-00 Asphalt Anchor Kit, for React 350 Units - This option includes the 18"
threaded rods and Adhesive Kits

REACT 350 NARROW SYSTEM - PARTS

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$28,902.75
$28,273.75
$1,479.35

$34,054.75
$33,425.80
$2,219.15

$38,200.90
$37,697.95
$3,328.70

$326.75
$326.75

$119.60

$118.85

$2,189.05

Page 54 of 65





REACT 350 NARROW - 36"

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3535055-0400

3535055-0600

3535055-0800

2698021-0100
2704232-0100
2752024-0000
2760051-0000
2760061-0000
2765003-0000
2765014-0000
2765019-0000
2765020-0000
3535005-0140
3535005-0160
3535005-0190
3535005-0210
3535032-0000
3535034-0000

3535044-0000
3535045-0000
3535079-0000

3535113-0000
4100
4204
4206
4209
4211
4304
4306
4309
4311
4314
4316
4319

003535055-04

003535055-06

003535055-08

113514G
115998G
606177B
611370G
611375G
612040G
616392G
614195G
116823G
003535005014
003535005016
003535005019
003535005021
612816B
003535034-00

003535044-00
003535045-00
003535079-00

003535113-00

113924G
113926G
113929G
113931G
113716G
113717G
113715G

117804G
117805G
117803G

Reflector Assembly, White/Amber, 4, REACT (can be flipped over for

desired color to face toward traffic)

Reflector Assembly, White/Amber, 6, REACT (can be flipped over for

desired color to face toward traffic)

Reflector Assembly, White/Amber, 8, REACT (can be flipped over for

desired color to face toward traffic)

Bolt,Hx,1/4x2 1/2,G5,P

Nut,Hx,Lock, 1/4,G8,P

1/2" Chain

Monorail, 1-Bay, QG, G

Monorail, 2-Bay, QG, G

Pin, Restraining, Cable, G

Galvanized Front Tube Spacer (Box Beam, 8" x 6" x 3/16")
Weldment, Cable Anchor, Concrete, REACT
Galvanized Stabilizer Bar

350.4 Cable System for Side Mount

350.6 Cable System for Side Mount

350.9 Cable System for Side Mount

350.11 Cable for Side Mount(2)

Pullout Bracket Assembly

Side Mount Anchor/Cable Anchor Cover Plate (Concrete Backup-
Transition)

Cable Strap Assembly, Self-Contained Backup (new)
Cable Strap Assembly, ConcreteBackup (new)

Debris Cover Assembly, 36", REACT 350 (per cylinder) - VERIFY
AVAILABILITY

Drivable Pile Anchor Assembly, REACT
Replacement Cylinders (Specify material thickness)
350.4 New Backup, Single Cable, 3/4"
350.6 New Backup, Single Cable, 3/4"
350.9 New Backup, Single Cable, 3/4"
350 HS 11 Cylinder, Bottom Cable
350.4 Bottom Cable

350.6 Bottom Cable

350.9 Bottom Cable, 1"x30'3" (Old Unit)
350.11 Cylinder-New Cable

350.4 Top Cable (Old Unit)

350.6 Top Cable (Old Unit)

350.9 Top Cable 1"x-31'3" (Old Unit)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$59.10
$89.40

$118.20

$1.70
$1.70
$98.10
$519.45
$1,032.15
$56.75
$44.25
$255.25
$256.50
$2,363.80
$2,890.55
$3,218.70
$4,047.45
$149.70
$918.20

$88.70
$200.35
$91.30

$3,202.50
$2,539.75
$791.90
$1,006.40
$1,258.00
$1,684.85
$654.65
$691.40
$1,131.45
$1,684.85
$666.90
$729.45
$1,143.75

Page 55 of 65





REACT 350 NARROW - 36"
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

4330 113065B 3/4" Wedge Ferrule for Side Mount(2) $238.85
4720 004720 Transition Plate $584.35
EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 56 of 65

** Pricing provided includes freight charges





REACT 350 Il NARROW - 36"

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

REACT 350 Il NARROW SYSTEM - 6 CYLINDER

626-B-036
626-C-036

618091B
618093B

62 MPH (100km/h), TL-3, 6 Cyl., 36" (910mm), w/Steel B-up
62 MPH (100km/h), TL-3, 6 Cyl., 36" (910mm), w/Concrete B-up

Type of anchors and type of nose MUST be indicated at time of order placement.

Cover assemblies are not included in the system price, must be ordered separately.
REACT 350 Il NARROW SYSTEM - NOSES

617967B
617968B

00617967B
00617968B

Reflective Nose Narrow - Yellow - Gore

Reflective Nose Narrow - Yellow - Left or Right - Left and Right are also
referred to as "Universal Noses"

REACT 350 Il NARROW SYSTEM - ANCHORING

620717B

3525310-0000

620717B

003525310-00

Anchor, Adhesive Kit, 3/4" x 7 1/2", Vertical - This option is the same as
used in the Installation of Permanent QuadGuards on Concrete Pads.
There are (7) seven of these required for the Side Mounted Units, and
(10) ten for the Self-Contained Units

Asphalt Anchor Kit, for React 350 Units - This option includes the 18"
threaded rods and Adhesive Kits

REACT 350 Il NARROW SYSTEM - PARTS

3535055-0600

4100-2

4100
4206
4306
4330
4720
2765014-0000
3535044-0000
2698021-0100
2704232-0100
2752024-0000
2760051-0000
2760061-0000
2765003-0000
2765019-0000
2765020-0000

003535055-06

113926G
113717G
113065B
004720
616392G
003535044-00
113514G
115998G
606177B
611370G
611375G
612040G
614195G
116823G

Reflector Assembly, White/Amber, 6, REACT (can be flipped over for
desired color to face toward traffic)

Replacement Cylinders #1, #5, & #6 (Specify material thickness)

Replacement Cylinders #2, #3, & #4 (Specify material thickness)
350.6 New Backup, Single Cable, 3/4"

350.6 Bottom Cable

3/4" Wedge Ferrule for Side Mount(2)

Transition Plate

Galvanized Front Tube Spacer (Box Beam, 8" x 6" x 3/16")
Cable Strap Assembly, Self-Contained Backup (new)
Bolt,Hx,1/4x2 1/2,G5,P

Nut,Hx,Lock, 1/4,G8,P

1/2" Chain

Monorail, 1-Bay, QG, G

Monorall, 2-Bay, QG, G

Pin, Restraining, Cable, G

Weldment, Cable Anchor, Concrete, REACT

Galvanized Stabilizer Bar

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$33,928.75
$33,928.75

$326.75
$326.75

$118.85

$2,189.05

$89.40

$3,268.65

$2,539.75
$1,006.40
$691.40
$238.85
$584.35
$44.25
$88.70
$1.70
$1.70
$98.10
$519.45
$1,032.15
$56.75
$255.25
$256.50

Page 57 of 65





REACT 350 Il NARROW - 36"
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price
3535032-0000 612816B Pullout Bracket Assembly $149.70
$918.20

3535034-0000 003535034-00 Side Mount Anchor/Cable Anchor Cover Plate (Concrete Backup-

Transition)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Page 58 of 65





REACT 350 WIDE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description Price

REACT 350 WIDE SYSTEM - 60" (1525MM)

43-B-060 0043B060 43 MPH (70km/h), TL-2, 15 Cylinders, 60" wide, with Self Contained $40,714.50
Backup

43-C-060 0043C060 43 MPH (70km/h), TL-2, 15 Cylinders, 60" wide, with Concrete Backup $40,336.35

55-B-060 0055B060 55 MPH (90km/h), 19 Cylinders, 60" wide, with Self Contained Backup $45,991.35

55-C-060 0055C060 55 MPH (90km/h), 19 Cylinders, 60" wide, with Concrete Backup $44,609.70

62-B-060 0062B060 62 MPH (100km/h), TL-3, 27 Cylinders, 60" wide, with Self Contained $51,269.40
Backup

62-C-060 0062C060 62 MPH (100km/h), TL-3, 27 Cylinders, 60" wide, with Concrete Backup $49,006.70

Cover Assemblies are not included in the system price, must be
ordered separately.

3535127-0000 003535127-00 Debris Cover Il Assembly, REACT 350, 60", 43 MPH, 15 Cylinder (per $4,366.00
system) - VERIFY AVAILABILITY

3535130-0000 003535130-00 Debris Cover Il Assembly, REACT 350, 60", 55 MPH, 19 Cylinder (per $5,530.20
system) - VERIFY AVAILABILITY

3535125-0000 003535125-00 Debris Cover Il Assembly, REACT 350, 60", 62 MPH, 27 Cylinder (per $8,180.50

system) - VERIFY AVAILABILITY

REACT 350 WIDE SYSTEM - 69" (1755MM)

43-B-069 0043B069 43 MPH (70km/h), TL-2, 15 Cylinders, 69" wide, with Self Contained $42,599.05
Backup

31-B-069 0031B069 31 MPH (50km/h), TL-1, 9 Cylinders, 69" wide, with Self Contained $30,535.25
Backup

31-C-069 0031C069 31 MPH (50km/h), TL-1, 9 Cylinders, 69" wide, with Concrete Backup $29,907.45

62-B-069 0062B069 62 MPH (100km/h), TL-3, 27 Cylinder, 69" wide, with Self-Contained $53,154.00
Backup

62-C-069 0062C069 62 MPH (100km/h), TL-3, 27 Cylinder, 69" wide, with Concrete Backup $51,018.55

Cover Assemblies are not included in the system price, must be
ordered separately.

3535128-0000 003535128-00 Debris Cover Il Assembly, REACT 350, 69", 9 Cylinder (per system) - $2,793.75
VERIFY AVAILABILITY

REACT 350 WIDE SYSTEM - 96" (2440MM)

43-B-096 0043B096 43 MPH (70km/h), TL-2, 15 Cylinders, 96" wide, with Self Contained $44,860.60
Backup

43-C-096 0043C096 43 MPH (70km/h), TL-2, 15 Cylinders, 96" wide, with Concrete Backup $44,483.65

62-B-096 0062B096 62 MPH (100km/h), TL-3, 29 Cylinders, 96" wide, with Self Contained $59,059.90
Backup

62-C-096 0062C096 62 MPH (100km/h), TL-3, 29 Cylinders, 96" wide, with Concrete Backup $56,798.35

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016 Page 59 of 65

** Pricing provided includes freight charges





REACT 350 WIDE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

3535124-0000

Cover Assemblies are not included in the system price, must be

ordered separately.

003535124-00

Debris Cover Il Assembly, REACT 350, 96"/120", 29 Cylinder (per

system) - VERIFY AVAILABILITY

REACT 350 WIDE SYSTEM - 120" (3050MM)

62-B-120

62-C-120

3535124-0000

0062B120

0062C120

Cover Assemblies are not included in the system price, must be

62 MPH (100km/h), TL-3, 29 Cylinders, 120" wide, with Self Contained

Backup

62 MPH (100km/h), TL-3, 29 Cylinders, 120" wide, with Concrete Backup

ordered separately.

003535124-00

Debris Cover Il Assembly, REACT 350, 96"/120", 29 Cylinder (per

system) - VERIFY AVAILABILITY

REACT 350 WIDE SYSTEM - BACKUP ASSEMBLIES

3535074-0000
3535064-0000

003535074-00
604478B

Steel Backup Assembly
Concrete Backup Assembly

REACT 350 WIDE SYSTEM - BAY ASSEMBLIES

3535052-0000
3535059-0000
3535060-0000
3535061-0000
3535062-0000
3535063-0000
3535072-0000
3535058-0000
2765011-0000
2699561-0000
2704091-0000
2708201-0000

003535052-00
003535059-00
003535060-00
606613B
606615B
606617B
606640B
003535058-00
613506G
113567G
003710G
118089G

Nose Assembly-Cylinder & Diaphragm- Section "A"

Cylinder & Diaphragm- Section "B"
Cylinder & Diaphragm- Section "C"
Cylinder & Diaphragm- Section "D"
Cylinder & Diaphragm- Section "E"
Cylinder & Diaphragm- Section "F"
Cylinder & Diaphragm- Section "G"
Diaphragm Assembly, 60" REACT
Rail Guide,REACT,G

Hex Bolt, 3/4" x 4",G5,G

Nut, Hex, 3/4", G

Washer, Lock, 3/4", G

REACT 350 WIDE SYSTEM - NOSES

3535071-4000
3535071-3000

003535071-40
003535071-30

REACT Wide Nose Cover - Universal
REACT Wide Nose Cover - Gore

REACT 350 WIDE SYSTEM - MONORAIL ASSEMBLIES

619316B

619316B

Anchor Kit, Hilti, 3/4" x 7" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$8,987.10

$66,724.30

$64,588.80

$8,987.10

$4,357.35
$1,307.95

$3,689.55
$3,859.60
$2,802.55
$3,921.40
$4,147.35
$4,613.45
$3,381.60
$1,545.75
$88.05
$10.20
$2.35
$2.35

$326.75
$326.75

$119.60

Page 60 of 65





REACT 350 WIDE
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

2760071-0000
2765056-0000
2760041-0000
2699571-0000
2704141-0000
2708231-0000
3535032-0000

2765053-0000
2700911-0000
2704175-0000
2765015-0000
2704341-0000
2708081-0000

611379G
611383G
608136G
113660G
003354G
118100G
612816B

Monorail, 3-Bay, QG, G
Monorail,Front Section React,G
Endcap, Monorail, QG, G

Bolt, Hex, 5/8" X 3-1/2", G5, G
Nut, Hex, 5/8", G

Washer, Lock, 5/8", G

Pullout Bracket Assembly

Consists of the following:

616407G
117541G
115906G
609236G
003704G
118027G

Tube,Backing,Pullout

Stud, 3/4" x 7-1/2", Grade 5
Nut,Eye,3/4",G

Flat Bar Steel, 1/2"x4"x4",w/ hole,G
Hex Nut,3/4",G,GR DH

Washer, Flat, 3/4 x 2,HVY, G

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$1,322.20
$892.45
$91.35
$4.25
$1.10
$0.75
$149.70

$56.70
$4.15
$52.90
$9.20
$3.90
$2.65

Page 61 of 65





TREND PARTS
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description

TREND - TRANSITION PANELS

275224T-0100 00275224T-01 Trans. Panel w/4" Offset, LEFT - Option "C"
275224T-0200 00275224T-02 Trans. Panel w/4" Offset, RIGHT - Option "C"
275243T-0000 00275243T-00 Trans. Assembly., TB-End Shoe - Option "A"

TREND - ANCHORS

2744131-0000 603654G Anchor, Cable, Redirecting, Embedded (2 required, 1 Front & 1 Rear)

TREND - CABLE

2742181-0000 113975B Cable, Redirecting, 300" (25ft) (included)

TREND - FENDER PANELS

2738111-0000 611923G Panel, Thrie Beam, Fender

TREND - OPTIONAL ACCESSORY

2752820-0000 002752820-00 Post, Steel, 6" w/Wide Flange Blockout for Thrie Beam Rail, with

hardware
TREND - NOSE
2020931-0000 114377B Cover, Nose, Thrie Beam End
TREND - POSTS
2756011-0000 612475G Post #1
2756021-0000 612476G Post #2
2756041-0000 605194G Blockout for Post #1 - #6

TREND - SAND CONTAINERS

2020951-0000 114318B Container, Sand, 100 Ibs
2020941-0000 114319B Container, Sand, 150 Ibs

TREND - SLIP BASES

2756111-0000 604986G Base, Slip (Post #1, #2, #3, #4, #5, #6)
2756081-0000 612224B Plate, Bolt Keeper

TREND - BACKSTRAPS

2756291-0000 614707G Backstrap 78" Front/Back Strap (NEW) 36" Spacing, (Straight)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$1,393.55
$1,393.55
$821.35

$377.50

$720.80

$1,152.30

$274.10

$201.10

$296.15
$226.75
$70.30

$126.50
$130.70

$210.90
$25.95

$119.90

Page 62 of 65





TREND PARTS
KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs # Product/Description

2756281-0000 614710G Backstrap 100" Back/Back Strap (NEW) 36" Spacing, (Bent)
2756131-0000 614708G Backstrap 79" Front/Back Strap 2 (OLD) 37-1/2" Spacing
2756132-0000 614709G Backstrap 87" Back/Back Strap 1

2756141-0000 614736G Strap, Pivot,Mushroom Bolt

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

Price

$164.10
$263.40
$299.20

$24.50

Page 63 of 65





TRITON BARRIER SYSTEM

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

TRITON BARRIER SYSTEM

3595020-0000
3595020-0100
3595351-0000

TRITON BARRIER SYSTEM

604926B
604922B
003595351-00

Triton Barrier Section Assembly TL-2 (6-1/2 ft. section) WHITE
Triton Barrier Section Assembly TL-2 (6-1/2 ft. section) ORANGE
Triton Pedestals(TL-3 KIT)

- CET

3595500-0000

3595400-0000

TRITON BARRIER SYSTEM

003595500-00

003595400-00

Triton Concrete End Treatment, PCMB (does not include required 6
sections of Triton)

Triton Concrete End Treatment, Quebec, PCMB (does not include
required 6 sections of Triton)

- PARTS

2795481-0000
2795081-0000
2795071-0000
2021402-0000
2795281-0000
3595220-0000
3595200-0000
2727231-0000
2727241-0000
2021352-0000
2795171-0000
3595361-0000

116268B
117926B
113992G
612462B
117784B
003595220-00
003595200-00
616241W
616242W
113122B
113100B
003595361-00

Pin, Connecting, Triton (included in Triton Section Assembly)
Valve,Gate,Quick Release (included in Triton Section Assembly)
Cable, Tension, Triton (included in Triton Section Assembly)
Plug/Cap, Plastic, 5", w/Hole (included in Triton Section Assembly)
Nylon Tie

Transition Assembly, Triton to Concrete Medium Barrier
Transition Assembly, Triton to W-Beam Guardrail

Triton Pin Removing Tool - Long (1/2" x 5" x 12")

Triton Pin Removing Tool - Short (1/2" x 5" x 6")

Adapter, S-Weld, 1 1/2 STD, BLK

Adapter, ABS, 1 1/2 NPT -1 1/2 Slip

End Treatment, Triton, TL-3

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$963.70
$1,022.80
$147.80

$3,331.65

$3,331.65

$89.40
$36.55
$74.20
$5.75
$2.00
$1,560.00
$1,747.90
$240.20
$272.35
$2.65
$3.40
$59.10

Page 64 of 65





VULCAN

KDOT Bid EVT0004716 - EAS QUOTE #1116-19

Model/Part # Romacs #

Product/Description

VULCAN BARRIER

118975B

118976B

3596008-0000

118975B

118976B

003596008-00

VULCAN GATE

VG-4000 00vG4000
VG-5000 00VG5000
VG-6000 00vG6000

VULCAN - OPTIONS

3596018-0000

604398B

VULCAN - PARTS

3596024-0000

003596024-00

2796007-0000 614552G
2796008-0000 612031G
2796029-0000 614651G
2796030-0000 616199G
2796034-0000 603617G
3596006-0000 610168G

VULCAN - ANCHORING

619315B

619315B

Vulcan Barrier, Temporary (section length is 4.1 meters or 13'-6")

Vulcan Barrier With Jacks and 6" Wheels, Temporary (section length is
4.1 meters or 13'-6")

Transition Assembly, Vulcan to PCMB

Vulcan Gate -- 4 Section Gate System (opening is 16.46 meters or 54')
Vulcan Gate -- 5 Section Gate System (opening is 20.57 meters or 67'-6")

Vulcan Gate -- 6 Section Gate System (opening is 24.7 meters or 81'-
1/2")

Attachment, Transfer, Bobcat, Vulcan

Vulcan Hinge Assembly (new style)

Spacer, Vulcan

Pin, Connecting, Vulcan

Stiffener, Removable, Vulcan-PCMB Trans
Transition, Weldment, G, Vulcan-PCMB
Anchor Strap, Vulcan

Hinge Pin, Vulcan

Anchor Kit, Hilti, 3/4" x 6-1/2" (6)

EAS KDOT Bid EVT0004716 PRICE BOOK - 2016
** Pricing provided includes freight charges

$4,334.00
$5,154.45

$7,107.25

$42,879.40
$47,887.85
$52,988.75

$21,293.85

$4,614.95

$137.00
$132.05
$100.75
$4,833.90
$78.95
$144.20

$119.60

Page 65 of 65






image7.emf
Rental.Rates.pdf


Rental.Rates.pdf
John Thomas, Inc.

RENTAL RATES

MODEL

ADDCO PTS-2000, Portable Traffic Signal
System

RENTAL RATES AND TERMS

$5000/Month, Unit of Measure - 1 Set, Rental price includes, delivery, technical
assistance, and removal from the project site.

Energy Absorption
Systems, Inc.

React 350.4, React 350.6, React 350.9 -
Project Duration up to 6 Months

$6000/Project, Unit of Meaure - Each, Rental price includes delivery to project site, initial
anchor kit and pickup upon project completion. Unloading, loading and installation
provided by renter. John Thomas, Inc. assumes the responsibility for all replacement
parts required due to impacts during the course of the rental.

Energy Absorption
Systems, Inc.

React 350.4, React 350.6, React 350.9 -
Project Duration up to 9 Months

$7500/Project, Unit of Meaure - Each, Rental price includes delivery to project site, initial
anchor kit and pickup upon project completion. Unloading, loading and installation
provided by renter. John Thomas, Inc. assumes the responsibility for all replacement
parts required due to impacts during the course of the rental.

$8500/Project, Unit of Meaure - Each, Rental price includes delivery to project site, initial
anchor kit and pickup upon project completion. Unloading, loading and installation

Energy Absorption React 350.4, React 350.6, React 350.9 - provided by renter. John Thomas, Inc. assumes the responsibility for all replacement
Systems, Inc. Project Duration up to 12 Months parts required due to impacts during the course of the rental.

$12/per LF per Month, Rental price includes delivery to project site and pickup upon

project completion. Unloading, installation, filling and loading of Triton Barrier to be
Energy Absorption done by renter. Renter is responsibility for all replacement parts required due to
Systems, Inc. Triton Barrier Rental - TL2 impacts during the course of the rental.

$15/per LF per Month, Rental price includes delivery to project site and pickup upon

project completion. Unloading, installation, filling and loading of Triton Barrier to be
Energy Absorption done by renter. Renter is responsibility for all replacement parts required due to
Systems, Inc. Triton Barrier Rental - TL3 impacts during the course of the rental.

$30/per LF per Month, Rental price includes delivery to project site and pickup upon

project completion. Unloading, installation, filling and loading of Vulcan Barrier to be
Energy Absorption done by renter. Renter is responsibility for all replacement parts required due to

Systems, Inc.

Vulcan Barrier Rental

impacts during the course of the rental.







image8.emf
ADDCO.PARTS.KDO T.pdf


ADDCO.PARTS.KDOT.pdf
Part Number
002-0116
Flagger Remote PTS
002-0214
GPT
001-8879
001-8558
001-8878
002-0131
001-8293
001-6862
009-0313
009-0101

009-1058

ADDCO PTS 2000 REPLACEMENT PARTS LIST

Description

GALAXY G16 PTS CONTROLLER

FLAGGER REMOTE CONTROLLER
MICROWAVE VEHICLE MOTION DETECTOR
GALAXY PROGRAMMING TABLET

LED 12" GREEN 12VDC

LED 12" YELLOW 12VDC

LED 12" RED 12VvDC

GALAXY RADIO

SOLAR PANEL ASSEMBLY

12" POLY TUNNEL VISOR HOOD - BLACK
BACKPLATE PTS UNIVERSAL HALF (Need 2)
JACK DROP LEG 8000LB TUBE MOUNT

ASSEMBLY, 3 SECTION UNIVERSAL LIGHT HEAD

Price
$6,000.00
$4,000.00
$1,200.00

$475.00
$210.00
$193.80
$161.75
$530.00
$625.00

$48.50

$79.50
$185.65

$962.50






image1.emf
trinity.pdf


